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����� �� ��� ��
���	�� ��
	����
 &�
���	 ����
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𝑧
�
� �
�� 𝑧 ∈ ℂ �� ���� ��� ����	���� ����	� 
� ��� 	
����
 �

� ����� �� 𝑧 = 𝑟𝑒𝑖𝜙 ����

𝑟 ≥ 0 ��� 𝜙 ∈ (−𝜋, 𝜋]� ����
√

𝑧 = 𝑟
1
2 𝑒𝑖

𝜙
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��	���� ����
��� 	
��
� �������
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� ��� �$���� �

��
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����
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� 𝐼 = (𝑎, 𝑏) ��� 𝑓 ∈ ℳ((𝑎, 𝑏);ℂ) ��� %������� �������� 
� 𝑓 " �� �� �
���� " �� �������

�� 
�� 
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��
���� �$�������� �
���∫
𝐼

𝑓𝑑𝜆 =

∫
𝐼

𝑓(𝑥)𝑑𝜆(𝑥) =

∫
𝐼

𝑓(𝑥)𝑑𝑥 =

∫ 𝑏

𝑎

𝑓(𝑥)𝑑𝑥 =

∫ 𝑏

𝑎

𝑓𝑑𝑥.
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�� �������� �� 𝜇 �� � &
��� ������� 
� 𝐼� �� �����∫
𝐼

𝑓𝑑𝜇 
�

∫
𝐼

𝑓(𝑥)𝑑𝜇(𝑥)

�
� ��� �������� 
� 𝑓 ���� �����	� �
 ��� ������� 𝜇 " ������ ���� ������� ���� ��� ��������
�
�����  
� 𝐽 = (𝑐, 𝑑) ⊆ (𝑎, 𝑏) = 𝐼 ��� 𝑓 ∈ ℳ((𝑎, 𝑏);ℂ) �� ����� " �� 	���
���� "∫ 𝑑

𝑐

𝑓(𝑥)𝑑𝑥 ������� 
�

∫ 𝑑

𝑐

𝑓
∣∣
(𝑐,𝑑)

(𝑥)𝑑𝑥,
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� 𝑝 ∈ [1,∞) ��� � &
��� ������� 
� 𝐼 = (𝑎, 𝑏) �� 𝐿𝑝(𝐼;𝜇) �� ���
�� ��� &���	�
���	� �
� �$�������	� 	������� 
� ���	��
�� 𝑓 ∈ ℳ((𝑎, 𝑏);ℂ) ��
�� ���
���� ����� ������
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 ��� 𝑝"�� �
��� ��� ����� ��������� ����∫

𝐼

∣𝑓 ∣𝑝𝑑𝜇 < ∞.
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�� ����� ∥⋅∥𝐿𝑝(𝐼;𝜇) ��� �	� 
��� �
 𝐿𝑝(𝐼;𝜇)� 
	� �

�� ������� �� �	� ������� �����

𝐿2(𝐼;𝜇) �� ��
���� �� (⋅, ⋅)𝐿2(𝐼;𝜇)� ������ �	��

∥𝑓∥𝐿𝑝(𝐼;𝜇) =

(∫
𝐼

∣𝑓 ∣𝑝𝑑𝜇

) 1
𝑝

�
� (𝑓, 𝑔)𝐿2(𝐼;𝜇) =

∫
𝐼

𝑓𝑔𝑑𝜇.

� ����	� ��
����
 𝑤 �
 𝐼 �� � ����� ���������� ��
����
 𝑤 : 𝐼 → ℝ ��������
� 𝑤(𝑥) > 0
��� ������ ��� 𝑥 ∈ 𝐼� �� �������
���� ������ �	�� 𝑤 �� �
�������� �
 ��� �������

����
������� [𝑐, 𝑑] ⊆ 𝐼 ����� 𝑤 ∈ 𝐿1
𝑙𝑜𝑐(𝐼)� ��� �������  � 𝜇 �� �	� ����� ������� 𝑤𝜆�

�	��� 𝑤𝜆 �� ����
 ��

𝑤𝜆(𝐵) =

∫
𝐵

𝑤𝑑𝜆,

�� ����� 𝐿𝑝(𝐼;𝑤) �
����� �� 𝐿𝑝(𝐼;𝑤𝜆) �
� �� 𝑤 ≡ 1� ���� 𝜇 = 𝜆� �� �
�� ����� 𝐿𝑝(𝐼)
��� 𝐿𝑝(𝑎, 𝑏)�

�� 𝐿𝑝
𝑙𝑜𝑐(𝐼;𝜇) �� ��
��� �	� ������ ����� �� ��
����
� 𝑓 ∈ ℳ((𝑎, 𝑏);ℂ) �	��	 �������

𝑓 ∣𝐽 ∈ 𝐿𝑝(𝐽 ;𝜇∣𝐽 ) ��� ��� ������� ���!�
������� 𝐽 ⊆ 𝐼" ����
� �� 𝜇 = 𝑤𝜆 �� 𝜇 = 𝜆 ��

����� 𝐿𝑝
𝑙𝑜𝑐(𝐼;𝑤) �
� 𝐿𝑝

𝑙𝑜𝑐(𝐼)� �������������

𝐿∞(𝑎, 𝑏) ��
���� �	� ��
��	 ����� ��� �#������
�� �������� �� ��
����
� 𝑓 ∈ ℳ((𝑎, 𝑏);ℂ)
�	��	 ��� ����
������ ���
��� ���	 ������� �� �	� $������� �������� ���� ���
��� ��

�� � ��� �� $������� ������� %����

$�� (𝑎, 𝑏) ⊆ ℝ �
� 𝑘 ∈ ℕ0 ∪ {∞}� �� 𝐶𝑘(𝑎, 𝑏) �𝐶𝑘((𝑎, 𝑏);ℂ)� �� ��
��� �	� ����� ��
����!������ �������&!������� ��
����
� �	��	 ��� 𝑘!����� ��
��
������ ��'���
������ �


(𝑎, 𝑏)�  
 ���������� 𝐶0(𝑎, 𝑏) �𝐶0((𝑎, 𝑏);ℂ)� ��
���� �	� ����� �� ��
��
���� ��
����
� �


(𝑎, 𝑏)� 𝐶∞(𝑎, 𝑏) �𝐶∞((𝑎, 𝑏);ℂ)� ��
���� �	� ����� �� �����	 ��
����
� �
 (𝑎, 𝑏)� 𝐶𝑘
0 (𝑎, 𝑏)

�𝐶𝑘
0 ((𝑎, 𝑏);ℂ)� ��
���� �	� ���������
 �� ��
����
� 𝑓 ∈ 𝐶𝑘(𝑎, 𝑏) �𝑓 ∈ 𝐶𝑘((𝑎, 𝑏);ℂ)� ���	

������� ������� �
 (𝑎, 𝑏)�
 � 𝑎, 𝑏 ��� (
���� ���� [𝑎, 𝑏] ⊆ ℝ �� � ������� �
������� �� 𝐶𝑘[𝑎, 𝑏] �𝐶𝑘([𝑎, 𝑏];ℂ)� �� ���


�	� ����� �� ��
����
� 𝑘!����� ��
��
������ ��'���
������ �
 [𝑎, 𝑏]� �	��� ��
��
����

�
� ��'���
��������� �� �
 �
����
� 	��� �� �� �
�������� �� �
�!����� ��
��
���� �
�

��'���
���������� �������������

$�� [𝑎, 𝑏] ⊆ ℝ �� � ������� �
������� 
	�
 𝐴𝐶[𝑎, 𝑏] �𝐿𝑖𝑝[𝑎, 𝑏]� ��
���� �	� ������ �����

�� ��� ������&!������ �
� ���������� ��
��
���� �$����	��% ��
��
����� ��
����
� �


[𝑎, 𝑏]� �������� �
 �	�� �	���� ���� ����
 �� �
���
��� �	� ������ ����� �� ������� ����!

������ ��
��
���� ��
����
� 𝐴𝐶𝑙𝑜𝑐(𝑎, 𝑏) ��� ���� �
������ (𝑎, 𝑏) ⊆ ℝ� ���� �	� ���������


�� ��
����
� 𝑓 �	��	 ������� 𝑓 ∣[𝑐,𝑑] ∈ 𝐴𝐶[𝑐, 𝑑] ��� ��� ������� ����
������� [𝑐, 𝑑] ⊆ (𝑎, 𝑏)�
 � 𝑓 ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎, 𝑏) �	�
� �� ������� 𝑓 ∈ 𝐶0((𝑎, 𝑏);ℂ)� )���	������� �� 	�� � �
�#��

���������� ������ ������	���� �	��	 �� ��
��� �� 𝑓 ′� �� 	��� 𝑓 ′ ∈ 𝐿1
𝑙𝑜𝑐(𝑎, 𝑏) �
�� ���

𝑐 ∈ (𝑎, 𝑏)�

𝑓(𝑥) = 𝑓(𝑐) +

∫ 𝑥

𝑐

𝑓(𝑡)𝑑𝑡, 𝑥 ∈ (𝑎, 𝑏).

��� ������ 	�
���
 ��
� �
 ��
��
�� �� 𝐹 �� 

� ��
�� �� ��
����
� ���
�� �
 

 ���
 �
����
�
𝐼 = (𝑎, 𝑏)� �� ����� 𝐹 (𝑎, 𝑏) �
���
� �� 𝐹 ((𝑎, 𝑏)) ������ �� 𝐹 (𝐼)��

��



�� ��� ��� 𝐿𝑝 �	
���� 
� 
�� ������ ������ �	
�� 𝑋 ��� ���� 
� ������� �� ∥⋅∥𝑋 �
�������� 
� 
 �����
� �
����� �	
�� 𝐻 ���
�� 
� ��� 
 𝐿2 �	
��� ��� 
���� 	������ 
�

������� �� ⟨⋅, ⋅⟩𝐻 �
��� 𝑇 �� 
 �
��
� �	��
���� �� 𝒟(𝑇 ) �� ������ ��� ���

� �� 𝑇 � �� ker 𝑇 
�� ������


�� �� ran𝑇 
�� �
���� �� 𝑇 
� 
 ������� �� ��� �	��
��� 
��
�� �� 
 �
����� �	
���

�� 𝑇 ∗ �� ������ 
�� 
�!�
��� "�� 
 ������ �	��
��� 𝑇 
��
�� �� 
 �
�
�� �	
�� 𝑋 ��

��
�� 𝜎(𝑇 ) �� ������ ��� �	������ �� 𝑇 �

�� 𝑆 
� 
 ��� �� ������� 
� 
 ������ �	
��� �� ��
�� span(𝑆) 
� ����� �� ������ ��� �
��
�

�	
� �� 𝑆� �� 𝑆 
�  �
��� 𝑆 = {𝑣1, . . . , 𝑣𝑛}� �� 
��� ��
�� span(𝑣1, . . . , 𝑣𝑛)�

��� 𝜇 �� 
 ��
���� �� (ℝ,𝔅(ℰ))� ����� ℰ ������� ��� #���
��
� ��	����� 
�� 𝔅(ℰ)
��� 
����

��� ����� 𝜎$
�����
 �� ℝ� �� 𝔘(𝑥) �� ������ ��� ��
���������  ���� ��

𝑥 ∈ ℝ ��%�
		�� �
�� ℰ�� &��� �� �� �� ��� ��		��� �� 𝜇 
� ��� ���

supp𝜇 = {𝑥 ∈ ℝ : ∀𝑈 ∈ 𝔘(𝑥) ∩𝔅(ℰ) ⇒ 𝜇(𝑈) > 0}.

'�� �
� ���� ��
� supp𝜇 
� 
��
�� 
 ������ ������ �� ℝ� �� 𝜇 
� 
 ����� ��
����� 
���

𝜇(𝐾) < ∞ ��� 
�� ���	
�� 𝐾 ⊆ ℝ� �� �
��� �
��� (ℝ, ℰ) 
� 
 ���
��� ���	
�� �
�����(
�	
�� �
�
���
�� ��� ������ 
)
�� �� �����
�
�
��� 𝜇(ℝ ∖ supp𝜇) = 0�

��� 𝑓 ∈ ℳ((𝑎, 𝑏);ℂ)� �� 𝔘(𝑥) �� ������ ��� ��
���������  ���� �� 𝑥 ∈ (𝑎, 𝑏) ��%�
		��
�
�� ��� 
������ ��	����� ���� (ℝ, ℰ))� *� �� �� ��� ��		��� �� 𝑓 
� ��� ���

supp 𝑓 = {𝑥 ∈ (𝑎, 𝑏) : ∀𝑈 ∈ 𝔘(𝑥) ∩𝔅(ℰ) ⇒ 𝜆({𝑥 ∈ 𝑈 : 𝑓(𝑥) ∕= 0}) > 0}.

'�� �
� ���� ��
� supp 𝑓 
� 
��
�� ������ 
� (𝑎, 𝑏)� +
��� (𝑎, 𝑏) 
� 
 ���
��� ���	
��
�
�����( �	
�� �
�
���
�� ��� ������ 
)
�� �� �����
�
�
��� �� �
�� 𝑓 = 0 
� (𝑎, 𝑏) ∖
supp 𝑓 
����� ����������� ,��
���� 
� 𝑓 = 𝑔 
���� ���� supp 𝑓 = supp 𝑔 
�� ����� ���

�� �
�
�� �
��� ����� ��� 𝑓 ∈ 𝐿2((𝑎, 𝑏);𝑤)� �� 𝑓 
� ����
����� �� (𝑎, 𝑏)� ��
� �� �
�
��
��
��
��� �
�� ��� ��
��
�
� ����

supp 𝑓 = {𝑥 ∈ (𝑎, 𝑏) : 𝑓(𝑥) ∕= 0},

����� ��� ������� 
� �
��� 
� (𝑎, 𝑏)� �� �����
�� supp 𝑓 
� ����
�� ���� ��
� (𝑎, 𝑏) ∩
supp𝜇𝑓 � ����� 𝑢𝑓 
� ��� ��
���� �
��� ��

𝜇𝑓 (𝐴) =

∫
𝐴∩(𝑎,𝑏)

∣𝑓 ∣𝑑𝜆, 𝐴 ∈ 𝔅(ℰ).

�







������� �

	��
���
�����

���� �����	
 �� �� ���
�
������ ���� ��	 ����� ������� ��
 ����	��� �� ���
����������	
��	�
� ��
 ����	��� ���	 
	����� �		
	
 ���	
 ��� �	 ������ ���	 ��	����� ��	�� � ��

��	��!� �� ��	 ���
�	� �� ��	 
	����� "��	� �� ��	 #
�� ���
 �	������$ ��%	�	
� ��������
��	�	 �	������ �
	 ���	
 �� �&�'� ��� %�	
	 ���� �� ��	 �
���� �����	
 �	
	 ��� �	
����
 ���� �	����� (�� �� ���	
 �� �)&����

��� ������	
���


� �
������
�
 �������
��� ��� �����
���

�	� (𝑎, 𝑏) ⊆ ℝ �	 ��� ��	� ���	
���� #���	 �
 ��#���	� ��
 (𝑝, 𝑞, 𝑟) �	 � ����	 �� ���������

	#�	
 �� (𝑎, 𝑏) ��
 ���������"⎧⎨⎩

(𝑖) 𝑝, 𝑞, 𝑟 : (𝑎, 𝑏) → ℝ

(𝑖𝑖) 𝑝−1, 𝑞, 𝑟 ∈ 𝐿1
𝑙𝑜𝑐(𝑎, 𝑏)

(𝑖𝑖𝑖) 𝑟(𝑥) > 0 ��
 ������ ��� 𝑥 ∈ (𝑎, 𝑏).

*(�(�(+

�	 ��	� ���� (𝑝, 𝑞, 𝑟) � ����	 �� ���
����������	 ��	,��	��� *�� ��	,��	���+�

�	 
	#�	 ��	 ��������	
 ���
����������	 
�-	
	����� 	.�
	����� *�� 
�-	
	����� 	.�
	��
����+ 𝜏 = 𝜏(𝑝, 𝑞, 𝑟) ��

𝒟(𝜏) = {𝑢 ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎, 𝑏) : 𝑝𝑢′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎, 𝑏)},
𝜏𝑢 =

1

𝑟

[− (𝑝𝑢′)′ + 𝑞𝑢
]
, 𝑢 ∈ 𝒟(𝜏).

/��	 ���� 𝒟(𝜏) �� ��	 ��.���� �������� ����	 ���� ���� ���� 
�-	
	����� 	.�
	����� ��
%	���
	#�	
 �� 𝒟(𝜏)� 0�
��	
��
	� ���	 ���� 𝑟𝜏𝑢 ∈ 𝐿1

𝑙𝑜𝑐(𝑎, 𝑏) ��
 ��� 𝑢 ∈ 𝒟(𝜏)�

�	 %��� �����
	
 	1������� �� ��	 '��


(𝜏 − 𝜆)𝑢 = 𝜏𝑢 − 𝜆𝑢 = 𝑓, *(�(�2+

%�	
	 𝑓 �� � �����	.�����	
 �������� �� (𝑎, 𝑏) ��
 𝜆 ∈ ℂ� )� � �������� �� *(�(�2+
%	 �	�� � �������� 𝑢 ∈ 𝒟(𝜏) ���#����" *(�(�2+ ��	� �� (𝑎, 𝑏)� ����	 𝑟 > 0 ��	�� ���� ��
	1�����	�� ��

−(𝑝𝑢′)′(𝑥) + (𝑞(𝑥) − 𝜆𝑟(𝑥)) 𝑢(𝑥) = 𝑟(𝑥)𝑓(𝑥) ��
 ������ ��� 𝑥 ∈ (𝑎, 𝑏).

(



������� �	 
����
�������

�� ������	
��� �
� 𝑓 ≡ 0 �� 
����� ��� ��	���
�

(𝜏 − 𝜆)𝑢 = 0 
� 𝜏𝑢 = 𝜆𝑢,

����� �� ��	���
��� �


−(𝑝𝑢′)′ + 𝑞𝑢 = 𝜆𝑟𝑢 
� (𝑎, 𝑏). �������

�� ��

 ��	���
� ������� ��� ���
������� ��	�����
	��

� ��	���
� ��� ��	���
�� ����
�������
 ��������� 𝜆 ∈ ℂ�

��� 	� �� �
�� �
��� 
� ��� �
�����
�� �������� !�� ���
�� �
�����
� "	�������� �����
�
� ���� 𝜆 ∈ ℂ� ��� ��	���
� ������� �
"����� ���� �
�� ������
 �
�����
�� ��� � 	���	�
�

	��
� � ��� !��
��� ����� ��� #
�


�� ����$� ����������
 � �� ����� ���� �
�����
�
�� �������� �
� !��
��� ����� 
� #
�


�� ����$ �
 �

� ���� %&��'()� !��
��� $�$�$��
!�� ����� �
�����
� �� ��	���
 ����� �� �


�� ���
 ��" *�
���� ����� ���
� �� ��� *�
����
����� 𝐿2((𝑎, 𝑏); 𝑟) �
 ��	� ��	�����
	��

� ��
�
���� ���� ��� �	����
� 
� +����" ���
��
	�� 
� 𝜆 �
� ����� ����� �,���� � �
��������
 �

	��
� 
� ������� ������ ��" �������
�
	���� �
�����
��� -
�� �	� �
 ��� +��� �
�����
�� ��� 
����� 
�����
�� ��������"
����� ��� ��
����.
��� ���� ��

���
*����� �
�����
�� ������� ��� 	�	�

 �
�������� �� ��� �������� ������
 �
�����
�� 
�
(𝑝, 𝑞, 𝑟)� 
�����" �
 �������� ��	�����
	��

� !��
� 
� �
 ��

�� ��"�����+���� ��
�
����
�� ���� ������ �� �
 �
� �
������ ��� /�
����������0 ���� ����� 𝑟 �� �


��� �
 ����"�
��"�� 
�����" �
 �
 ��

�� 
������+���� ��
�
��� ���� %&��'()� #������ ( ��� #������ �$�
�
� �� ����
�	���
�� ��� �
�� � ���	�� � �	�
� 
� �� �
�1������ �
 ������ �������� ��
#������ � ��� #������ 2 �� ��

 ��"���� ����� �
�����
���

3���
	�
 � 𝜏 �� � 
����� ��4�������
 �,������
�� ����� ��� �
�1������ ��� ���
���
	��� ��
�� � ���
 ��4�������
 �,������
�� � ����� �� ���� ����

𝑢 ∈ 𝒟(𝜏) ⇒ 𝑢 ∈ 𝒟(𝜏) ��� ���� 𝜏𝑢 = 𝜏𝑢.

�� "�����
� ��� +��� ���������� 𝑢′ 
� � �	����
� 𝑢 ∈ 𝒟(𝜏) 
�
 �����+�� 𝑢′ ∈ 𝐿1
𝑙𝑜𝑐(𝑎, 𝑏)�

������� 𝑝𝑢′ �����+�� 𝑝𝑢′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎, 𝑏) � �� ����� �
 𝑝𝑢′ �� ��� +��� �	�������������� 
�
𝑢� -
�� ���� ������
�� ��	���
� ������� ����
� �� ������� ��

−𝑝𝑢′′ − 𝑝′𝑢′ + 𝑞𝑢 = 𝜆𝑟𝑢.

-�������
���� �� ���� �
 ����5 
� ������� �� � ���
���
���� 
����� 
������ ��4�������

��	���
��

#
�������" �,������� ��� 	���	����� 
� �

	��
�� 
� �����$� ��� ������� �� ���� ���
�



���" ���	
���

������� ����� �%&��'()� !��
��� $�$�� �
"����� ���� !��
��� $�(�$� %!��'6)� !��
�
��� 6��� %���'�)� #
�


�� ������ ��� 𝑓 : (𝑎, 𝑏) → ℂ ���� ���� 𝑟𝑓 ∈ 𝐿1

𝑙𝑜𝑐(𝑎, 𝑏)	 
���

�
� ��������� 𝜆 ∈ ℂ� 𝑐 ∈ (𝑎, 𝑏) ��� 𝑑1, 𝑑2 ∈ ℂ ��� ������� ����� ��
����

(𝜏 − 𝜆)𝑢 = 𝑓 �
������ ���� 𝑢(𝑐) = 𝑑1, (𝑝𝑢
′)(𝑐) = 𝑑2

�
���������� 	��
 (𝑝, 𝑞, 𝑟)

$



���� ������	
���


� �
������
�
 �������
��� ��� �����
���

��� � ������ �	
���	� 𝑢(⋅, 𝜆)� 
	� ���� 𝑥 ∈ (𝑎, 𝑏) �� ���� ���� 𝜆 �→ 𝑢(𝑥, 𝜆) ���
𝜆 �→ (𝑝𝑢′)(𝑥, 𝜆) ��� ������ ������	��� ���� 𝑢(𝑥, ⋅), (𝑝𝑢′)(𝑥, ⋅) ∈ ℋ(ℂ)� �	��	���� �� 𝑓 ��
���
���
��� ��� 𝑑1, 𝑑2 ∈ ℝ� ���� 𝑢(𝑥, 𝜆) ∈ ℝ �	� �

 𝑥 ∈ (𝑎, 𝑏) ��� 𝜆 ∈ ℝ�

���� ���� �� 	���
�� �
�
� ��� ���������� 𝑟𝑓 ∈ 𝐿1
𝑙𝑜𝑐(𝑎, 𝑏) �� �������
� ����� �� ����

𝑟(𝜏 − 𝜆)𝑢 ∈ 𝐿1
𝑙𝑜𝑐(𝑎, 𝑏) ��
 ��� 𝑢 ∈ 𝒟(𝜏)


��������� ����	� 
	� ��������� 𝜆 ∈ ℂ� 𝑐 ∈ (𝑎, 𝑏) ��� 𝑑1, 𝑑2 ∈ ℂ ����� �� � ������
�	
���	� 𝑢(⋅, 𝜆) 	� ��� ������
 ��
�� ��	�
��

−(𝑝𝑢′)′ + 𝑞𝑢 = 𝜆𝑟𝑢 �	������ ���� 𝑢(𝑐) = 𝑑1, (𝑝𝑢
′)(𝑐) = 𝑑2.


	� ���� 𝑥 ∈ (𝑎, 𝑏) �� ���� 𝑢(𝑥, ⋅), (𝑝𝑢′)(𝑥, ⋅) ∈ ℋ(ℂ)� �� 𝑑1, 𝑑2 ∈ ℝ� ���� 𝑢(𝑥, 𝜆) ∈ ℝ

�	� �

 𝑥 ∈ (𝑎, 𝑏) ��� 𝜆 ∈ ℝ�

��������� ����
� 
	� ���� 𝜆 ∈ ℂ ��� �	
���	� ����� 	� (𝜏 − 𝜆)𝑢 = 0 �� ��	�
�������	��
�

������� ���� �� �������� �� ��
�
�� �� ���� 𝑝−1∣(𝑎,𝑐), 𝑞∣(𝑎,𝑐), 𝑟∣(𝑎,𝑐) ∈ 𝐿1(𝑎, 𝑐) ��
 ����
���� ����� ��
 ���� 𝑐 ∈ (𝑎, 𝑏)
 	��� �� ��� ���� 𝜏 �� 
�����
 �� 𝑎 �
 ���� 𝑎 �� � 
�����

�������� ���
 𝜏�
 ����
����� �� ��� ���� 𝜏 �� �������
 �� 𝑎 �
 ���� 𝑎 �� � �������

�������� ���
 𝜏�
 ����������� �� ����� 
�����
 �������
 ��
 ��� �������� 𝑏 ��� ���
���� 𝜏 �� 
�����
 �� �� �� 
�����
 �� 𝑎 ��� 
�����
 �� 𝑏
 	�� �! ��"�
������ �#�
������ 𝜏
�� ���� �� $� �������
 �������
 �� �� ��� 
�����



��
��� ������ �	�� ���� ���� �
���������	� 	� �� ����	��� �� � ����
�� 	� �����
��
����	��� �	�� �	� ������ 	� ������� �� �� � ����� 	� ������� ����	��� � ��
��� �� ����
	� ��� 
���������  ��� !"��#$%� &����� '�(�)*�

��������� ��� ����
 �
�� %����&��
�������� ��� $� ������������ �#������ �� � 
�����

��������


����������� ����� �'(��)*+� 	���
�� ,
-
��� +�� 𝑎 �� � ����
�� ����	��� ��� 𝑓 :
(𝑎, 𝑏) → ℂ ���� ���� (𝑟𝑓)∣(𝑎,𝑐) ∈ 𝐿1(𝑎, 𝑐) �	� �	�� 𝑐 ∈ (𝑎, 𝑏)� ,��� �	� ��� �	
���	�
𝑢(⋅, 𝜆) 	� ��
�
,� ��� 
�����

𝑢(𝑎, 𝜆) := lim
𝑥→𝑎+

𝑢(𝑥, 𝜆) ��� (𝑝𝑢′)(𝑎, 𝜆) := lim
𝑥→𝑎+

(𝑝𝑢′)(𝑥, 𝜆) ��
�
.�

�	�� �-��� ��� ��� ������ .	�����	����� �������	�� �	
� �	� ��� ����	��� 𝑏�

��������� �� �� %���� ������ �� �������
 𝜏 ���� �� � ��$����
��� �� (𝑎, 𝑏)
 /�
 𝛼, 𝛽 ∈ [𝑎, 𝑏]�
𝛼 < 𝛽� $� 𝜏 ∣(𝛼,𝛽) �� ���� ��� �! ��"�
������ �#�
������ ����� �� ���������� ����
(𝑝∣(𝛼,𝛽), 𝑞∣(𝛼,𝛽), 𝑟∣(𝛼,𝛽))
 0� 𝛼, 𝛽 ∈ (𝑎, 𝑏)� ����� �� ���
��� 𝜏 ∣(𝛼,𝑏) �� 
�����
 �� 𝛼� 𝜏 ∣(𝑎,𝛽) ��

�����
 �� 𝛽 ��� 𝜏 ∣(𝛼,𝛽) �� 
�����



-



������� �	 
����
�������

��� 𝑢, 𝑣 ∈ 𝒟(𝜏) �� ����� 	
� ����
���� ������
�� 𝑊 (𝑢, 𝑣) : (𝑎, 𝑏) → ℂ ��

𝑊 (𝑢, 𝑣)(𝑥) =
𝑢(𝑥) 𝑣(𝑥)

(𝑝𝑢′)(𝑥) (𝑝𝑣′)(𝑥)
= 𝑢(𝑥)(𝑝𝑣′)(𝑥) − (𝑝𝑢′)(𝑥)𝑣(𝑥).

�
� ������
�� ������	
�� ��� ���� 	� ������

����������� 	
	
�


� ��� 𝑢, 𝑣 ∈ 𝒟(𝜏)� ���� 𝑊 (𝑢, 𝑣) ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎, 𝑏) 	�


𝑊 (𝑢, 𝑣)′ = 𝑟(𝑣𝜏𝑢 − 𝑢𝜏𝑣). �������

� 𝑊 (⋅, ⋅) �� 
���	� �� ���� 	���������

� 𝑊 (⋅, ⋅) �� ��������������� ���� 𝑊 (𝑢, 𝑣) = −𝑊 (𝑣, 𝑢) ��� 𝑢, 𝑣 ∈ 𝒟(𝜏)�

� 𝑊 (𝑢, 𝑣) = 𝑊 (𝑢, 𝑣) ��� 	

 𝑢, 𝑣 ∈ 𝒟(𝜏)�

� ��� 𝜆 ∈ ℂ� �� ���� 𝑢 	�
 𝑣 	�� ��
������ �� (𝜏 −𝜆)𝑢 = 0� ���� 𝑊 (𝑢, 𝑣) �� �����	��

	�
 ��� �	�

𝑊 (𝑢, 𝑣) ≡ 0 ⇔ 𝑢 	�
 𝑣 	�� 
���	�
� 
����
����

��	 𝜆 ∈ ℂ ��� 𝑢, 𝑣 �� 	�� �
������ 
���������	 ����	
��� �� (𝜏 − 𝜆)𝑢 = 0� �� 	
��
 ��� {𝑢, 𝑣} � ��������	�� ���	�� �� 	
� �!��	
�� (𝜏 − 𝜆)𝑢 = 0� "� #�������� ����$ ���
��������	�� ���	�� �� (𝜏 − 𝜆)𝑢 = 0 
� � ���
� �� 	
� ����	
�� ��� � �� (𝜏 − 𝜆)𝑢 = 0�
���� �
����� ����� ��� %�����
	
�� ����& �� 
��� 	
� ������
��  ���������

����

��� 	
	
�
 ��� 	�����	�� 𝜆 ∈ ℂ 	�
 𝑐 ∈ (𝑎, 𝑏) ����� ������ 	 ���
	����	


������ {𝑢, 𝑣} �� ��� ���	���� (𝜏 − 𝜆)𝑢 = 0 �	�������� 𝑊 (𝑢, 𝑣) ≡ 1� �� 𝜆 ∈ ℝ� ���� ����

���
	����	
 ������ �	� �� ������ �� �� ��	
� ���� 𝑢 	�
 𝑣 	�� ��	
��	
��
�

��������	�� ���	���  �� �� ���� 	� ��
� � ��������	�	
�� �� ����	
��� �� 	
� 
�
���'
������� �!��	
�� (𝜏 − 𝜆)𝑢 = 𝑓 � �
� ������
�� ������
	
�� 
� 	
� ��� ���  ����	
��
��������	� �� ������(�
�	 ����
)�	
��� �� 𝜏 �

����������� 	
	
� �*���+,-. ����� ,�/. *��
+$-. 0� 	
�� �$���
 ��� 𝜆 ∈ ℂ 	�
 {𝑢, 𝑣}
�� 	 ���
	����	
 ������ �� (𝜏 − 𝜆)𝑢 = 0� ��� 𝑐 ∈ (𝑎, 𝑏)� 𝑑1, 𝑑2 ∈ ℂ 	�
 𝑓 : (𝑎, 𝑏) → ℂ

���� ��	� 𝑟𝑓 ∈ 𝐿1
𝑙𝑜𝑐(𝑎, 𝑏)� ���� ����� ����� 𝑐1, 𝑐2 ∈ ℂ ���� ��	� ��� ��
����� 𝑦 ��

(𝜏 − 𝜆)𝑢 = 𝑓 �������� ���� 𝑢(𝑐) = 𝑑1, (𝑝𝑢
′)(𝑐) = 𝑑2

�� ����� ��

𝑦(𝑥) = 𝑐1𝑢(𝑥) + 𝑐2𝑣(𝑥) +

∫ 𝑥

𝑐

𝑢(𝑥)𝑣(𝑡) − 𝑣(𝑥)𝑢(𝑡)

𝑊 (𝑢, 𝑣)(𝑐)
𝑓(𝑡)𝑟(𝑡)𝑑𝑡.

�
�����. �� ���	 	� �
�� 	
�	 	
� 
�
	
�� ����� ������� �	 � ������� �����
�	  �� ��
�������

1



���� �����	
� ���
�


������� ����	� ������ ���� 𝑎 	� � 
�����
 �
���	
� �
� ��� 𝑓 : (𝑎, 𝑏) → ℂ ����

���� 𝑟𝑓 ∈ 𝐿1(𝑎, 𝑐) ��
 ��� 𝑐 ∈ (𝑎, 𝑏)� ���
 ��
 �
�	�
�
� 𝜆, 𝑑1, 𝑑2 ∈ ℂ ��� 	
	�	�� �����

�
�����

(𝜏 − 𝜆)𝑢 = 𝑓 �������
 �	�� 𝑢(𝑎) = 𝑑1, (𝑝𝑢
′)(𝑎) = 𝑑2,

���
� 𝑢(𝑎) �
� (𝑝𝑢′)(𝑎) ���� �� �� �
��
����� �� 	
 �������� ��� � �
	��� �����	�


𝑢(⋅, 𝜆)� ��
 ���� 𝑥 ∈ [𝑎, 𝑏) �� ���� ���� 𝜆 �→ 𝑢(𝑥, 𝜆) �
� 𝜆 �→ (𝑝𝑢′)(𝑥, 𝜆) �
� �
�	
�

��
��	�
�� 	��� 𝑢(𝑥, ⋅), (𝑝𝑢′)(𝑥, ⋅) ∈ ℋ(ℂ)� ���	
� 	� 𝑓 	� 
���������� �
� 𝑑1, 𝑑2 ∈ ℝ�

���
 𝑢(𝑥, 𝜆) ∈ ℝ ��
 ��� 𝑥 ∈ [𝑎, 𝑏) �
� 𝜆 ∈ ℝ� ��

����
�	
� ����
�	�
� ���� ��
 ���

�
���	
� 𝑏�


����� ���	 
���
���� �� ��
���

� �����	 {𝑣,𝑤} �� 
 ����
����
� ������ �� (𝜏 −
𝜆)𝑢 = 0 ���� 𝑊 (𝑣,𝑤) ≡ 1 
�� ����� �� 
�
� �� 𝜆 ∈ ℝ� �� �
��������� ���� ���

������ 𝑣(𝑎)	 (𝑝𝑣′)(𝑎)	 𝑤(𝑎) 
�� (𝑝𝑣′)(𝑎) 
�� �!��� 
�� 

� "����	 ���
� ��� ℂ2#$����
�

(𝑣(𝑎), (𝑝𝑣′)(𝑎)) 
�� (𝑤(𝑎), (𝑝𝑤′)(𝑎)) 

� ����

�� ����������� ����� ����
���� �� �
�

0 = 𝑣(𝑎)(𝑝𝑤′)(𝑎) − (𝑝𝑣′)(𝑎)𝑤(𝑎) = lim
𝑥→𝑎+

𝑊 (𝑣,𝑤)(𝑥) = 1.

%���	 ��$�� 
�� �������� 𝑢̂ �� (𝜏 − 𝜆)𝑢 = 𝑓 ������ �� 
����� �� �� 
�
�#$
���� ��

𝜆 ∈ ℝ 
�� 𝑓 �� 
�
�#$
�����	 
 �������� 𝑢 �
�������� ��� �����
� ���������� �� ��$�� ��

𝑢 = 𝑐1𝑣 + 𝑐2𝑤 + 𝑢̂ ��
 ��
�
�� 𝑐1, 𝑐2 ∈ ℂ� &� �
��
 �� ��� ��
� 𝑢 �� ���'��	 
�����

��
� 𝑢1	 𝑢2 

� ��� ��������� �� (𝜏 − 𝜆)𝑢 = 𝑓 �
�������� ��� �
�� �����
� ����������


� 𝑎� %��� 𝑢1 − 𝑢2 �� 
 �������� �� ��� ���������� �'�
���� (𝜏 − 𝜆)𝑢 = 0 �
��������
(𝑢1 − 𝑢2)(𝑎) = (𝑝𝑢′

1 − 𝑝𝑢′
2)(𝑎) = 0� �� �
��������� ����( �� ����
 ��
� 𝑢1 − 𝑢2 
�� 
��

����
 �������� �� (𝜏 − 𝜆)𝑢 = 0 

� ����

�� ��������� 
�� ����� ��
� 𝑢1 − 𝑢2 ≡ 0� %��
����
 
���
����� 

� ���

 �����

� %���
�� ������� □

����

��� ������� ������ ���� 𝑎 	� � 
�����
 �
���	
�� ��
 �
�	�
�
� 𝜆, 𝑑1, 𝑑2 ∈ ℂ

���
� 	� � �
	��� �����	�
 𝑢(⋅, 𝜆) �� ��� 	
	�	�� ����� �
�����

−(𝑝𝑢′)′ + 𝑞𝑢 = 𝜆𝑟𝑢 �������
 �	�� 𝑢(𝑎) = 𝑑1, (𝑝𝑢
′)(𝑎) = 𝑑2.

��
 ���� 𝑥 ∈ [𝑎, 𝑏) �� ���� 𝑢(𝑥, ⋅), (𝑝𝑢′)(𝑥, ⋅) ∈ ℋ(ℂ)� �� 𝑑1, 𝑑2 ∈ ℝ� ���
 𝑢(𝑥, 𝜆) ∈ ℝ

��
 ��� 𝑥 ∈ [𝑎, 𝑏) �
� 𝜆 ∈ ℝ� ��

����
�	
� ����
�	�
� ���� ��
 ��� �
���	
� 𝑏�

������ ������� �� 	� ���� �� ��� ���� ��� ����
�	�
� �� ��
����
� ����� ���� �
�� 	�

��� 	
	�	�� ������ 𝑑1, 𝑑2 ∈ ℂ �
� 
������� �� �
�	
� ��
��	�
� �	�� �
����
� 𝜆� 	��� �
�

��
�	��
� ��� 	
	�	�� ����� �
����� −(𝑝𝑢′)′ + 𝑞𝑢 = 𝜆𝑟𝑢 �������
 �	�� 𝑢(𝑎, 𝜆) = 𝑑1(𝜆)
�
� (𝑝𝑢′)(𝑎, 𝜆) = 𝑑2(𝜆) ��
 𝑑1, 𝑑2 ∈ ℋ(ℂ)�

��� �����	
� ���
�


)� �
�� �� �������
 *� ��+�
����
� �!�
������� 
� ���

��
� �� 
��
��
�
�� ,����
�

��
���� %� ���� ��� ��� (𝑝, 𝑞, 𝑟) �� 
 ����� �� *� ���-������ ��"��� �� (𝑎, 𝑏) ⊆ ℝ� %��

,����
� ��
�� 𝐿2((𝑎, 𝑏); 𝑟) ��
�� ��� �� �� 
��
��
�
���

 



������� �	 
����
�������

�� ����� ��� �		
������� 
���
�� 
�����
�

𝑇𝑚𝑎𝑥 = 𝑇𝑚𝑎𝑥(𝑝, 𝑞, 𝑟) : 𝒟(𝑇𝑚𝑎𝑥) ⊆ 𝐿2((𝑎, 𝑏); 𝑟) → 𝐿2((𝑎, 𝑏); 𝑟) ��

𝒟(𝑇𝑚𝑎𝑥) = {𝑢 ∈ 𝒟(𝜏(𝑝, 𝑞, 𝑟)) : 𝑢, 𝜏𝑢 ∈ 𝐿2((𝑎, 𝑏); 𝑟)},
𝑇𝑚𝑎𝑥𝑢 = 𝜏(𝑝, 𝑞, 𝑟)𝑢, 𝑢 ∈ 𝒟(𝑇𝑚𝑎𝑥),

��� ��� �		
������ ���
���
�� 
�����
� 𝑇0 = 𝑇0(𝑝, 𝑞, 𝑟) : 𝒟(𝑇0) ⊆ 𝐿2((𝑎, 𝑏); 𝑟) →
𝐿2((𝑎, 𝑏); 𝑟) ��

𝒟(𝑇0) = {𝑢 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝, 𝑞, 𝑟)) : supp𝑢 �	 �

���� �� (𝑎, 𝑏)},
𝑇0𝑢 = 𝜏(𝑝, 𝑞, 𝑟)𝑢, 𝑢 ∈ 𝒟(𝑇0).

�������� �� ����

𝑢 ∈ 𝒟(𝑇𝑚𝑎𝑥) ⇒ 𝑢 ∈ 𝒟(𝑇𝑚𝑎𝑥) ��� ���� 𝑇𝑚𝑎𝑥𝑢 = 𝑇𝑚𝑎𝑥𝑢.

� �
���	�
����� �		����
� �
��	 �
� 𝑇0�

�� ���� �
 �	� ��� �
��
���� �
�������� �
����
�� � ������
� 𝑢 ∈ ℳ((𝑎, 𝑏);ℂ) �	 	���

�
 ��� �� 𝐿2((𝑎, 𝑏); 𝑟) �� 𝑎 �� �
� ����� 𝑐 ∈ (𝑎, 𝑏) ��� ��	������
� 
� 𝑢 �
 (𝑎, 𝑐)� 𝑢∣(𝑎,𝑐)� �	
�� 𝐿2((𝑎, 𝑐); 𝑟∣(𝑎,𝑐))� � ������
� 𝑢 ∈ 𝒟(𝜏(𝑝, 𝑞, 𝑟)) �	 	��� �
 ��� �� 𝒟(𝑇𝑚𝑎𝑥) �� 𝑎 �� 𝑢 ���

𝜏(𝑝, 𝑞, 𝑟)𝑢 ��� �� 𝐿2((𝑎, 𝑏); 𝑟) �� 𝑎� ����� �	 � �
���	�
����� �
����
� �
� ��� ����
���

𝑏� �������� �� ���� 𝑢 ∈ 𝐿2((𝑎, 𝑏); 𝑟) �� ��� 
��� �� 𝑢 ���	 �� 𝐿2((𝑎, 𝑏); 𝑟) �� 𝑎 ��� �� 𝑏
��� 𝑢 ∈ 𝒟(𝑇𝑚𝑎𝑥) �� ��� 
��� �� 𝑢 ���	 �� 𝒟(𝑇𝑚𝑎𝑥) �� 𝑎 ��� �� 𝑏�

����� ������

� ��� ��� 𝑢, 𝑣 ∈ 𝒟(𝜏(𝑝, 𝑞, 𝑟)) ��� 𝛼, 𝛽 ∈ (𝑎, 𝑏)	 𝛼 < 𝛽	 
� ��
� ��� ��������

�������� ∫ 𝛽

𝛼

(𝑣𝜏𝑢 − 𝑢𝜏𝑣) 𝑟𝑑𝑥 = 𝑊 (𝑢, 𝑣)(𝛽) − 𝑊 (𝑢, 𝑣)(𝛼). � �!� "

� �� 𝑢 ��� 𝑣 ��� �� 𝒟(𝑇𝑚𝑎𝑥) �� 𝑎	 ���� ��� �����

𝑊 (𝑢, 𝑣)(𝑎) := lim
𝛼→𝑎+

𝑊 (𝑢, 𝑣)(𝛼)

������ ��� �� ������ � ������������� ��������� ����� ��� ��� �������� 𝑏�

� �� 𝑢, 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥)	 ����

(𝑇𝑚𝑎𝑥𝑢, 𝑣)𝐿2((𝑎,𝑏);𝑟) − (𝑢, 𝑇𝑚𝑎𝑥𝑣)𝐿2((𝑎,𝑏);𝑟) = 𝑊 (𝑢, 𝑣)(𝑏) − 𝑊 (𝑢, 𝑣)(𝑎).

�	

��

# ���	 �	 ��� �
 � � �$"�

�
���������� 	��
 (𝑝, 𝑞, 𝑟) �� 	��
 𝜏 (𝑝, 𝑞, 𝑟)

%



���� �����	
� ���
�


� �� 𝑢 ��� 𝑣 ��	 �� 𝒟(𝑇𝑚𝑎𝑥) �
 𝑎� 
�	� �� 
������ 
�	 ����
 ��� 𝛼 → 𝑎+ 	���
� ��� ��
���
	� �	��	� 
�	 ����
 �� 
�	 ���	�
��� 	���
� ��� �� ���
	�

� ���� ��� �	 �������	� ���� 
�	 ��	����� ����
��

□

��  	 ��! �	��	 
�	 �������
	� ������� ��	��
�� 𝑇𝑚𝑖𝑛 = 𝑇𝑚𝑖𝑛(𝑝, 𝑞, 𝑟) : 𝒟(𝑇𝑚𝑖𝑛) ⊆
𝐿2((𝑎, 𝑏); 𝑟) → 𝐿2((𝑎, 𝑏); 𝑟) �!

𝒟(𝑇𝑚𝑖𝑛) = {𝑢 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝, 𝑞, 𝑟)) : 𝑊 (𝑢, 𝑣)(𝑎) = 𝑊 (𝑢, 𝑣)(𝑏) = 0, 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝, 𝑞, 𝑟))}
���

𝑇𝑚𝑖𝑛𝑢 = 𝜏(𝑝, 𝑞, 𝑟)𝑢 𝑢 ∈ 𝒟(𝑇𝑚𝑖𝑛).

"	 ���	 
�	 ����� ��# 
�	��	� ���$��# 𝑇0� 𝑇𝑚𝑖𝑛 ��� 𝑇𝑚𝑎𝑥�

������� ��	�	 
%�	�&'(� )	��� '�*�� ��� ��������	
 ����	��� 𝑇0 �
 ���
�
� �������

��
 	������ �
 𝑇𝑚𝑎𝑥 	�� ��
 �
�
��� �
 ����� �� 𝑇𝑚𝑖𝑛�

��
	 
��
 �
 �� �! �� �	��� ��	�� 
��
 𝑇0 �� �	��	�! �	��	� 
 ���� �����	� 
��
 𝑇𝑚𝑖𝑛

��� 𝑇𝑚𝑎𝑥 ��	 �	��	�! �	��	�� ����	 �� #	�	���  	 �� ��
 ���	 𝐶∞
0 ((𝑎, 𝑏);ℂ) ⊆ 𝒟(𝑇0)


������	 +	�
��� *����
,��� ��
	 
��
� ����	 𝑇𝑚𝑖𝑛 �� 
�	 ������	 �� 𝑇0�  	 ���	

𝑢 ∈ 𝒟(𝑇𝑚𝑖𝑛) ⇒ 𝑢 ∈ 𝒟(𝑇𝑚𝑖𝑛) ��� 
�	� 𝑇𝑚𝑖𝑛𝑢 = 𝑇𝑚𝑖𝑛𝑢.

"	  ��
 
� �������-	.


�������
 ��	���

� ��� ��������	
 ����	��� 𝑇0 �
 ���
�
� ������ 	�� 
���������

� ��� �����	
 ����	��� 𝑇𝑚𝑖𝑛 �
 ���
�
� ������� �
�
�� 	�� 
���������

� ��� �	���	
 ����	��� 𝑇𝑚𝑎𝑥 �
 ���
�
� ������ 	�� �
�
���

� �� �	��

𝑇0 ⊆ 𝑇𝑚𝑖𝑛 ⊆ 𝑇𝑚𝑎𝑥, 𝑇𝑚𝑖𝑛 = 𝑇0, 𝑇 ∗
0 = 𝑇 ∗

𝑚𝑖𝑛 = 𝑇𝑚𝑎𝑥, 𝑇 ∗
𝑚𝑎𝑥 = 𝑇𝑚𝑖𝑛.

��	 ����� ��# 
�	��	� !�	��� 
�	 	���
	��	 �� �	����/���
 	�
	������ �� 𝑇𝑚𝑖𝑛�

������� ��	�� 
%0	
&1(� +	�
��� �&�*� %"	�&2(� ��	��	� �2��&�� ��� �����	
 �����

	��� 𝑇𝑚𝑖𝑛 �	
 ���	
 ��������� ������
� 𝑛 := 𝑛+ = 𝑛− ���� 0 ≤ 𝑛 ≤ 2�

3�	���!� ��! �	����/���
 	�
	����� 𝑆 �� 𝑇𝑚𝑖𝑛 ��
���	� 𝑇𝑚𝑖𝑛 ⊆ 𝑆 ⊆ 𝑇𝑚𝑎𝑥�

�(𝑛+, 𝑛−) = (dimker(𝑇 ∗
𝑚𝑖𝑛 + i),dimker(𝑇 ∗

𝑚𝑖𝑛 − i)) = (dimker(𝑇𝑚𝑎𝑥 + i),dimker(𝑇𝑚𝑎𝑥 − i))
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������� �	 
����
�������

����� �� �� �	

 ���� ��� 
�

��	�� ������	����

����� ����� ��������� ����� �������� ������ ���� 𝑎 	� � 
�����
 �
���	
�� ���
�

��
 �
� 𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥)� ��� �	�	��

𝑓(𝑎) := lim
𝑥→𝑎+

𝑓(𝑥) �
� (𝑝𝑓 ′)(𝑎) := lim
𝑥→𝑎+

(𝑝𝑓 ′)(𝑥) �������

���� ��	�� �
� �
� �
	��� � ��

����
�	
� ����
�	�
 ����� ��
 ��� �
���	
� 𝑏�

	���
� ������

� ��� ����
�	�
 �� ����� ����� ����� �
�� 	� 	
����� �� 𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥) �� �
��

������ ���� 𝑓 �	�� 	
 𝒟(𝑇𝑚𝑎𝑥) �� 𝑎�

� ����� ����� 	���	�� ���� ��
 𝑓, 𝑔 ∈ 𝒟(𝑇𝑚𝑎𝑥)  ��
 𝑓 �
� 𝑔 ��	�� �	� 	
 𝒟(𝑇𝑚𝑎𝑥)
�� 𝑎! ��� �	�	� 𝑊 (𝑓, 𝑔)(𝑎) 	� �	"�
 �� 𝑓(𝑎)(𝑝𝑔′)(𝑎) − (𝑝𝑓 ′)(𝑎)𝑔(𝑎)�

� #�� 	
 ���	�	�
� 𝑎 	� � �
	�� �
���	
�� �� �"�
 ��"�� 𝑓, 𝑝𝑓 ′ ∈ 𝐴𝐶[𝑎, 𝑐] ��
 �"�
�

𝑐 ∈ (𝑎, 𝑏)$ %	
�� 𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥)  𝑓 �	�� 	
 𝒟(𝑇𝑚𝑎𝑥) �� 𝑎!� �� ��"� 𝜏𝑓 ∣(𝑎,𝑐) ∈
𝐿2((𝑎, 𝑐); 𝑟∣(𝑎,𝑐))� ��� �����
� 𝑟𝜆 	� �
	�� �
 (𝑎, 𝑐)� ���� �� ���� ��"� 𝜏𝑓 ∣(𝑎,𝑐) ∈
𝐿1((𝑎, 𝑐); 𝑟∣(𝑎,𝑐))� &���"�
� ��	� '��� ���
� (−(𝑝𝑓 ′)′ + 𝑞𝑓)∣(𝑎,𝑐) ∈ 𝐿1(𝑎, 𝑐)� (�

��"� 𝑞∣(𝑎,𝑐) ∈ 𝐿1(𝑎, 𝑐) �
� ∣𝑓(𝑥)∣ < 𝐶� 𝑥 ∈ (𝑎, 𝑐)� ��
 ���� 𝐶 ∈ ℝ+� 	����	
�

���� (𝑝𝑓 ′)′∣(𝑎,𝑐) ∈ 𝐿1(𝑎, 𝑐) �
� ��
�� 𝑝𝑓 ′ ∈ 𝐴𝐶[𝑎, 𝑐]� (� ���� ��"� 𝑝−1∣(𝑎,𝑐) ∈
𝐿1(𝑎, 𝑐) �
� ∣(𝑝𝑓 ′)(𝑥)∣ < 𝐶� 𝑥 ∈ (𝑎, 𝑐)� ��
 ���� 𝐶 ∈ ℝ+� 	����	
� ���� 𝑓 ′∣(𝑎,𝑐) =
𝑝−1𝑝𝑓 ′∣(𝑎,𝑐) ∈ 𝐿1(𝑎, 𝑐) �
� ��
�� 𝑓 ∈ 𝐴𝐶[𝑎, 𝑐]�
)���
��� 	� 𝑎 �
� 𝑏 �
� ���� 
�����
 �
� �
	��� ����� �
����
�� ��
 �� ������� ��

�	��� 𝑓, 𝑝𝑓 ′ ∈ 𝐴𝐶[𝑎, 𝑏]�

)�

����
�	
� ����
�	�
� ���� ��
 ��� �
���	
� 𝑏�

����� ����
 ��������� ����� �������� ������ ���� 𝑎 �
� 𝑏 �
� ���� 
�����
 �
��

��	
��� 	��� 𝜏 	� 
�����
� ���
 ��
 �
� 𝑑1, 𝑑2, 𝑒1, 𝑒2 ���
� ��	��� � ��
��	�
 𝑔 ∈ 𝒟(𝑇𝑚𝑎𝑥)
���� ����

𝑔(𝑎) = 𝑑1, (𝑝𝑔′)(𝑎) = 𝑑2, 𝑔(𝑏) = 𝑒1, (𝑝𝑔′)(𝑏) = 𝑒2,

���
��� ��	� ��� �� �� �
��
����� �� 	
 �������� *�
���
��
�� ��
 𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥) �� ��"�

𝑓 ∈ 𝒟(𝑇𝑚𝑖𝑛) 	� �
� �
�� 	� 𝑓(𝑎) = (𝑝𝑓 ′)(𝑎) = 𝑓(𝑏) = (𝑝𝑓 ′)(𝑏) = 0�

����� ������ ��� 𝑓𝑎 ∈ 𝒟(𝜏) �� ��	
� 	
 𝒟(𝑇𝑚𝑎𝑥) �� 𝑎 �
� 𝑓𝑏 ∈ 𝒟(𝜏) �� ��	
� 	

𝒟(𝑇𝑚𝑎𝑥) �� 𝑏� ���
 ���
� ��	��� 𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥) �+���	
� 𝑓𝑎 
��
 𝑎 �
� 𝑓𝑏 
��
 𝑏�

�
���� ��� 𝛼, 𝛽 ∈ (𝑎, 𝑏)� 𝛼 < 𝛽� ���� ����

𝑓𝑎
∣∣
(𝑎,𝛼)

, 𝜏𝑓𝑎
∣∣
(𝑎,𝛼)

∈ 𝐿2((𝑎, 𝛼); 𝑟∣(𝑎,𝛼))
��� �� �����	�
 ���
 �
�	 �� ���� �
�� 𝑓 ��� 𝑝𝑓 ′� ��	���������� ��	������� �� (𝑎, 𝑐] ��� �������� ��
[𝑎, 𝑐] �� ������� �	 �� 𝐴𝐶[𝑎, 𝑐]�

 



���� �����	�
 ��
��	��

	��

���

𝑓𝑏
∣∣
(𝛽,𝑏)

, 𝜏𝑓𝑏
∣∣
(𝛽,𝑏)

∈ 𝐿2((𝛽, 𝑏); 𝑟∣(𝛽,𝑏)).

��������	 
� ��

� ������ 
���� ����
� � ����
��� 𝑔 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝∣(𝛼,𝛽), 𝑞∣(𝛼,𝛽), 𝑟∣(𝛼,𝛽)))
��
������	�

𝑔(𝛼) = 𝑓𝑎(𝛼), (𝑝𝑔′)(𝛼) = (𝑝𝑓 ′
𝑎)(𝛼), 𝑔(𝛽) = 𝑓𝑏(𝛽), (𝑝𝑔′)(𝛽) = (𝑝𝑓 ′

𝑏)(𝛽).

�������� 𝑔, 𝜏 ∣(𝛼,𝛽)𝑔 ∈ 𝐿2((𝛼, 𝛽); 𝑟∣(𝛼,𝛽)) ��� �� ��
��� ����� �� �� � 𝑔, 𝑝𝑔′ ∈ 𝐴𝐶[𝛼, 𝛽]�

!�"�� 𝑓 : (𝑎, 𝑏) → ℂ ��

𝑓(𝑥) =

⎧⎨⎩
𝑓𝑎(𝑥), 𝑥 ≤ 𝛼,

𝑔(𝑥), 𝛼 < 𝑥 < 𝛽,

𝑓𝑏(𝑥), 𝛽 ≤ 𝑥.

#��� �
 �� ���� 
� ����� 
��
 𝑓, 𝑝𝑓 ′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎, 𝑏) ��� 𝑓, 𝜏𝑓 ∈ 𝐿2((𝑎, 𝑏); 𝑟) 
�����	 
��

𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥)� □

��� �����	�
 ��
��	��

	��

������� ��	�� 
���
�� �
���������� $%&�
'()� #�����
 *����� %+��',)� #�����

�,���-� ��� ��� �� 	
�����

�� �������
�� 𝜏 = 𝜏(𝑝, 𝑞, 𝑟) 	����	 �� (𝑎, 𝑏) ⊆ ℝ 

 ���	�


��
 �

���

�
� ��� ����� 𝜆 ∈ ℂ ��� ����

��� �� (𝜏 − 𝜆)𝑢 = 0 �
� 
� 𝐿2((𝑎, 𝑏); 𝑟) �
 𝑎

��

�

� ��� ����� 𝜆 ∈ ℂ 
���� ��
�
� �
 ����
 ��� ����

�� �� (𝜏 − 𝜆)𝑢 = 0 ��
�� 	��� ��

�
� 
� 𝐿2((𝑎, 𝑏); 𝑟) �
 𝑎�

� ���������	
�� �����

�� ���	� ��� 
�� ��	��
�
 𝑏�

.� 
�� ���� �
� �� ������
� �� #�����
 ��,��� �� ��� 
��
 𝑎 �� �� 
�� ��
�
/������ ���� ��

��
 𝑎 �� ��
�
/������ $��� 𝜏-� 0
�������� ���� �� 
�� ���� �

� �� ������
�� �� ��� 
��

𝑎 �� �� 
�� ��
�
/1���
 ���� �� 
��
 𝑎 �� ��
�
/1���
 $��� 𝜏-� #���� �� � ������1�����	
��
�
��� ��� 
�� ���1���
 𝑏�

����������� ��	��� �� 𝑎 
� � ������� ��	��
�
 ��� 𝜏 � 
��� 𝑎 
� �
 

!�
���� ��� 𝜏 � �
���������	
�� �����

�� ���	� ��� 
�� ��	��
�
 𝑏�

������ .� 𝑎 �� � ��	���� ���1���
 ��� 𝜏 � 𝜆 ∈ ℂ ��� 𝑢 � ����
��� �� (𝜏 − 𝜆)𝑢 = 0�

��� �� 2��1���
��� ����( 
�� ��
�
 𝑢(𝑥) �� 𝑥 → 𝑎+ ����
� ��� �� "��
�� .� 1��
�������
��� 𝑐 ∈ (𝑎, 𝑏) �� �� �

∣𝑢(𝑥)∣ < 𝐶, 𝑥 ∈ (𝑎, 𝑐),

�𝑝𝑔′ ������ ��	�
� �
 ��
		
� �� 𝑝∣(𝛼,𝛽)𝑔
′
�

3



������� �	 
����
�������

��� ���� ����	
�	 𝐶 ∈ ℝ+ ���
������ �� 𝑐� 
�� �����∫ 𝑐

𝑎

∣𝑢∣2𝑟𝑑𝑥 < 𝐶2
∥∥𝑟∣∣

(𝑎,𝑐)

∥∥
𝐿1(𝑎,𝑐)

< ∞.

□

����������� 	
�
� ����	���� ����
 �������
 ��� �������	 𝑎 �� ���������	� 
�� 𝜏 �


�	
 �	�� �
 𝑊 (𝑢, 𝑣)(𝑎) = 0 
�� ��� 𝑢, 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝, 𝑞, 𝑟))� ��	��� ��� �	
���	� 𝑎 ��

������������ �
 �	
 �	�� �
 ����� ������ 𝑢 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝, 𝑞, 𝑟)) ���� ���� 𝑊 (𝑢, 𝑣)(𝑎) ∕= 0 
��

���� 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝, 𝑞, 𝑟))� � ��������	
�	� ��������	 ���
� 
�� ��� �	
���	� 𝑏�

���� ���� �� 𝑊 (𝑢, 𝑣)(𝑎) ∕= 0	 ���
 𝑊 (Re 𝑢, 𝑣)(𝑎) ∕= 0 �� 𝑊 (Im𝑢, 𝑣)(𝑎) ∕= 0� 
������	 ��
���� Re𝑢, Im 𝑢 ∈ 𝒟(𝑇𝑚𝑎𝑥) �
� 𝑊 (Re𝑢,Re 𝑢) = 𝑊 (Re𝑢,Re 𝑢) = 0 �
�
𝑊 (Im𝑢, Im𝑢) = 𝑊 (Im𝑢, Im 𝑢) = 0� ��
��	 �� ��
 ����� ����������
 ����� �� ��������

��������� ��	�
� ��� �	
���	� 𝑎 �� ������������ 
�� 𝜏 �
 �	
 �	�� �
 ����� ������

𝑢 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝, 𝑞, 𝑟)) ���� ���� 𝑊 (𝑢, 𝑢)(𝑎) = 0 �	
 𝑊 (𝑢, 𝑣)(𝑎) ∕= 0 
�� ���� 𝑣 ∈
𝒟(𝑇𝑚𝑎𝑥(𝑝, 𝑞, 𝑟))� � ��������	
�	� ��������	 ���
� 
�� ��� �	
���	� 𝑏�

��� �����	
��
� ����������
�

�� ���� ������� ���
 �
 ������
 ��� ���� ����� ����� ���������
� ����
���
� �� 𝑇𝑚𝑖𝑛 ��	
� !�����
���	 ���������
� ����������
� �� 𝑇𝑚𝑎𝑥� "���� ��� ��������� ��� 𝑛#��$�
���
��	
��$$����� ����
���
� �� 𝑇𝑚𝑖𝑛 �� ��� 𝑛#��$�
���
��	 ��$$����� ����������
� �� 𝑇𝑚𝑎𝑥 ��
𝑇𝑚𝑖𝑛 ��� � !�� ��%���
�� �
����� (𝑛, 𝑛) &��$���� "�����$ ����' �
� ��� (���))*	 "��#
���$ �)��)+� �� ��
� �� ���� �!�� � ���������
� ����
���
 �
� ����������
	 ������������	
� ���������
� �����,����
 &�� 𝜏 = 𝜏(𝑝, 𝑞, 𝑟))�

�� 
��� ��� �������
- 
������
� �� ��� ���� 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥) �����%�� &��'��+ ��

𝑊 (𝑣, 𝑣)(𝑎) = 0 �
� 𝑊 (ℎ, 𝑣)(𝑎) ∕= 0 ��� ��$� ℎ ∈ 𝒟(𝑇𝑚𝑎𝑥). &��'��+


�������
��
-��	 �� ��� ���� 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥) �����%�� &��'��+ ��

𝑊 (𝑣, 𝑣)(𝑏) = 0 �
� 𝑊 (ℎ, 𝑣)(𝑏) ∕= 0 ��� ��$� ℎ ∈ 𝒟(𝑇𝑚𝑎𝑥). &��'��+

.� 
�������� ����' �� ��� ���� ��� �
����
� 𝑎 �� �
 ��� ��$��#������ ���� ��� 𝜏 �� �
� �
��
�� ����� ������ 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥) ��������
- &��'��+ # ��$������ ��� ��� �
����
� 𝑏�

�����
����� ��
���

� ��� ��� 𝑓1, 𝑓2, 𝑓3, 𝑓4 ∈ 𝒟(𝜏) �� ���� ��� ������� �
�	����

𝑊 (𝑓1, 𝑓2)𝑊 (𝑓3, 𝑓4) + 𝑊 (𝑓1, 𝑓3)𝑊 (𝑓4, 𝑓2) + 𝑊 (𝑓1, 𝑓4)𝑊 (𝑓2, 𝑓3) ≡ 0 &��'��+

�	 (𝑎, 𝑏)�

�)



���� �����	
��
� ����������
�

� ��� 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥) �� �����	
��� �������
 ��� 𝑓 �
��� �� 𝒟(𝑇𝑚𝑎𝑥) �� 𝑎 �� ����

𝑊 (𝑓, 𝑣)(𝑎) = 0 ⇔ 𝑊 (𝑓, 𝑣)(𝑎) = 0 �������

��� 	�� 𝑓 ��� 𝑔 �
��� �� 𝒟(𝑇𝑚𝑎𝑥) �� 𝑎 �� ����

𝑊 (𝑓, 𝑣)(𝑎) = 𝑊 (𝑔, 𝑣)(𝑎) = 0 ⇒ 𝑊 (𝑓, 𝑔)(𝑎) = 0. �������

������������� ���������� ���� 	�� ��� �������� 𝑏


������

� � 	
�	��

��� ����� 
�

 
�� ���
 ���� �� ������� ���
�� 
�� ��
�����
�


1

2

∣∣∣∣∣∣∣∣
𝑓1 𝑓2 𝑓3 𝑓4
𝑝𝑓 ′

1 𝑝𝑓 ′
2 𝑝𝑓 ′

3 𝑝𝑓 ′
4

𝑓1 𝑓2 𝑓3 𝑓4
𝑝𝑓 ′

1 𝑝𝑓 ′
2 𝑝𝑓 ′

3 𝑝𝑓 ′
4

∣∣∣∣∣∣∣∣ ,
���	� �� ��������� �
��������

� ��
 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥) �� �

������� ��������  ��� 
���� �!��
� ℎ ∈ 𝒟(𝑇𝑚𝑎𝑥) ��	� 
�


𝑊 (ℎ, 𝑣)(𝑎) ∕= 0� "������� 𝑓1 = 𝑣# 𝑓2 = 𝑣# 𝑓3 = ℎ 
�� 𝑓4 = ℎ �� �������# ��� ����

�

 
��� 𝑊 (ℎ, 𝑣)(𝑎) ∕= 0� $�� 	������� 𝑓1 = 𝑓 # 𝑓2 = 𝑣# 𝑓3 = 𝑣# 𝑓4 = ℎ �� �������
������ �������# 	������� 𝑓1 = 𝑓 # 𝑓2 = 𝑔# 𝑓3 = 𝑣# 𝑓4 = ℎ ������ ��������

□

 �� ��!
 
������ ����� 
 	�
�
	
���%

��� �� 
�� ����
�&���
 ��
��%

���� ��'������ ��
���'���
 	�
���(	

����

������	 
���� �)*�
+�,#  ������ �+����# )-��+�,#  ������ ����. 
���
��� ��
�  ���
���� ���/+��

� ������� �������� �� ������������� �
�
 ���� ��������� ��� ������������ ���� �� ���

���� �	 ��� ���
 �	 𝑛 = 0
 ��� ������� �������� 𝑇𝑚𝑖𝑛 = 𝑇𝑚𝑎𝑥 �����	 �� ���	��������

��� ����� ��� ���
 ���	������� ����������� �	 𝜏 


�  �� �������� �� ������������ ��� ��� ����� ��� ������������ ���� �� ��� ���� �	 ���

���
 �	 𝑛 = 1


��� 𝑎 �� ������������ ��� 𝑏 �� �����������
 !� �������� 𝑆 �� � ���	������� �����������
�	 𝜏 �	 ��� ���
 �	 ����� �"���� 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥) �����	
��� ������� �#�� ����

𝒟(𝑆) = {𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥) : 𝑊 (𝑓, 𝑣)(𝑎) = 0},
𝑆𝑓 = 𝜏𝑓, 𝑓 ∈ 𝒟(𝑆).

��� 𝑎 �� ����������� ��� 𝑏 �� ������������
 !� �������� 𝑆 �� � ���	������� �����������
�	 𝜏 �	 ��� ���
 �	 ����� �"���� 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥) �����	
��� �����/� �#�� ����

𝒟(𝑆) = {𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥) : 𝑊 (𝑓, 𝑣)(𝑏) = 0},
𝑆𝑓 = 𝜏𝑓, 𝑓 ∈ 𝒟(𝑆).

��



������� �	 
����
�������

� ���� ���	�
��� �
� �
�
���

���� ��
� 
� ��� ���� 
� ��� ���� 
� 𝑛 = 2�

�� �	�
���
 𝑆 
� � ��������
�� 
���
���
�� �� 𝜏 
� ��� ���� 
� ���
� ��
�� 𝑣,𝑤 ∈
𝒟(𝑇𝑚𝑎𝑥) ���
���
��

�
� 𝑣 ��� 𝑤 �
� �
���
�� 
���	������ ������ 𝒟(𝑇𝑚𝑖𝑛)� 
��� �� ����

�
�� �
���


��� 
���
�� �� 𝑣 ��� 𝑤 
� 
� 𝒟(𝑇𝑚𝑖𝑛)

����

�

� 𝑊 𝑏
𝑎(𝑣, 𝑣) = 𝑊 𝑏

𝑎(𝑤,𝑤) = 𝑊 𝑏
𝑎(𝑣,𝑤) = 0

���� ����

𝒟(𝑆) =
{
𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥) : 𝑊 𝑏

𝑎(𝑓, 𝑣) = 𝑊 𝑏
𝑎(𝑓,𝑤) = 0

}
, �������

𝑆𝑓 = 𝜏𝑓, 𝑓 ∈ 𝒟(𝑆).

�� 	
�� 	

��� �
 ������ ������
� �
��������	 �
�����	���� ��	
 �
����	
� �������� ����
��	����� ��	
 	

�
 �
 �
�� ��� �
��������	 �
�����	���� �� 𝜏 �� ��
���
�� ��
 
������	 ��
����	������
 ��� �� ��	
 
������	� ��
 ����	������
� 	
��
 �
��������	 �
�����	���� 𝑆 �
��

������ ��  �!
� ��

𝒟(𝑆) = {𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥) : 𝑊 (𝑓, 𝑣)(𝑎) = 𝑊 (𝑓,𝑤)(𝑏) = 0} �����"�

��� ���
 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥) ��	������ ������� ��� ���
 𝑤 ∈ 𝒟(𝑇𝑚𝑎𝑥) ��	������ �����#�� ��
���
� 	� �

�$ 	
�	 
��
 ��
��	�� 𝑆 ��	
 ������ �����"� ��� ��	�� �� 𝜏 �� ���

�
�
��������	� ��
 ��� ������ �
�� 	
�	 �����"� ��� �
 ���		
� �� 	

 ���� �� �������
��� �

 %�
�&'(� )

��
� �'�#��* +������� 	� ,
��� ��#�-� 	

�
 
.��	 𝑣0 
/����� 𝑣
�
�� 𝑎 ��� 	

 �
�� ����	��� �
�� 𝑏 ��� 𝑤0 
/����� 	

 �
�� ����	��� �
�� 𝑎 ��� 𝑤
�
�� 𝑏� 0���
 𝑣 ��� 𝑤 ��	���� ������� ��� �����#�� �
��
�	�!
��� �	 �� 
��� 	� ���!
 	
�	
𝑣0 ��� 𝑤0 ��
 ���
���� ���
�
��
�	 ������ 𝒟(𝑇𝑚𝑖𝑛) ��� 	
�	 	

�
 ����	���� ��	����
𝑊 𝑏

𝑎(𝑣0, 𝑣0) = 𝑊 𝑏
𝑎(𝑤0, 𝑤0) = 𝑊 𝑏

𝑎(𝑣0, 𝑤0) = 0� 1�
����� �
 
�!


{𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥) : 𝑊 (𝑓, 𝑣)(𝑎) = 𝑊 (𝑓,𝑤)(𝑏) = 0} ={
𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥) : 𝑊 𝑏

𝑎(𝑓, 𝑣0) = 𝑊 𝑏
𝑎(𝑓,𝑤0) = 0

}
.

2� 3������	��� ����� ��
 �

� 	
�	 � �
��������	 �
�����	��� 𝑆 ��	
 �
����	
� ��������
�����	���� 
�� 	

 ����
�	�

𝑓 ∈ 𝒟(𝑆) ⇒ 𝑓 ∈ 𝒟(𝑆) ��� 	

� 𝑆𝑓 = 𝑆𝑓.

)
�� ��
� ��	 
��� 	��
 ��� ��� �
��������	 �
�����	������

�
 ���	 	� �
�����
 �������� �����	���� �� 	

 ���� 𝑊 (𝑓, 𝑣)(𝑎) = 0 ��� 𝑊 (𝑓,𝑤)(𝑏) =
0� �
��
�	�!
��� �

�
 𝑣,𝑤 ∈ 𝒟(𝑇𝑚𝑎𝑥) ��	���� ������� �� �����#�� ���� �� �� ��	
���	�!

���� )
�� �� 	

 ���	
�	 �� 3������	��� ����' ��� 1�������� ����4�

��� ��� 𝑊 𝑏
𝑎(⋅, ⋅) �� �� �����	
��
�� 
�� 𝑊 (⋅, ⋅)(𝑏)−𝑊 (⋅, ⋅)(𝑎)�

����
����
�� ����
���
��� �
 𝜏 ������ ���� �����
��� ��� �
�
���
����� ����� ����
� ������� ������ ��
��
���� 
� ��� 
��� �
 ������� ��� ������ ���
����
�� ����
���
��� �
�� ������� ������� ����
�
����

�#



���� �����	
��
� ����������
�

����������� 	
�
�
 ������ ���� ��� �	
��
	� 𝑎 
� 
	 ��� �
�
���
���� ���� ��� 𝜏
�	
 ��� 𝜆 ∈ ℝ �	
 {𝛾, 𝛿} �� � ���� ��	
���	��� ������ �� (𝜏 − 𝜆)𝑢 = 0 ���
���
	�

𝑊 (𝛾, 𝛿) ≡ 1�

� ��� 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥) �� ���
���
	� �������� ���	 ����� ��
��� � �	
��� 𝛼 ∈ [0, 𝜋) ����

���� �� �����

𝑊 (𝑓, 𝑣)(𝑎) = 0 ⇔ 𝑊 (𝑓, cos𝛼 𝛾 + sin𝛼 𝛿)(𝑎) = 0, 𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥). �������

� ��	�������� �
��	 � �
	��� ����
	��
�	 cos𝛼 𝛾+sin𝛼 𝛿 ��� ���� 𝛼 ∈ [0, 𝜋)� �����
��
��� 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥) ���
�� 
� ������ 	�� �	
��� ���
���
	� ������� �	
 ���� ����

�� ���� ��������

��������	

	� ������
�	� ���
 ��� ��� �	
��
	� 𝑏�

����



� �	
 ℎ ∈ 𝒟(𝑇𝑚𝑎𝑥) ��
� 
��
 𝑊 (ℎ, 𝑣)(𝑎) ∕= 0� ��	� 
�	 ���
�	� ��	�
�
� �������

𝑊 (ℎ, 𝑣)𝑊 (𝛾, 𝛿)︸ ︷︷ ︸
≡1

+𝑊 (ℎ, 𝛾)𝑊 (𝛿, 𝑣) + 𝑊 (ℎ, 𝛿)𝑊 (𝑣, 𝛾) ≡ 0

��	���

0 ∕= 𝑊 (ℎ, 𝑣)(𝑎) = 𝑊 (ℎ, 𝛾)(𝑎)𝑊 (𝑣, 𝛿)(𝑎) − 𝑊 (ℎ, 𝛿)(𝑎)𝑊 (𝑣, 𝛾)(𝑎), �������

�������� 
��
(
𝑊 (𝑣, 𝛿)(𝑎),𝑊 (𝑣, 𝛾)(𝑎)

)
=
(
𝑊 (𝑣, 𝛿)(𝑎),𝑊 (𝑣, 𝛾)(𝑎)

) ∕= (0, 0).

��	 ���
�	� ��	�
�
� ���� ��	��� ��	���
	 ℎ  � 𝑣 �� 
�	 ����
 	!��
��� �" ��������

0 = 𝑊 (𝑣, 𝑣)(𝑎) = 𝑊 (𝑣, 𝛾)(𝑎)𝑊 (𝑣, 𝛿)(𝑎) − 𝑊 (𝑣, 𝛿)(𝑎)𝑊 (𝑣, 𝛾)(𝑎)

= 𝑊 (𝑣, 𝛾)(𝑎)𝑊 (𝑣, 𝛿)(𝑎) − 𝑊 (𝑣, 𝛾)(𝑎)𝑊 (𝑣, 𝛿)(𝑎)

= 2i Im(𝑊 (𝑣, 𝛾)(𝑎)𝑊 (𝑣, 𝛿)(𝑎)),

�������� 
��
 𝑊 (𝑣, 𝛾)(𝑎)𝑊 (𝑣, 𝛿)(𝑎) ∈ ℝ�

#	�
	$ %	 ��&	

𝐷

(
𝑊 (𝑣, 𝛾)(𝑎)
𝑊 (𝑣, 𝛿)(𝑎)

)
∈ ℝ2∖

{(
0
0

)}
,

%�	�	 𝐷 = 𝑊 (𝑣, 𝛿)(𝑎) �" 𝑊 (𝑣, 𝛿)(𝑎) ∕= 0 ��� 𝐷 = 𝑊 (𝑣, 𝛾)(𝑎) 	��	$ ��� 
�	�	

	'��
 � ���!�	 𝛼 ∈ [0, 𝜋) ��� � ���!�	 𝐵 ∈ ℝ∖{0} ��
� 
��


𝐷

(
𝑊 (𝑣, 𝛾)(𝑎)
𝑊 (𝑣, 𝛿)(𝑎)

)
= 𝐵

(
sin𝛼

− cos𝛼

)
����� ���� ��� ����	
���� �
 𝑎 ����� ��	��������� �	
���� ���� 𝛾 ��� 𝛿 ���� ����� ���� ����� ������

��	��������� ��� �� 𝒟(𝑇𝑚𝑎𝑥) �� 𝑎�

��



������� �	 
����
�������

��� (
𝑊 (𝑣, 𝛾)(𝑎)
𝑊 (𝑣, 𝛿)(𝑎)

)
=

𝐵

𝐷

(
sin𝛼

− cos𝛼

)
.

���� ��	 𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥) 
	��
��� ℎ �� 𝑓 �� ��� 	���� �������� �� 
�������

𝑊 (𝑓, 𝑣)(𝑎) = 𝑊 (𝑓, 𝛾)(𝑎)𝑊 (𝑣, 𝛿)(𝑎) − 𝑊 (𝑓, 𝛿)(𝑎)𝑊 (𝑣, 𝛾)(𝑎)

= 𝑊 (𝑓, 𝛾)(𝑎)𝑊 (𝑣, 𝛿)(𝑎) − 𝑊 (𝑓, 𝛿)(𝑎)𝑊 (𝑣, 𝛾)(𝑎)

= −𝑊 (𝑓, 𝛾)(𝑎)
𝐵

𝐷
cos𝛼 − 𝑊 (𝑓, 𝛿)(𝑎)

𝐵

𝐷
sin𝛼

��� ����� 
�������

�� 	������ �� ���� ���� 𝛼 �� ������ �� 
�������  ������ ���� ���	� �� 𝛼̃ ∈ [0, 𝜋)
���� ����� ��	 𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥)�

𝑊 (𝑓, cos𝛼 𝛾 + sin𝛼 𝛿)(𝑎) = 0 ⇔ 𝑊 (𝑓, cos 𝛼̃ 𝛾 + sin 𝛼̃ 𝛿)(𝑎) = 0.

!� "���� ��#�� ���	� �$���� 𝑓0 ∈ 𝒟(𝑇𝑚𝑎𝑥) ����
��� cos𝛼 𝛾 + sin𝛼 𝛿 ���	 𝑎�
%
��	
��

𝑊 (𝑓0, cos𝛼 𝛾 + sin𝛼 𝛿)(𝑎) = 𝑊 (cos𝛼 𝛾 + sin𝛼 𝛿, cos 𝛼 𝛾 + sin𝛼 𝛿)(𝑎) = 0

��� ���� 
𝑊 (𝛾, 𝛿) ≡ 1� 𝑊 (𝛾, 𝛾) ≡ 𝑊 (𝛿, 𝛿) ≡ 0�

0 = 𝑊 (𝑓0, cos 𝛼̃ 𝛾 + sin 𝛼̃ 𝛿)(𝑎) = 𝑊 (cos𝛼 𝛾 + sin𝛼 𝛿, cos 𝛼̃ 𝛾 + sin 𝛼̃ 𝛿)(𝑎)

= cos𝛼 sin 𝛼̃ − sin𝛼 cos 𝛼̃.

&� ����
��� ���� (
cos 𝛼̃
sin 𝛼̃

)
=

(
cos𝛼
sin𝛼

)
��� ����� 𝛼̃ = 𝛼�

' %����� 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥) ����
��� cos𝛼 𝛾 + sin𝛼 𝛿 ���	 𝑎� ����� �� ������
� ��� ��

"���� ��#��� (���� �
��	
�� �� ��)� 
������ ��� 𝑊 (𝑣, 𝑣)(𝑎) = 0� *�	���	��	��

��	 ℎ1 ∈ 𝒟(𝑇𝑚𝑎𝑥) ����
��� 𝛾 ���	 𝑎 �� ��)� 𝑊 (ℎ1, 𝑣)(𝑎) = sin𝛼 ��� ��	 ℎ2 ∈
𝒟(𝑇𝑚𝑎𝑥) ����
��� 𝛿 ���	 𝑎 �� ��)� 𝑊 (ℎ2, 𝑣)(𝑎) = − cos𝛼� ���� ���	� ��	����
�

�$���� ℎ ∈ 𝒟(𝑇𝑚𝑎𝑥) ���� 𝑊 (ℎ, 𝑣)(𝑎) ∕= 0� ��� 𝑣 ������ �����+�� 
�������

□

����������� 	
�
�
 ������ ���� ��� �	
��
	� 𝑎 
� �������� ���	 ��� �	� 𝜆 ∈ ℝ �����

��
��� � ���� ��	
���	��� ������ {𝛾, 𝛿} �� (𝜏 − 𝜆)𝑢 = 0 ���
���
	� 𝑊 (𝛾, 𝛿) ≡ 1 �	


𝑊 (𝑓, 𝛾)(𝑎) = 𝑓(𝑎), 𝑊 (𝑓, 𝛿)(𝑎) = (𝑝𝑓 ′)(𝑎)

��� ��� 𝑓 ��
	� 
	 𝒟(𝑇𝑚𝑎𝑥) �� 𝑎� � ��������	

	� ������
�	 ���
� ��� ��� �	
��
	� 𝑏�

��



���� �����	
� �
��	�

������ ��� 𝛾 �� ��� ���	�
�� �� (𝜏−𝜆)𝑢 = 0 ��
����� �
�� 𝑢(𝑎) = 0 ��� (𝑝𝑢′)(𝑎) = 1
��� 𝛿 �� ��� ���	�
�� �� (𝜏 − 𝜆)𝑢 = 0 ��
����� �
�� 𝑢(𝑎) = −1 ��� (𝑝𝑢′)(𝑎) = 0� ���
��������� ������� ���� {𝛾, 𝛿} ��� ��� ���
��� �������
��� □

��������	 
����� ������ ���� ��� �	
��
	� 𝑎 
� ��������

� ��� 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥) �� ���
���
	� �������� ���	 ����� ��
��� � �	
��� 𝛼 ∈ [0, 𝜋) ����

���� �� ����

𝑊 (𝑓, 𝑣)(𝑎) = 0 ⇔ 𝑓(𝑎) cos𝛼 + (𝑝𝑓 ′)(𝑎) sin𝛼 = 0, 𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥). ��������

� ��	�������� ��� 𝛼 ∈ [0, 𝜋) ����� ��
��� 𝑣 ∈ 𝒟(𝑇𝑚𝑎𝑥) ���
�� 
� ������ 	�� �	
��� 

���
���
	� ������� �	
 ���� ���� �� ���� ���������

��������	

	� ������
�	� ���
 ��� ��� �	
��
	� 𝑏�

�� ����
�	���� �����
�
 𝛼 = 0 
� 𝑓(𝑎) cos 𝛼 + (𝑝𝑓 ′)(𝑎) sin𝛼 = 0 ����� �� ���  
�
�����
��	����� ����
�
�� 𝑓(𝑎) = 0! �����
�
 𝛼 = 𝜋/2 ����� �� (𝑝𝑓 ′)(𝑎) = 0� ��
�� 
� ������
��� "�	���� ��	����� ����
�
���

��� �����	
� �
��	�

����	
��	� ��
� ����
�� ��� 𝜏 = 𝜏(𝑝, 𝑞, 𝑟) �� � #� �
$�����
�� �%�����
�� ��&��� ��
(𝑎, 𝑏) ⊆ ℝ�

'�	����� ����
�
��� �� �����
��� 
� ��� ���(
�	� ����
�� ���� �� �� �%����
�� �� ���

�
�
�� (��	� ������� �� � ��
	��� �����
�� ���� ��������� ������� �� ��� ���� �� ��
�����
�� 
� ��� �
�
�)�
���� �����


������ 
���
 �*'+�,-� ������� ,��� *+##./0-� ������� 1�� ������ ���� ��� �	
�

��
	� 𝑎 
� 
	 ��� �
�
���
���� ���� ��� 𝜏 � ���� ��� ���� 𝜆 ∈ ℝ� {𝛾, 𝛿} �� � ���� ��	
���	���

������ �� (𝜏 − 𝜆)𝑢 = 0 ���
���
	� 𝑊 (𝛾, 𝛿) ≡ 1 �	
 ��� 𝜂, 𝜉 ∈ ℋ(ℂ)� ���	 ����� ��
��� �

�	
��� ����
	� 𝜓 : (𝑎, 𝑏) × ℂ → ℂ �
�� ��� �������
��

� 𝜓(⋅, 𝜆) 
� � �����
�	 �� (𝜏 − 𝜆)𝑢 = 0 ��� ����� 𝜆 ∈ ℂ

� 𝑊 (𝜓(⋅, 𝜆), 𝛾)(𝑎) = 𝜂(𝜆) �	
 𝑊 (𝜓(⋅, 𝜆), 𝛿)(𝑎) = 𝜉(𝜆) ��� ��� 𝜆 ∈ ℂ

� 𝜓(𝑥, ⋅), (𝑝𝜓′)(𝑥, ⋅) ∈ ℋ(ℂ) ��� ��� 𝑥 ∈ (𝑎, 𝑏)�

� ��������	

	� ������
�	 ���
� ��� ��� �	
��
	� 𝑏�

������ 
����� !	 ��� ���� �� � ������� �	
��
	� 𝑎 �	
 � ���
�� {𝛾, 𝛿} �� 
	 "�����

�
�
�	 #�$�$� ������� #�%�# ��
���� �� ��������� #�#�#& �������� �
�� '����( #�#�##�

����������� 
���� �*'+�,-� ��������� ,���� !� 
	 ��� ���������� �� ������� #�%�#

��� 
	
�
�� ����� ��	��
�	� 𝜂 �	
 𝜉 ��� �������
 �� ���� 	������� 
��� 𝜂(⋅) ≡ 𝜂 ∈ ℝ �	


�,



������� �	 
����
�������

𝜉(⋅) ≡ 𝜉 ∈ ℝ� ����

𝜓(⋅, 𝜆) = 𝜓
(⋅, 𝜆) ���

(
𝑝𝜓

′)
(⋅, 𝜆) = (𝑝𝜓′)

(⋅, 𝜆), 𝜆 ∈ ℂ.

���� ��� �� ����	
 �

��� 
��
 
�� �������
 𝑎 �
 �� 
�� ����
������� ��
� ��� 𝜏 ��� 
��

𝑆 �
 � 
���������
 �������
��� �� 𝜏 ��
� 
�����
�� �������	 �����
���
� ��� 
��� ����
��������
�� 
	

�� {𝛾, 𝛿} �� (𝜏 − 𝜆)𝑢 = 0 ��� 
��� 𝜆 ∈ ℝ 
�
�
�	��� 𝑊 (𝛾, 𝛿) ≡ 1� �	
������� ����� ���  ����
�
��� ����! 
���� �
 � ���"�� 𝛼 ∈ [0, 𝜋) 
��� 
��
 
�� ������
�� 𝑆 �
 ��#�� �	

𝒟(𝑆) = {𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥) : 𝑊 (𝑓, cos𝛼 𝛾 + sin𝛼 𝛿)(𝑎) = 0} $��%��&

�� 𝑏 �
 ����
�����
' �� �	

𝒟(𝑆) = {𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥) : 𝑊 (𝑓, cos𝛼 𝛾 + sin𝛼 𝛿)(𝑎) = 𝑊 (𝑓,𝑤)(𝑏) = 0} $��%��&

�� 𝑏 �
 �� 
�� ����
������� ��
� 
��' ����� 𝑤 ∈ 𝒟(𝑇𝑚𝑎𝑥) 
�
�
(�
 $�����&�

)�
' ��������� 
� ������� ��%��' 𝜃 = 𝜃(⋅, ⋅) ��� 𝜑 = 𝜑(⋅, ⋅) �� 
�� 
���
���
 �� (𝜏−𝜆)𝑢 =
0' 𝜆 ∈ ℂ' 
�
�
�	���

𝑊 (𝜃(⋅, 𝜆), 𝛾)(𝑎) = cos𝛼, 𝑊 (𝜃(⋅, 𝜆), 𝛿)(𝑎) = sin𝛼,

𝑊 (𝜑(⋅, 𝜆), 𝛾)(𝑎) = − sin𝛼, 𝑊 (𝜑(⋅, 𝜆), 𝛿)(𝑎) = cos𝛼.
$��%�!&

*� ����� 
� 𝜃 ��� 𝜑 �
 
�� ��
�� 
���
���
� +�#���
�	' 𝜑(⋅, 𝜆) 
�
�
(�
 
�� �������	
�����
��� �� 𝑆 �
 𝑎' ���� 𝑊 (𝜑(⋅, 𝜆), cos 𝛼 𝛾 + sin𝛼 𝛿)(𝑎) = 0' ��� �#��	 𝜆 ∈ ℂ�

����������� 	
�
�
 ��� 	�
�� 

����
�
 𝜃 ��� 𝜑 ���� ��� �
��
���� ��
������
�

� 𝜃(⋅, 𝜆) ��� 𝜑(⋅, 𝜆) ��� �� 𝒟(𝑇𝑚𝑎𝑥) �� 𝑎 �
� ���� 𝜆 ∈ ℂ�

� �
� ��� 𝑥 ∈ (𝑎, 𝑏) ��� 𝜆 ∈ ℂ �� ����

𝜃(𝑥, 𝜆) = 𝜃
(
𝑥, 𝜆
)

��� 𝜑(𝑥, 𝜆) = 𝜑
(
𝑥, 𝜆
)
. $��%��&

� �
� ��� 𝜆 ∈ ℝ �� �
��
 ���� 𝜃(⋅, 𝜆) ��� 𝜑(⋅, 𝜆) ��� ������������

� �
� ��� 𝜆 ∈ ℂ∖ℝ �� �
��
 ���� 𝜃(⋅, 𝜆), (𝑝𝜃′)(⋅, 𝜆), 𝜑(⋅, 𝜆) ��� (𝑝𝜑′)(⋅, 𝜆) �
 �
� ����

��� ���

�

� �
� ���� 𝑥 ∈ (𝑎, 𝑏) �� ���� 𝜃(𝑥, ⋅), (𝑝𝜃′)(𝑥, ⋅), 𝜑(𝑥, ⋅), (𝑝𝜑′)(𝑥, ⋅) ∈ ℋ(ℂ)�

� �
� ��� 𝜆 ∈ ℂ �� ����

𝑊 (𝜃(⋅, 𝜆), 𝜑(⋅, 𝜆)) ≡ 1. $��%�%&

� �
� ��� 𝜆1, 𝜆2 ∈ ℂ �� ����

𝑊 (𝜑(⋅, 𝜆1), 𝜑(⋅, 𝜆2))(𝑎) = 0. $��%�,&

�,



���� �����	
� �
��	�

������

� ���� �� ���	
 ����� 𝑎 �� 	���
�� �� �� �� ��� ��
�����
��� �	���

� ���� �

���	���� ������� �
�
 �
��������� ������

� ���� ������� �
�
 ��
���	
� ����� �� ��	
��	���� �� ��� �
��� �� ����
�
 �����
����� ��  !""#$%&�

� '�� 𝜆 ∈ ℂ ∖ ℝ� (� 𝜑(⋅, 𝜆) �
 (𝑝𝜑′)(⋅, 𝜆) �	� 	�� )�
�* ��� �� �	� 𝑐 ∈ (𝑎, 𝑏)*
���� 𝜑(⋅, 𝜆)∣(𝑎,𝑐) ����� �� 	� ������������� +���� ������	��� 𝜆, �� ��� ����	�-����

�	��)	���� �� 𝜏 ∣(𝑎,𝑐) �
������ ���� ��� �����	
� ��������� �� 𝑆 	� 𝑎 	�� ���
.�
������ �
 ��� /��
	�� �����	
� ��������� 	� 𝑐� 0�����
* ��� �����
�
 ��
	�� ����	�-���� ���
	��
 �� 
�	� +���* ����*  1��22&* ����
�
 ���3,�
(� 
	� �� ���� ��
��	
�� ��	� 𝜃(⋅, 𝜆) 	�� (𝑝𝜃′)(⋅, 𝜆) �� ��� �	�� 	�� )�
���

� ���� �

���	���� ������� �
�
 ����
�
 ������

� ���� �� +4��3, ��  5!2�&* ������
* ��
��� ������� �
�
 ��� ��6�7�
 �������� +��3��,*
�
��������� ����4 	�� ��� �����	� ���������� +�����,�

� ���� �� +4���, ��  5!2�&�

□

������	 
���� + 5!2�&* ����
�
 8�� �������
 ���� 9�
	
7 8��,� ����� �� � �	�
��

��	�
��	 𝑚 : ℂ ∖ ℝ → ℂ ��
� 
�� ������
���

� 𝑚 �� ����������� �	 ℂ ∖ℝ� ���� 𝑚 ∈ ℋ(ℂ ∖ℝ)

� 𝑚
(
𝜆
)
= 𝑚(𝜆), 𝜆 ∈ ℂ ∖ ℝ

� ��� ����
��	 𝜓 = 𝜓(⋅, ⋅) �� (𝜏 − 𝜆)𝑢 = 0 ���	�� ��

𝜓(⋅, 𝜆) = 𝜃(⋅, 𝜆) + 𝑚(𝜆)𝜑(⋅, 𝜆) ��� 𝜆 ∈ ℂ ∖ ℝ
��
�����

𝜓(⋅, 𝜆) ∈ 𝐿2((𝑎, 𝑏); 𝑟), 𝜆 ∈ ℂ ∖ℝ,

�	� �	 ����
��	� �� 𝑏 �� �	 
�� ����
������� ���� ��� 𝜏 
���

𝑊 (𝜓(⋅, 𝜆), 𝑤)(𝑏) = 0, 𝜆 ∈ ℂ ∖ℝ,

���� 𝜓(⋅, 𝜆) ��
����� 
�� ���	���� ��	��
��	 �� 𝑆 �
 𝑏 ��� ����� 𝜆 ∈ ℂ ∖ℝ�

1� 
���
 �� ��� �������� 𝑚 	� ��� �����
	
���1��� 𝑚��������� 	�� �� 𝜓 	� ��� 1���
�������� +��
 𝑆,�

��	
�� 
����� ��� ��
������������ 𝑚���	�
��	 �� �	�
���� ��
����	�� �� 
�� ���


������
� �	 ������� ����� �	� ��	�� �� �� 
�� ���� ����
��	 𝜓 �������	� 
��
 �
 �� ��

�� ���� 𝜃(⋅, 𝜆) + 𝑚(𝜆)𝜑(⋅, 𝜆)� 𝜆 ∈ ℂ ∖ℝ ! "����� 
��
� ��� ����
���� 𝜆 ∈ ℂ ∖ℝ� 
����

�� �	�
��� ����
��	 𝜃(⋅, 𝜆) + 𝑚̃(𝜆)𝜑(⋅, 𝜆) ��
� 
��� ������
�� #�	��

𝑊 (𝜃(⋅, 𝜆) + 𝑚(𝜆)𝜑(⋅, 𝜆), 𝜃(⋅, 𝜆) + 𝑚̃(𝜆)𝜑(⋅, 𝜆)) ≡ 𝑚̃(𝜆) − 𝑚(𝜆),

�%



������� �	 
����
�������

�� ��� �����	
� �
�����
��� ������ 
�	
 𝑚(𝜆) ∕= 𝑚̃(𝜆) �� 	�� ���� �� 𝜃(⋅, 𝜆)+𝑚(𝜆)𝜑(⋅, 𝜆)
	�� 𝜃(⋅, 𝜆) + 𝑚̃(𝜆)𝜑(⋅, 𝜆) 	
� ����	
�� ����������
� ������
� �� 𝑏 �� �� 
�� ����
�����


�	��� ��� 
� ��
���	
� ����� 	�� ����
�� ������ 
�� 
�� ����
���� �	�� 
�  � ����	
��
��������
 	���
���! 
� 
�� ��"��
��� �� 	� �������
 �� 
�� ����
�����
 �	��� #� 𝑏 �� �� 
��

����
���
��� �	��� 
�� 
�� ����
���� 	
� ����	
�� ��������
  � ������� �	�� �
�����
���

�������

����������� 	
�
� ���	
��� 
�������� ����
 $� �	��

0 <

∫ 𝑏

𝑎

∣𝜓(𝑥, 𝜆)∣2𝑟(𝑥)𝑑𝑥 =
Im𝑚(𝜆)

Im𝜆
, 𝜆 ∈ ℂ ∖ ℝ.

����������� ����� ������� ���� 𝑚 �� � ����������  !�"����� #��� #��� #� ���� �  !�"����
𝑚 : ℂ ∖ ℝ → ℂ ����� ���$�⎧⎨⎩

(𝑖) 𝑚 �� ����������"

(𝑖𝑖) 𝑚
∣∣
ℂ+ : ℂ+ → ℂ+ ��% 𝑚

∣∣
ℂ− : ℂ− → ℂ−

(𝑖𝑖𝑖) 𝑚(𝜆) = 𝑚(𝜆), 𝜆 ∈ ℂ ∖ ℝ.

&� � ����������  !�"����� 𝑚 ��� �� ����$��� �������������� � ���  ����#��$  ��� �"��'
���� ��	
��� (�"���� �
� �� �	")
*��� &����%�+ &��� #���� ���� ������� �� ����"�� ��
�������!�� "��"�����$ ����������  !�"����� "�� ,�  �!�%�� #���� 𝐴,𝐵 ∈ ℝ #��� 𝐵 ≥ 0�

𝑚(𝜆) = 𝐴 + 𝐵𝜆 +

∫
ℝ

(
1

𝑡 − 𝜆
− 𝑡

1 + 𝑡2

)
𝑑𝜌(𝑡), 𝜆 ∈ ℂ ∖ ℝ. �������

-����� 𝜌 �� � !��.!��� %��������% ����� ����!�� �� ℝ ����� ���$∫
ℝ

1

1 + 𝑡2
𝑑𝜌(𝑡) < ∞. �������

/� #��� �� "��� 𝜌 ��� ���"���� ����!�� � ��� 0��"������'/��� 𝑚' !�"���� �� �%!� ��
��� ��+� �������� ��� ���"���� ����!��  �� 𝑆�


������ 	
�
� ���	
��� 0������ ���� ��$����� #��� 
�������� ���1� 2���� �����

%�
 𝑓 ∈ 𝐿2((𝑎, 𝑏); 𝑟)  � 	 ����
��� ��
� ����	�
 �����

 [𝛼, 𝛽] ⊆ (𝑎, 𝑏)� &�"�� 	 ����
���

𝐹  �

𝐹 (𝑡) =

∫ 𝛽

𝛼

𝑓(𝑥)𝜑(𝑥, 𝑡)𝑟(𝑥)𝑑𝑥, 𝑡 ∈ ℝ. �����*�

���� 𝐹 ∈ 𝐿2(ℝ; 𝜌) ��
� ∥𝐹∥𝐿2(ℝ;𝜌) = ∥𝑓∥𝐿2((𝑎,𝑏);𝑟) 	�� 
�� �	����! 𝑈0 : 𝐷 →
𝐿2(ℝ; 𝜌) : 𝑓 �→ 𝐹 � ���
� 𝐷 = {𝑓 ∈ 𝐿2((𝑎, 𝑏); 𝑟) : 𝑓 �	� ����	�
 �����

 �� (𝑎, 𝑏)}�
���'���� �(
���� 
� 	 ���
	
� �	����! 𝑈 : 𝐿2((𝑎, 𝑏); 𝑟) → 𝐿2(ℝ; 𝜌)�

������ ��� �����	 
 ���
�
���
 �������� 
	 
 ��
�������� �������� 𝑚 : ℂ+ → ℂ+� �������� ��

	������ 𝑚(𝜆) = 𝑚(𝜆) ��� 𝜆 ∈ ℂ− ��� ���
��	 
 ���
�
���
 �������� 
�������� �� ��� ���
�����

��



���� �����	
� �
��	�

��� 𝐺 ∈ 𝐿2(ℝ; 𝜌) �� � ���	�
�� �
�
 	����	� ������� [𝛼′, 𝛽′] ⊆ ℝ� ����� � ���	�
�� 𝑔
��

𝑔(𝑥) =

∫ 𝛽′

𝛼′

𝐺(𝑡)𝜑(𝑥, 𝑡)𝑑𝜌(𝑡), 𝑥 ∈ (𝑎, 𝑏).

�
�� 𝑔 ∈ 𝐿2((𝑎, 𝑏); 𝑟) �
�
 ∥𝑔∥𝐿2((𝑎,𝑏);𝑟) = ∥𝐺∥𝐿2(ℝ;𝜌) ��� �
� ����
�� 𝑉0 : 𝐷′ →
𝐿2((𝑎, 𝑏); 𝑟) : 𝐺 �→ 𝑔� �
��� 𝐷′ = {𝐺 ∈ 𝐿2(ℝ; 𝜌) : 𝐺 
�� 	����	� ������� 
� ℝ}�
��
����� ������� �� � ��
���� ����
�� 𝑉 : 𝐿2(ℝ; 𝜌) → 𝐿2((𝑎, 𝑏); 𝑟)�

�
� ����
�� 𝑉 
� �
� 
������ �� �
� ����
�� 𝑈 ���� �
	� ������ ��� �
� �������� 𝑆

� ��
���
�� ���
������ �� �
� �������� �� ����
��
	��
���� 𝑀id 
� 𝐿2(ℝ; 𝜌) �
� 𝑈 � 
���

𝑈(𝐿2((𝑎, 𝑏); 𝑟)) = 𝒟(𝑀id) ���

𝑆 = 𝑉 𝑀id𝑈.

 � ����
	����� �� 
���

𝜎(𝑆) = supp 𝜌. ��������

�� 	�
�	 �� �
� ������� 𝑈 �� �
� ����	������ ���	��	 �	���
�	� ��� 
�	 𝑓 ∈ 𝐿2((𝑎, 𝑏); 𝑟)
�� 𝑈𝑓 �� �
� ����	������ ���	��	 �	���
�	� �
 𝑓 � �
� ������� 𝑉 �� 	�
�		�� �� �� �
�

����	������ ����	�� ���	��	 �	���
�	��

������ ��	�
�

! "��� �
�� 
� �
� ����� 	������	�
�� �
� ���
	 �����
��� 𝜃 ��� 𝜑 ��� 	�����������

�
� �
�	
����
!#��� 𝑚!���	�
�� 𝑚� �
� #��� �����
�� 𝜓� �
� ���	���� ������� 𝜌
��� �
� �������
$�� %���
�� ��������� 𝑈 ������ �� �
� 	
�
	� �� �
� ���� �����!
������ ������ {𝛾, 𝛿}�

! &�� ����� �
'� �� 
���� ��	� � (� �
)�����
�� �������
�� 𝜏 �
�
 � �
�
�!	
�	��

�����
�� 𝑎 ��� ���� ������*�
�� ����
$��
�� 𝑆 �
�
 ��������� �������� 	���
�
���

��� ����� � ��
��� 	������	�
��� 
��� �� �� ���� �� ��
����� ������
�� �
��� ��*�	���

�
��� ����� �� �� �� �	����
	��� ��� �� ��������� �����
�� �
� 	������	�
�� 
�

����� �� �	

��� �

�� 
������� �� 	�� �� ����� ����� 
� 
� ��	
 � ������ �
��

𝜌 ��� 𝑈 ��

	
 ��� �
� ��*�	�� �� ���
���� 
�������� ��� ������
��� �� �� � ����

	�������+

,
��� 𝜏 ��� 𝑆� 	
���� {𝛾, 𝛿} �� ���� ����������� ������ �� (𝜏 − 𝜆0)𝑢 = 0 ���!


���
�� 𝑊 (𝛾, 𝛿) ≡ 1� �
��� 𝜆0 ∈ ℝ 
� � ��
��
 ����� ���� ������ ������ 𝜆0 = 0�
��� ��	
 �
�� 𝛼 = 0 
� ������� �� �������� �

� 
� ������ ����
����� ��� 
� 
�

����
�
�������� �� ��� �
�� ��� ��
�� ����������� ������ {𝛾, 𝛿} �� (𝜏 − 𝜆0)𝑢 = 0

�� �
� ���� �������
�� 
� ��� ���� 
� 
� 
� �� �
� ����

𝛾 = 𝑒𝛾, 𝛿 =
1

𝑒
𝛿 + 𝑓𝛾, 𝑒, 𝑓 ∈ ℝ, 𝑒 ∕= 0.

��𝑀id ������� ��� ���	
��	 �� �
�������
���� ���� ��� �
������ id : 𝑡 �→ 𝑡� ���� 𝑀id : 𝐷(𝑀id) →
𝐿2(ℝ; 𝜌) : 𝐺 �→ (𝑡 �→ 𝑡𝐺(𝑡))� ���	� 𝐷(𝑀id) = {𝐺 ∈ 𝐿2(ℝ; 𝜌) : (𝑡 �→ 𝑡𝐺(𝑡)) ∈ 𝐿2(ℝ; 𝜌)}�

������� 
�� 	�
� �
��
����
� ������ {𝛾, 𝛿} �� (𝜏−𝜆0)𝑢 = 0 ����𝑊 (𝛾, 𝛿) ≡ 1 
�� 𝛼 ∈ [0, 𝜋) �
�� ��
�

��� ��
��
	� ��������� �� 𝑆 
� 𝑎 �� ����� �� 𝑊 (𝑓, cos𝛼 𝛾 + sin𝛼 𝛿)(𝑎) = 0� ��� 	�
� �
��
����
�

��



������� �	 
����
�������

���� �� ��	 
����
�
���� ���
���� �
�� {𝛾, 𝛿} ��	��� ��	 ����
 ��������� 𝜃 ��� 𝜑�
��	 ���
���
����	�� 𝑚����
���� 𝑚� ��	 �	�� �������� 𝜓� ��	 ��	
�
�� �	���
	 𝜌
��� ��	 �	�	
����	� ���
�	
 �
�����
� 𝑈 � �� �� 	��� �� 
�	
� ���� ��	 
�

	��������
���	
�� ������	� �
�� ��	 
����
�
���� ���
���� �
�� {𝛾, 𝛿} �
	 ���	� ��

𝜃 =
1

𝑒
𝜃 − 𝑓𝜑, 𝜑̃ = 𝑒𝜑, 𝑚̃(⋅) =

1

𝑒2
𝑚(⋅) +

1

𝑒
𝑓, 𝜌 =

1

𝑒2
𝜌 ��� 𝑈̃ = 𝑒𝑈.

� �� �	 ������������ �����	 ��	 	������� 𝑎 �� �	 
	����
� �	 �
	 ���	 �� 	�������	
��	 �	�	��	�
	 �� ��	 
���
	 �� ��	 
	�� ������	���� ����	� {𝛾, 𝛿} ��� ���� ��
��� �	�� �	�	
���	 𝜃� 𝜑� 𝑚� 𝜓� 𝜌 ��� 𝑈 !

"� #�
����
� $%&%' ��	
	 �� � ��� �	 𝛼 ∈ [0, 𝜋) ��
� ���� ��	 ������
� 
��������
�� 𝑆 �� 𝑎 �� ���	� ��

𝑓(𝑎) cos𝛼 + (𝑝𝑓 ′)(𝑎) sin𝛼 = 0.

��� �	 ��� ��� �	�� �	�	
���	 ��	 ����
 ��������� 𝜃 ��� 𝜑 �� ��	 ������� 
�����
����� (
����
	 #�
����
� $%$%$)*

𝜃(𝑎, 𝜆) = cos𝛼, (𝑝𝜃′)(𝑎, 𝜆) = sin𝛼,

𝜑(𝑎, 𝜆) = − sin𝛼, (𝑝𝜑′)(𝑎, 𝜆) = cos𝛼,
��������

���
� �� ��
� �	��� ������� 	��	 ���� 
������� {𝛾, 𝛿} �� �� +
��������� $%&%&%

��	 
��	 �� � 
	����
 	������� 𝑎 �� ��	 
�����
�� ��	 ��
 ��	 ����	 
����
�
�����
���
� �� ���� ���	� �	��� ���� �� ��	 ���	
���
	% ��	
	 ��	 
����
�
���� �� 𝑚� 𝜓�
𝜌 ��� 𝑈 ������ ���
�� �
�� ��	 ����
 ��������� �	�	
���	� �� �������� (��������
���� ���	 ����
 ���	
������ 
��
	
���� �����*% ,��� �� ���� ��	���� ��	�	�	

�	 	�
����	
 � -. ��/	
	����� 	0�
	����� ���
� �� 
	����
 �� 𝑎 ��� ��	�� �� ��	
����
 ��������� �
 ��	 ���
���
����	�� 𝑚����
����� ��	 �	�� ��������� 	�
% ��
� �	��������� 
	��������� ���� �	��
��	� ������
� 
���������� �	 �	�� ��	 ����

��������� �	�	
���	� �� �������� �
 ��	 ���	
�� 
����
�
�	� �
�� ��	�	% 1��	�	
�
���	 ���� �� ���� �� ��	 ���	
���
	 ��	 	������� 𝑎 �� 	�	� �����	� �� �	 2���	
(
����
	 3	��
� $%$%&* � �� ���������� ���� �	 
	
������ �� ��� �		�%

������ ��	��
� ��	 ���� ���������� �� ��	 -. ��/	
	����� 	0�
	����� 𝜏 ��
 ��	
�	��������� �� ��	 ����	 
����
�
���� �� ���� ��	 	������� 𝑎 �� �� ��	 ������
�

�	 
��	%
4���
�
�������� ��	 
����
�
���� ��
�� ����������� �� ��	 	������� 𝑏 �� �����	� �� �	
�� ��	 ������
�

�	 
��	 ��
 𝜏 ����	��% 1��	�	
� �� ���� 
��	 ��	 ��� �� ���	 ��	 ������

𝜓(⋅, 𝜆) = 𝜃(⋅, 𝜆) − 𝑚(𝜆)𝜑(⋅, 𝜆)

��
 ��	 �	�� �������� �� �
�	
 �� ������ 𝑚 �	��� � �	�������� ���
���� (
����
	
5�	�)67� -	
���� 6%8� �% 9$$*%

������ {𝛾, 𝛿} ����	 
�

{𝛾, 𝛿} =

{{
cos𝛼 𝛾 + sin𝛼 𝛿, 1

cos𝛼
𝛿
}

�� 𝛼 ∕= 𝜋
2

{𝛿,−𝛾} �� 𝛼 = 𝜋
2

�
� ��� ��
���� �����������

��



���� �����	
� �
��	�

����� � �� 	�
�������
 ���������� 𝜏 ���� � 
���������
� ��	����� 𝑎 ��	 ���� ��
��	�����
���
������� 𝑆 ���� ��������	 ����	��� ���	������� ��� ��

����� ���������� ��
	 ��� ���
����� ��
������� ��� ����������� ��
 𝑚���������� ���! �� ����������	 ������ ��	�����
	���
� �� ��� ������ �� ���
 ���	������
 ������ {𝛾, 𝛿} ��� ������������ ��� ������	
����!

��� ��

����� ��� 
����� ��

 �� ������
 ��� "������ #!

����� ������� ��� 𝑐 ∈ (𝑎, 𝑏) ��� 𝑓 ∈ 𝐿2((𝑎, 𝑏); 𝑟) �� � �	�
���� 
�������� �	����� ��

(𝑎, 𝑐] ������ �
��������� ���� ��� ����������� ��	���� ��������� 𝑈𝑓 �� 𝑓 �� ��
�� ��

𝑈𝑓(𝑡) =

∫ 𝑐

𝑎

𝜑(𝑥, 𝑡)𝑓(𝑥)𝑟(𝑥)𝑑𝑥, 𝑡 ∈ ℝ. $%!&!%#'

�	

�� (���� �� �

 ���� ���� ��� �������
 �� ����
���
� ���������� ��� ����� 𝑡 ∈ ℝ

����� 𝑓 ∈ 𝐿2((𝑎, 𝑏); 𝑟) ��	 𝜑(⋅, 𝑡) 
��� �� 𝒟(𝑇𝑚𝑎𝑥) �� 𝑎 $���� ��� �

 𝑡 ∈ ℂ'! )�� �����	��
��� ��*����� �� ��������� 𝑓𝑛 = �[𝛼𝑛,𝑐]𝑓 � 𝑛 ∈ ℕ� ����� (𝛼𝑛)𝑛∈ℕ �� � ��*����� �� ���
�
���������� 𝛼𝑛 ∈ (𝑎, 𝑏)� 𝑛 ∈ ℕ� ��	 lim𝑛∈ℕ 𝛼𝑛 = 𝑎! ����� �� ������� lim𝑛∈ℕ 𝑓𝑛 = 𝑓 ��
𝐿2((𝑎, 𝑏); 𝑟) ��	 ����� lim𝑛∈ℕ 𝑈𝑓𝑛 = 𝑈𝑓 �� 𝐿2(ℝ; 𝜌)! +������� �����

𝑈𝑓𝑛(𝑡) =

∫ 𝑐

𝛼𝑛

𝜑(𝑥, 𝑡)𝑓(𝑥)𝑟(𝑥)𝑑𝑥, 𝑡 ∈ ℝ,

�� ��� ����� ��� ����� 𝑡 ∈ ℝ� 𝑈𝑓𝑛(𝑡) ��������� ��
∫ 𝑐
𝑎

𝜑(𝑥, 𝑡)𝑓(𝑥)𝑟(𝑥)𝑑𝑥 �� 𝑛 → ∞ ��	
����� ���� 𝑈𝑓 �� ����� �� $%!&!%#'! □

����� ������ $,-./&0� ����� 1!2'� ��� 𝑐 ∈ (𝑎, 𝑏) ��� 𝑓 ∈ 𝐿2((𝑎, 𝑏); 𝑟) �� ����������

����

𝑧 �→
∫ 𝑐

𝑎

𝜑(𝑥, 𝑧)𝑓(𝑥)𝑟(𝑥)𝑑𝑥, 𝑧 ∈ ℂ,

�� �� ������ �	�
����� ���� �� ℋ(ℂ)� � 
������������ ��������� ����� ��� ��� ����


���	���� 𝜃�

(�� ��� ����� �� ��� ������� ������� 2!#!% �� ������� 2!# �� ��

 ���	 ��� ��

�����

����!

����� �����
 $,-./&0� ����� %3!%'� ��� ����������� ��	���� ��������� �� ��� ����

���	���� 𝜓(⋅, 𝜆) �� ��
��� ��� ��� 𝜆 ∈ ℂ ∖ℝ� ��

𝑈𝜓(⋅, 𝜆)(𝑡) =
1

𝑡 − 𝜆
, 𝑡 ∈ ℝ.

(����������� �� ��

 ���	 ���������� �����
�� ��� ��� ����� ��
����� 𝜑!

#%



������� �	 
����
�������

����������� 	
�
	� ��������	 
���

��� ����
 ���� ��� ��	
 𝜆 ∈ ℂ� 𝑢(⋅, 𝜆) �� �

��
����� ��

−(𝑝𝑦′)′ + 𝑞𝑦 = 𝜆𝑟𝑦 �� (𝑎, 𝑏) ⊆ ℝ,

�
���� �� ������� 𝑝� 𝑞 ��� 𝑟 ������� �������� ���� ���������

�� 𝑎 �� � ����� ��� ����
��
��������� ������ �
�� 𝑢(𝑎, ⋅)/(𝑝𝑢′)(𝑎, ⋅) �������	��� �� ℂ∖ℝ� �� � �����
���� ���	�����

�
��� ��� ��� 	�������� 𝐴,𝐵 ∈ ℂ ��� ��� 𝑥 ∈ (𝑎, 𝑏) ��� �
�	
 𝐴𝑢(𝑥, 𝜆)+𝐵(𝑝𝑢′)(𝑥, 𝜆)
���� ��� �����
 ������	�

� �� 𝜆� �� 
���

𝐴𝑢(𝑥, 𝜆) + 𝐵(𝑝𝑢′)(𝑥, 𝜆) = 𝑢(𝑎, 𝜆) exp

{∫ 𝑥

𝑎

√
−𝜆/(𝑝𝑟) 𝑟𝑑𝑡 + 𝑜

(√
∣𝜆∣
)}

,

��
��� 𝑢(𝑎, 𝜆) �����
�� ��� �

 𝜆� �� �
�	
 	��� �
� ���� ��	��� �� ���
�	�� �� (𝑝𝑢′)(𝑎, 𝜆)�
�
� �������� 
�
�� �� 𝜆 → ∞ �� ��� �������
 ��	���� ��� �
� ����� �� �
� � ������ ��


�	�

� ������� �� 𝑥 ∈ (𝑎, 𝑏)�


�������� 	
�
	�
 !�� ��	
 𝑥̂, 𝑥̃ ∈ (𝑎, 𝑏) �
� ����	 ��
����� 𝜑 ��������

lim
𝑡→∞

√
2

𝑡
ln

∣∣∣∣𝜑(𝑥̃, i𝑡)

𝜑(𝑥̂, i𝑡)

∣∣∣∣ = ∫ 𝑥̃

𝑥̂

√
𝑟

∣𝑝∣𝑑𝑥. ��������

�����
 ����� �� ������� �� ���� ���� 𝑥̂ = 𝑥̃� ��
����� 
�� 𝑥̃ > 𝑥̂ ������  ��!��� ���
��������� ��� ���� "���	 ��� ��������� ��� ��� "��� 𝑥̃ < 𝑥̂ �##�$����
� ��

��� %� ��!������
��� ��
�� �� 𝑥̂ ��$ 𝑥̃��

&� ��$�� �� �  
� '�� ������� �����(	 �� ��!� �� ���� ���� 𝜑(𝑥̂, ⋅)/(𝑝𝜑′)(𝑥̂, ⋅) �������"��$
�� ℂ ∖ ℝ� �� � )�!��
���� �*�"����� �� ���� ��$ "����$�� ��� �*�"����

𝜓(⋅, 𝜆) : 𝑥 �→ 𝜑(𝑥, 𝜆)

(𝑝𝜑′)(𝑥̂, 𝜆)
, 𝜆 ∈ ℂ ∖ℝ,

�� (𝑎, 𝑥)� )��� ���� 𝜓 �� ��

+$�,��$	 ���� ��� $���#������ �� ��� ���"���� ��!�� �-*�
�
.���	 $*� �� '�� ������� ����(� /��"� 𝜓 �����,�� ��� %�*�$��� "��$����� �� 𝑆 �� 𝑎 ��$
(𝑝𝜓′)(𝑥̂, 𝜆) = 1	 �� �-*�
� ��� ���
 ��
*���� �� ��� ��
��$0���� ���
�.����� ����"� ��


%� �������$ �� �� 𝑆� �� 𝜏 ∣(𝑎,𝑥̂) ���� ��� ��#� %�*�$��� "��$����� �� 𝑆 �� 𝑎 ��$ ���
)�*#��� %�*�$��� "��$����� �� 𝑥̂	 ����� �� "����$�� 𝑥̂ �� ��� ������
  ���� �"�# ���
1�#��2 �����3�� 4��"�	

𝜓(𝑥, 𝜆) = 𝜃(𝑥, 𝜆) − 𝑚̂(𝜆)𝜑(𝑥, 𝜆),

����� 𝑚̂ �� ��� ���"�#����+���
 𝑚+�*�"���� ��� 𝑆 ��$ 𝜑 ��$ 𝜃 ��� ��� %���" ��
*�����
�� 𝑆	 ���������� ��� ������
 "��$������

𝜃(𝑥̂, 𝜆) = 0, (𝑝𝜃′)(𝑥̂, 𝜆) = 1,

𝜑̂(𝑥̂, 𝜆) = −1, (𝑝𝜑′)(𝑥̂, 𝜆) = 0,

"�# ��� 1�#��2 ������

��



���� �����	
� �
��	�

���� ������	
�� 𝜓(𝑥̂, 𝜆) = 𝑚̂(𝜆) �
� ��
��

𝜓(𝑥̂, ⋅) =
𝜑(𝑥̂, ⋅)

(𝑝𝜑′)(𝑥̂, ⋅)
∣∣∣∣
ℂ∖ℝ

�	 �
���� � ����

�

� ��
����
�

�
���
�� 𝜑(𝑥̂, ⋅) �
� 𝜑(𝑥̃, ⋅) �� 
�� ��
�	� ���
����

� ��� �����	����
 ����� ���� �

�
���� ���
 ����	� �
� ���	 �� �����	����
 ������ �
� ���	 ����� 𝑎 = 𝑥̂� 𝑥 = 𝑥̃� 𝐴 = 1�
𝐵 = 0 �
� 𝜆 = i𝑡� 𝑡 > 0�

𝜑(𝑥̃, i𝑡) = 𝜑(𝑥̂, i𝑡) exp

{∫ 𝑥̃

𝑥

√
−i𝑡/(𝑝𝑟) 𝑟𝑑𝑥 + 𝑜

(√
𝑡
)}

�	 𝑡 → ∞.

 ��	 
���	 ��

ln

∣∣∣∣𝜑(𝑥̃, i𝑡)

𝜑(𝑥̂, i𝑡)

∣∣∣∣ =
√

𝑡

2

∫ 𝑥̃

𝑥̂

√
𝑟

∣𝑝∣𝑑𝑥 + 𝑜
(√

𝑡
)

�	 𝑡 → ∞,

����� 	���	 ��� �		�����
� □

!� ��
�
��� ���	 	�����
 ���� � �����	����
 ����� ��

 �� �		�
���
 �
 "�����
 #�$ ����

��� �	 �
	� �
����	��
� �
 ��	 ��
�

����������� 	
�
	�
 ��� ���� 𝑥 ∈ (𝑎, 𝑏) ��� �	�
�� ��	��
�	


𝜃(𝑥, ⋅), (𝑝𝜃′)(𝑥, ⋅), 𝜑(𝑥, ⋅) �	� (𝑝𝜑′)(𝑥, ⋅) ��������

����	� �� ��� ������
��� ���

���

����

 !� �
����� %
�� ���& �����	����
 ����� ���� ���	� ��
����
	 ��� �
���� �
�

����� ��� �
��& �

� ��� ��� ��
����
 𝜑(𝑥, ⋅) ����� 𝑥 ∈ (𝑎, 𝑏) �	 ����������  �� �
��&
��� ��� ����� ��
����
	 &�� �� ������ 	�&�
��
��

'����	� �� �������� ���� 𝑊 (𝜃(⋅, 𝜆), 𝜑(⋅, 𝜆)) ≡ 1� 𝜆 ∈ ℂ� �� ����

1

𝜑(𝑥, 𝜆)2
=

𝜃(𝑥, 𝜆)

𝜑(𝑥, 𝜆)

(
(𝑝𝜑′)(𝑥, 𝜆)

𝜑(𝑥, 𝜆)
− (𝑝𝜃′)(𝑥, 𝜆)

𝜃(𝑥, 𝜆)

)
, 𝜆 ∈ ℂ ∖ ℝ, ��������

����� �

 �������
	 ��� ��

(��)
�� ��� �� �����	����
 ������ *
 ��� ����� �� ����

���

������ �� ���� 	��
 ����

𝜆 �→ 𝜑(𝑥, 𝜆)

(𝑝𝜑′)(𝑥, 𝜆)
, 𝜆 ∈ ℂ ∖ ℝ,

���� ������ ���	��
� 𝑓 ���
�
� �
 ��� �������
�� 	���� 𝒞 ���� �������� ��	��
� ����� �� �� �� 
� �� 
�������
�! � ��" �����#�� ∫

ℝ

ln+ ∣𝑓(𝜆)∣

1 + 𝜆2
𝑑𝜆 < ∞,

����� ln+ �� ��� �	����
� ���� 	� ��� 
������ �	�������� ���� ln+(𝑥) = max{ln 𝑥, 0}� �
 �����������

��� ����� 𝒞 �	
���
� ��� �
���� ��
���	
� 	� ���	
�
���� 	���� ���� ���
 	
��

��



������� �	 
����
�������

�� � ���������� 	
����
�� ���������� 
�� ��� ��
� ����

𝜆 �→ 𝜃(𝑥, 𝜆)

(𝑝𝜃′)(𝑥, 𝜆)
, 𝜆 ∈ ℂ ∖ ℝ,

�� � ���������� 	
����
�� ����� ��� ������
��� 
	 � ���������� 	
����
� �
�������� ��

−1 �� � ���������� 	
����
� �

� �� ��	�� ���� ��� ���
�� ��� ��� ����� 	�����
� 
� ���
���������� ���� 
	 �������� ��� ���������� 	
����
�� 
� �
 �����

�
�� ��� 	
����
�

𝜓(⋅, 𝜆) : 𝑡 �→ 𝜃(𝑡, 𝜆) +

(
− 𝜃(𝑥, 𝜆)

𝜑(𝑥, 𝜆)

)
𝜑(𝑡, 𝜆), 𝑡 ∈ (𝑎, 𝑥), 𝜆 ∈ ℂ ∖ℝ,

��
��� ���  ��� �
�
��
� 
	 ��� ���	��!
��� �����"���
� 
	 𝜏 ∣(𝑎,𝑥) ���� ��� �

�����
�
�����
� 
	 𝑆 �� 𝑎 ��� ��� #�������� �

����� �
�����
� �� 𝑥 ��
�� ���� 
���� ����
�� ��� ��

	 
	 $
�
����� ������ �� �
������ 𝑎 �� ��� ������� �
��� 	
� ��� �
����
���
�

	 ��� ����� �
�
��
���� ��� �� ��	�� ���� ��� %��� 	�����
� 
� ��� ���������� ���� 
	
�������� �� � ���������� 	
����
� 
� �
 ���� �

�

 � ����� ���� ��� ���������� 	
����
� 𝑚 �����%�� �� �������� 
	 ��� &���

∣ ± 𝑚(𝜆)∣ ≤ 𝐶
1 + ∣𝜆∣2
∣ Im𝜆∣ ≤ exp

(
𝑀

1 +
√∣𝜆∣

4
√

∣ Im𝜆∣

)
, 𝜆 ∈ ℂ ∖ℝ,

	
� �
�� �
������� 𝐶,𝑀 ∈ ℝ+� '�� %��� ����
����� 	
��
�� 	�
� ��� ������������
�

�����(�) *���
�� 
	� 	
� 𝑡 ∈ ℝ ��� 𝜆 ∈ ℂ ∖ ℝ�∣∣∣∣1 + 𝜆𝑡

𝑡 − 𝜆

∣∣∣∣ ≤ 1

∣𝑡 − 𝜆∣ + ∣𝜆∣ ∣𝑡∣
∣𝑡 − 𝜆∣ ≤

1

∣ Im 𝜆∣ + ∣𝜆∣
(
1 +

∣𝜆∣
∣𝑡 − 𝜆∣

)
≤ ∣𝜆∣+ 1 + ∣𝜆∣2

∣ Im𝜆∣ ,

�� ����

∣𝑚(𝜆)∣ =
∣∣∣∣𝐴 + 𝐵𝜆 +

∫
ℝ

(
1

𝑡 − 𝜆
− 𝑡

1 + 𝑡2

)
𝑑𝜌(𝑡)

∣∣∣∣
≤ ∣𝐴∣ + 𝐵∣𝜆∣+

∫
ℝ

∣∣∣∣ 1 + 𝜆𝑡

(𝑡 − 𝜆)(1 + 𝑡2)

∣∣∣∣ 𝑑𝜌(𝑡)

≤ ∣𝐴∣ + 𝐵∣𝜆∣+
(
∣𝜆∣ + 1 + ∣𝜆∣2

∣ Im𝜆∣
)∫

ℝ

1

1 + 𝑡2
𝑑𝜌(𝑡)

≤ 𝐶
1 + ∣𝜆∣2
∣ Im𝜆∣ ,

����� 𝐶 = ∣𝐴∣ + 𝐵 + 2𝐶 ���� 𝐶 =
∫
ℝ
1/(1 + 𝑡2)𝑑𝜌(𝑡) < ∞ �
� �
 �����+��

'�� ���
�� 
�� ������ 	
��
�� 	�
� ��� ���������� ����
����� 𝑥 ≤ exp(2 4
√

𝑥) 	
� 𝑥 ≥ 0)

𝐶
1 + ∣𝜆∣2
∣ Im𝜆∣ ≤ exp

(
2

4
√

𝐶
4
√

1 + ∣𝜆∣2
4
√∣ Im𝜆∣

)
≤ exp

(
2

4
√

𝐶
1 +
√

∣𝜆∣
4
√∣ Im𝜆∣

)
, 𝜆 ∈ ℂ ∖ℝ.

$
����
������ 𝜑(𝑥, ⋅) �����%��∣∣∣∣ 1

𝜑(𝑥, 𝜆)2

∣∣∣∣ ≤ 2 exp

(
2𝑀̃

1 +
√

∣𝜆∣
4
√

∣ Im 𝜆∣

)
, 𝜆 ∈ ℂ ∖ ℝ,

,-



���� �����	
� �
��	�

���

∣𝜑(𝑥, 𝜆)∣ ≥ 1√
2

exp

(
−𝑀̃

1 +
√∣𝜆∣

4
√∣ Im𝜆∣

)
, 𝜆 ∈ ℂ ∖ℝ,

��� ���	 𝑀̃ ∈ ℝ+
 ��� � ��	��	� 
� �����	� ��		 ��	����
 �	����� ����
 ��	��	� ��
��� �	� ���� 𝜑(𝑥, ⋅) 
	 ��!� �� ��	 "���#��!�� � ���� □

������ ��	��
� �� ��� ���� 	
 � ���
��� ����	��� 𝑎 ������ ��� ����� �	�
��	�� 𝜃 ���
𝜑 ��� ����� �� ��� �	�
��	�� 	
 ��� ��������� ������� ���
� ��	���� (𝜏 − 𝜆)𝑢 = 0 �	������
���� �$�%�$$�� �	����� ������ ������� ����� �� �� ���������� ��		
 ���� ��	���� ����
��� ������ 

����	�� �� �$�%�$�� ��� 	
 � �	������� 	���� �� �	�� 1/2 ����� ����� !"��#�$�
%��	��� &���'��

�%





������� �

	

��
���� �� ������
 �����


�� ���� ���	�
� �
 �
���� ��
 �
����
� 
� �
���
� ���� 𝜏 = 𝜏(𝑝, 𝑞, 𝑟) �� � �� ���
�
�����

�	�
���
� �
��
� 
� (𝑎, 𝑏) ⊆ ℝ ��
�
 𝑎 �� �� ��
 �����������
 ���
 ��� 𝑆 � �
�����
���
�
�������
� ���� �
	����
� �
����� �
�����
��� ! 𝜃 ��� 𝜑 �
 �
�
�
 ��
 ����� �
���
��
��" � 𝜌 ��
 �	
����� �
����
 ��� � 𝑈 : 𝐿2((𝑎, 𝑏); 𝑟) → 𝐿2(ℝ; 𝜌) ��
 �
��
�	
����#
#
�
�����
� $
���
� ������
�� �
�������
� �� �� �
���
� ����

��� ������	
��� 
���
�� ��������� ��� 
�� �������
�� ��

�� ������� ������

$
� 𝑐 ∈ (𝑎, 𝑏) � 𝐿2((𝑎, 𝑐); 𝑟) �
 �
�
�
 ��
 ���
�� ����	��
 
� 𝐿2((𝑎, 𝑏); 𝑟) �
�������#

� ��� ������
�� %�������# 
�����
 
� (𝑎, 𝑐] ���
�� 
%
� ��
�
 ��� � (⋅, ⋅)𝐿2((𝑎,𝑐);𝑟) ��

�����
� ���
� 	�
���� &
'�����# (⋅, ⋅)𝐿2((𝑎,𝑏);𝑟)(� )�
��� " ���� �� � ��
�
� ����	��
 �����
�� ��
�
������� ��
�
�	� �
 𝐿2((𝑎, 𝑐); 𝑟∣(𝑎,𝑐))� $
� 𝑓 ∈ 𝐿2((𝑎, 𝑐); 𝑟) ��
 #
�
�����
�
$
���
� ������
�� 𝑈𝑓 
� 𝑓 �� #�%
� � 

𝑈𝑓(𝑡) =

∫ 𝑐

𝑎

𝜑(𝑥, 𝑡)𝑓(𝑥)𝑟(𝑥)𝑑𝑥, 𝑡 ∈ ℝ,

�
����
�
� �� �� 
�
�
�� 
� 𝐿2(ℝ; 𝜌)" �
�	��
 �
��� �������

*
�" ��
 �
 �
��� �����+" �
 �� ���
 �
����
� � �
� 
��� ��
� 𝑐 ∈ (𝑎, 𝑏) � ��
 ���
��
������
�����
� 𝑈𝑐 : 𝐿2((𝑎, 𝑏); 𝑟) → ℋ(ℂ) : 𝑓 �→ 𝑈𝑐𝑓 ���� 𝑈𝑐𝑓 #�%
� � 

𝑈𝑐𝑓(𝑧) =

∫ 𝑐

𝑎

𝜑(𝑥, 𝑧)𝑓(𝑥)𝑟(𝑥)𝑑𝑥, 𝑧 ∈ ℂ. &+����(

,�%�
��� " 𝑈𝑐𝑓 �� �� &������� �������( 
����
 �
��������
� 
� 𝑈𝑓 " ��
� 𝑈𝑐𝑓
∣∣
ℝ

= 𝑈𝑓 " �
�
𝑓 ∈ 𝐿2((𝑎, 𝑐); 𝑟)� -�
�
�
�
" �
 ��%


𝑈
∣∣
𝐿2((𝑎,𝑐);𝑟)

= (𝜚 ∘ 𝑈𝑐)
∣∣
𝐿2((𝑎,𝑐);𝑟)

, &+���+(

��
�
 𝜚 �� �
��������# �
 ℝ� )�
��� " �
 ��%
 𝑈𝑐𝑓 = 𝑈𝑐𝑓 �
� 𝑓 ∈ 𝐿2((𝑎, 𝑐); 𝑟)" 𝑐, 𝑐 ∈ (𝑎, 𝑏)
��� 𝑐 < 𝑐�
*
�
 ���� 𝑈𝑐𝑓 �� �
� �
�
������ ��
 
�� 
����
 �
��������
� 
� 𝑈𝑓 &�
����
�
� �� ��

�
�
�� 
� 𝐿2(ℝ; 𝜌)( �
� 𝑓 ∈ 𝐿2((𝑎, 𝑐); 𝑟)� $
� 
���	�
" �� ��
 �	
����� 
� 𝑆 �� 	��
� 
�����
�
 &�� �� �� ��
 ���
 ��
� �
�� 
��	
���� ��
 �����������
" �

" 
�#�" -�

�
� .��/
�� 0-
�/.1( �
 ���� supp 𝜌 �
������ 
� ��
���
� 	
���� &�
�	��
 &�����/((" ���
����# �


+2



������� �	 
���
����� �� ������� ���
��

��� ����������� ���	��
� ����� ����� �
���� ��
���	
� ��
����
� ��������� 	
 supp𝜌� �
�
������	�� �
 �
���� �	
��
����	
 
���� ��
 �� �
���� �
 ���� �����

���
� ��� ���
��	�
���	
 𝑈𝑐� �� 
	� ��
� �	 ��
� ��� ����������� �����
𝑈(𝐿2((𝑎, 𝑐); 𝑟)) ⊆ 𝐿2(ℝ; 𝜌) �	 � �� ���
��� ����� � ���  ���
���  �! �	� � ��	��
�
��	�����	
 �
�	 �� ���
���" ���	�� 	� ������� ������ 	� �
���� ��
���	
� �� ��� �� ��
���� 
��� ��� #�� ����� �����
��� ���� ��� ����
 ��	
 $%��&� ����� ��� ����	� ��
����
������ �	 $'�
(!&� ���� ��� ������ ��)���
�� ���� �� �	
����� ��
���� ��������*
��� +,
��)���
���� ������	
�� ���� �� �	 
	� ����
� ���� 𝑝 = 𝑟 ≡ 1�

-	� 𝑐 ∈ (𝑎, 𝑏) �	
����� ��� �
���� ��
���	


𝐸𝑐(𝜆) = 𝜑(𝑐, 𝜆) + i(𝑝𝜑′)(𝑐, 𝜆), 𝜆 ∈ ℂ,

�	
���� .�	�	����	
 /�0�1� 2	�� ���� 𝐸𝑐 �	�� 
	� ���� �
� ���� 3��	 𝜆0 �������
	�������� �	�� 𝜑(𝑐, 𝜆0) �
� (𝑝𝜑′)(𝑐, 𝜆0) �	��� ��
��� 4��
�� ����� 
�
���� ��� �	��
����� �	
���� .�	�	����	
 /�0�15� �
����
� ���� 𝜑 �	��� ����� 3��	� 𝐸𝑐 �� �������� �
�� ���
��� ��
���	
�

����� ������ 𝐸𝑐 �������� ��� ���	
�����

∣𝐸𝑐(𝜆)∣ > ∣𝐸𝑐

(
𝜆
)∣, 𝜆 ∈ ℂ+, 4!�/�65

��
 ����� ����� ���� �� � 
� ������� ����� 𝐵(𝑐)� ��� �����

���� ������ 𝐾𝑐(⋅, ⋅) ��

𝐵(𝑐) �� ����� ��

𝐾𝑐(𝑧, 𝜆) =

∫ 𝑐

𝑎

𝜑(⋅, 𝑧)𝜑(⋅, 𝜆)𝑟(⋅)𝑑𝑥 =

∫ 𝑐

𝑎

𝜑(⋅, 𝑧)𝜑(⋅, 𝜆)𝑟(⋅)𝑑𝑥, 𝑧, 𝜆 ∈ ℂ. 4!�/�15

�	

�� �� ����
 ����

𝐸𝑐(𝜆)𝐸#
𝑐 (𝑧) − 𝐸𝑐(𝑧)𝐸

#
𝑐 (𝜆)

2i(𝑧 − 𝜆)
=

∫ 𝑐

𝑎

𝜑(⋅, 𝑧)𝜑(⋅, 𝜆)𝑟(⋅)𝑑𝑥

=

∫ 𝑐

𝑎

𝜑(⋅, 𝑧)𝜑(⋅, 𝜆)𝑟(⋅)𝑑𝑥, 𝜆, 𝑧 ∈ ℂ.

4!�/�05

#���
� 𝑧 = 𝜆 ∈ ℂ+� ���� ��	��

∣𝐸𝑐(𝜆)∣ − ∣𝐸𝑐

(
𝜆
)∣

4 Im𝜆
=

∫ 𝑐

𝑎

𝜑(⋅, 𝜆)𝜑(⋅, 𝜆)𝑟(⋅)𝑑𝑥 > 0

�
� ��
�� �
�������� 4!�/�65� ������� 	� 4 �!�/5 ��� ����	����
� ���
�� �� ���
 ����

�� 4!�/�15�

,�� �� ��	� 
	� 4!�/�05� +�
�� 𝜑(𝑐, 𝑧) = 𝜑(𝑐, 𝑧) �
� 𝜑
(
𝑐, 𝜆
)

= 𝜑(𝑐, 𝜆) �� 4/�0�15� 	
�
�

�������� ����

𝐸𝑐(𝜆)𝐸#
𝑐 (𝑧)− 𝐸𝑐(𝑧)𝐸

#
𝑐 (𝜆)

2i(𝑧 − 𝜆)
=

1

𝑧 − 𝜆

(
𝜑(𝑐, 𝑧)(𝑝𝜑′)(𝑐, 𝜆) − 𝜑(𝑐, 𝜆)(𝑝𝜑′)(𝑐, 𝑧)

)
=

1

𝑧 − 𝜆
𝑊 (𝜑(⋅, 𝑧), 𝜑(⋅, 𝜆))(𝑐).

!7



���� ������	
��� 
���
�� ��������� ��� 
�� �������
�� �� �� ������� ������

����� ��� 	
��
��� �������
 ������� 
�� 𝜏𝜑(⋅, 𝜁) = 𝜁𝜑(⋅, 𝜁)� 𝜁 ∈ ℂ� �� ���
��

𝐸𝑐(𝜆)𝐸#
𝑐 (𝑧)− 𝐸𝑐(𝑧)𝐸

#
𝑐 (𝜆)

2i(𝑧 − 𝜆)
=

∫ 𝑐

𝑎

𝜑(⋅, 𝑧)𝜑(⋅, 𝜆)𝑟(⋅)𝑑𝑥 +
1

𝑧 − 𝜆
𝑊 (𝜑(⋅, 𝑧), 𝜑(⋅, 𝜆))(𝑎),

����� ��� ������ ����
�� �
������ ���
��� �� �������� □

��� 
�������� �� ��� ���� ������� �� ��� �
�� ���� � �� ���� ��
!���� �������� ����
������� �� ����� ��� ���������� ������� ��� �����
 �"�� #������ ��
������ 
�� 
 �
�� 

�� �� $�
���� �!
����

������� ��	��� ��� ����� 𝑐 ∈ (𝑎, 𝑏) ��� ��	
����
	���
 𝑈𝑐 �� �
��	�� ���


𝐿2((𝑎, 𝑐); 𝑟) �
�� 𝐵(𝑐)� �
 �	������	�� �� �	��

𝐵(𝑐) =
{
𝑈𝑐𝑓 : 𝑓 ∈ 𝐿2((𝑎, 𝑐); 𝑟)

}
.


����� #�� �
�� 𝜆 ∈ ℝ �� �������� ��� �������� 𝑓𝜆 ∈ 𝐿2((𝑎, 𝑐); 𝑟) ����� �


𝑓𝜆(𝑥) =

{
𝜑(𝑥, 𝜆), 𝑥 ∈ (𝑎, 𝑐],

0, 𝑥 ∈ (𝑐, 𝑏).

%�� �� ������� 
�� �����&�� �� �
��� ��� 𝑧 ∈ ℂ�

𝑈𝑐𝑓𝜆(𝑧) =

∫ 𝑐

𝑎

𝜑(𝑥, 𝑧)𝑓𝜆(𝑥)𝑟(𝑥)𝑑𝑥 =

∫ 𝑐

𝑎

𝜑(𝑥, 𝑧)𝜑(𝑥, 𝜆)𝑟(𝑥)𝑑𝑥 = 𝐾𝑐

(
𝜆, 𝑧
)
= 𝐾𝑐(𝜆, 𝑧),


�� ����� 𝑈𝑐𝑓𝜆 = 𝐾𝑐(𝜆, ⋅) ∈ 𝐵(𝑐) ��� 𝜆 ∈ ℝ� #����������� �� �
�� ��� 
  𝜆1� 𝜆2 ∈ ℝ

(𝑓𝜆1 , 𝑓𝜆2)𝐿2((𝑎,𝑐);𝑟) =

∫ 𝑐

𝑎

𝑓𝜆1(𝑥)𝑓𝜆2(𝑥)𝑟(𝑥)𝑑𝑥 =

∫ 𝑐

𝑎

𝜑(𝑥, 𝜆1)𝜑(𝑥, 𝜆2)𝑟(𝑥)𝑑𝑥

= 𝐾𝑐(𝜆1, 𝜆2) = ⟨𝐾𝑐(𝜆1, ⋅),𝐾𝑐(𝜆2, ⋅)⟩𝐵(𝑐),

����� ����� ��
� 𝑈𝑐 �� 
� �������
 �� ���  ���
� �!
� 𝐷 �� 
  ��������� 𝑓𝜆� 𝜆 ∈ ℝ�
'������� �� ����� �� ���� ��
� 𝐷 �� ����� �� 𝐿2((𝑎, 𝑐); 𝑟)� �������� ��� �����������
�� 𝑆 �� (𝑎, 𝑐)� ����� �� ����� �� 
� 𝑆𝑐� ���� 
 %����� �� �����
�
 ��������� 
� 𝑐
����� 𝑆𝑐 �� ��� �� �
�(���� ��
 �"
���� �� 𝜏 ∣(𝑎,𝑐) ���� ��� �����
�
 ��������� �� 𝑆 
�
𝑎 
�� 
 %����� �� �����
�
 ��������� 
� 𝑐�� )�� �������������� 
�� !������ 
 ���� ��
 
�
�� ��! �� ��� ��� ��������� 𝜑(⋅, 𝜆)∣(𝑎,𝑐) = 𝑓𝜆∣(𝑎,𝑐)� 𝜆 ∈ ℝ� ����� �
����
 𝜑(𝑐, 𝜆) = 0�
*���� 𝑎 
�� 𝑐 
�� ����  ����+���� � ��� 𝜏 ∣(𝑎,𝑐)� ��� �!
� �� ��� �������������� �� 𝑆𝑐 ��
����� �� 𝐿2((𝑎, 𝑐); 𝑟∣(𝑎,𝑐)) ������ �� 
� ���������
 �
��� �� �������������� �� 𝑆𝑐� ����
����� ������� ,��- �� .���-,/�� 
�� �
 
!! 
��� ��� ��������� ������!���� �������
𝐿2((𝑎, 𝑐); 𝑟∣(𝑎,𝑐)) 
�� 𝐿2((𝑎, 𝑐); 𝑟) �� ��� ��
� 𝐷 �� ������ ����� �� 𝐿2((𝑎, 𝑐); 𝑟)�

0�������� ���  ���
� �!
� �� 
  ��
������� 𝑈𝑐𝑓𝜆 = 𝐾𝑐(𝜆, ⋅)� 𝜆 ∈ ℝ� �� ����� �� 𝐵(𝑐)
���
��� �� ℎ ∈ 𝐵(𝑐) ���� ��
�

0 = ⟨ℎ,𝐾𝑐(𝜆, ⋅)⟩𝐵(𝑐) = ℎ(𝜆), 𝜆 ∈ ℝ,

�,



������� �	 
���
����� �� ������� ���
��

ℎ ���� �����	 �
������

� ������� �� �	� �
������ �	����� ��� 	�
�����	�� ����������

�	��� 𝑈𝑐 ���������
 �� 𝐷 ������
� �����
� �� � ������� ��� 𝑉 ���� 𝐿2((𝑎, 𝑐); 𝑟) ����
𝐵(𝑐)�

�� 	��� �� �	�� �	�� 𝑈𝑐∣𝐿2((𝑎,𝑐);𝑟) ����
� 𝑉 � ���� �	�� ��� ���	 ���
 𝑧 ∈ ℂ ���	

𝑓 �→ 𝑈𝑐𝑓(𝑧) ��
 𝑓 �→ 𝑉 𝑓(𝑧) ��� ���������� �� 𝐿2((𝑎, 𝑐); 𝑟)� �	�� �� �
��� ��� �	� �����

��� ����� 𝑉 �� ���������� ��
 𝐵(𝑐) �� � �����
����� �����
 ��
���� ������  �� �	� ����
��� �	�� ��

��� ����∣∣𝑈𝑐𝑓1(𝑧) − 𝑈𝑐𝑓2(𝑧)

∣∣ = ∣∣∣∣ ∫ 𝑐

𝑎

𝜑(𝑥, 𝑧)(𝑓1(𝑥) − 𝑓2(𝑥))𝑟(𝑥)𝑑𝑥

∣∣∣∣
≤ ∥∥𝜑(⋅, 𝑧)∣∣

(𝑎,𝑐)

∥∥
𝐿2((𝑎,𝑐);𝑟∣(𝑎,𝑐)) ∥𝑓1 − 𝑓2∥𝐿2((𝑎,𝑐);𝑟) .

������ ��� �

 𝑓 ∈ 𝐿2((𝑎, 𝑐); 𝑟) ��
 𝑧 ∈ ℂ �� 	���

𝑈𝑐𝑓(𝑧) = lim
𝑛→∞𝑈𝑐𝑓𝑛(𝑧) = lim

𝑛→∞𝑉 𝑓𝑛(𝑧) = 𝑉 𝑓(𝑧),

�	��� 𝑓𝑛 �� � �������� �� ��������� �� 𝐷 ���������� �� 𝑓 � □

�� 	��� �	� ��

����� ��� ����

������

��������� ��	�
� ��� ���� 𝑐 ∈ (𝑎, 𝑏) ��� 	� 
�����
 
���� 𝐵(𝑐) �
 �
�����������

����		�	 �� 𝐿2(ℝ; 𝜌)� ����� ��� ����		��� �
 ��
� ��
�������� �� ℝ� ����∫
ℝ

∣ℎ(𝑡)∣2𝑑𝜌(𝑡) = ∥ℎ∥2𝐵(𝑐), ℎ ∈ 𝐵(𝑐).

��������� ��� ����� �� ��� 
����
 𝐵(𝑐)� 𝑐 ∈ (𝑎, 𝑏)� �
 	��
� �� 𝐿2(ℝ; 𝜌)� ����∪
𝑐∈(𝑎,𝑏)

𝐵(𝑐) = 𝐿2(ℝ; 𝜌), !"�#�$%

����� �� 
�����

 ��� ����		����

������  �� ���	 𝑐 ∈ (𝑎, 𝑏) �� 	��� �	� ��

����� ����������� 
������� �	���

𝑈 ∣𝐿2((𝑎,𝑐);𝑟) �� �� �������� ��
 𝑈𝑐∣𝐿2((𝑎,𝑐);𝑟) �� �������&

𝜚

𝑈𝑐

∣∣
𝐿2((𝑎,𝑐);𝑟) 𝑈

∣∣
𝐿2((𝑎,𝑐);𝑟)

𝐿2(ℝ; 𝜌)𝐵(𝑐)

𝐿2((𝑎, 𝑐); 𝑟)

�	�� ����
����
� �	��� �	� ����

���� (����∪
𝑐∈(𝑎,𝑏)

𝐿2((𝑎, 𝑐); 𝑟) = 𝐿2((𝑎, 𝑏); 𝑟)

)*



���� ������	
��� 
���
�� ��������� ��� 
�� �������
�� �� �� ������� ������

��� 𝑈 : 𝐿2((𝑎, 𝑏); 𝑟) → 𝐿2(ℝ; 𝜌) �� ������	
 �� 
��� �������� □

��������� ��	�
� �� 𝑐1, 𝑐2 ∈ (𝑎, 𝑏) ���� 𝑐1 < 𝑐2� ���	 𝐵(𝑐1) ⊊ 𝐵(𝑐2) 
�	��
��	�

�		�� ����
����

��������� ��� ���� 𝑐 ∈ (𝑎, 𝑏) �� ����∪
𝑥∈(𝑎,𝑐)

𝐵(𝑥) = 𝐵(𝑐) =
∩

𝑥∈(𝑐,𝑏)
𝐵(𝑥). �������

������

𝐵(𝑐1) = 𝑈𝑐1(𝐿
2((𝑎, 𝑐1); 𝑟)) = 𝑈𝑐2(𝐿

2((𝑎, 𝑐1); 𝑟)) ⊊ 𝑈𝑐2(𝐿
2((𝑎, 𝑐2); 𝑟)) = 𝐵(𝑐2)

���

⟨𝑔, ℎ⟩𝐵(𝑐1) =
((

𝑈𝑐1

∣∣
𝐿2((𝑎,𝑐1);𝑟)

)−1
𝑔,
(
𝑈𝑐1

∣∣
𝐿2((𝑎,𝑐1);𝑟)

)−1
ℎ
)
𝐿2((𝑎,𝑐1);𝑟)

=
((

𝑈𝑐1

∣∣
𝐿2((𝑎,𝑐1);𝑟)

)−1
𝑔,
(
𝑈𝑐1

∣∣
𝐿2((𝑎,𝑐1);𝑟)

)−1
ℎ
)
𝐿2((𝑎,𝑐2);𝑟)

=
〈
𝑈𝑐2

(
𝑈𝑐1

∣∣
𝐿2((𝑎,𝑐1);𝑟)

)−1
𝑔, 𝑈𝑐2

(
𝑈𝑐1

∣∣
𝐿2((𝑎,𝑐1);𝑟)

)−1
ℎ
〉
𝐵(𝑐2)

= ⟨𝑔, ℎ⟩𝐵(𝑐2), 𝑔, ℎ ∈ 𝐵(𝑐1),

�
��
 �
��� �
� ���� ������

�
� ������ ����� ������� ����∪
𝑥∈(𝑎,𝑐)

𝐿2((𝑎, 𝑥); 𝑟) = 𝐿2((𝑎, 𝑐); 𝑟) =
∩

𝑥∈(𝑐,𝑏)
𝐿2((𝑎, 𝑥); 𝑟).

□

��





������� �

	�� 
��
����� 	�������������

�� �������	 
�� �
 ����
���

−(𝑝1𝑦
′)′ + 𝑞1𝑦 = 𝜆𝑟1𝑦 �� (𝑎1, 𝑏1) ⊆ ℝ, �������

���	� �����	�� 
� 
�� 
�� �	������ ����
�	� ���� ���
��� ���� 
�� �
 ��������
��

(𝑝1, 𝑞1, 𝑟1) ������ ��
� 
�� �
	����	 	����	����
�⎧⎨⎩
(𝑖) 𝑝1, 𝑞1, 𝑟1 : (𝑎1, 𝑏1) → ℝ

(𝑖𝑖) 𝑝1, 𝑟1 ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1), 𝑞1 ∈ 𝐿1
𝑙𝑜𝑐(𝑎1, 𝑏1)

(𝑖𝑖𝑖) 𝑝1, 𝑟1 > 0 �� (𝑎1, 𝑏1).

�������

 �	 
�� 
	��
���
 �! 
�� 
�������� 
	���!�	��
��� ��� �� ���� ��
	����� �
 "����� 
����

�����
���� ���� 
� "� ���	��	��
� ������� �����
����# ����� 
�	� ��
 
� "� �	�����

	����
����� $���� �� ��%� 
�� !�������� ������
���&

���� ��� ��� 	
 ���� ������ ��� �����
� �	�����	�� ������� 
�� ����
��� �� ��� �	�����	��

�������� ���� ����� ����� 	
 �� �	�������� (𝑝1, 𝑞1, 𝑟1) �� 
������ �	 �
���
� ��������

'�
� 
��
 �� 
��� ���� 
�� ������ �! �� �������
�� �
 ��(�	��
��� �)�	������ 𝜏1 =
𝜏(𝑝1, 𝑞1, 𝑟1) �� ����� "� 𝒟(𝜏1) = {𝑦 ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) : 𝑦′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1)} ����� ��� ���
𝑦′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) �! ��� ���� �! 𝑝1𝑦

′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) ����	���� 
� *���	�� +���� ���


��
 (𝑝1𝑦
′)′ ������ 𝑝1𝑦

′′+𝑝′1𝑦
′� ,� ��	
�����	# ��
� 
��
 
�� ������ �! ��� �
 ��(�	��
���

�)�	������ ������� �� �
� ��������
� ���� "� ����� �! �
� ��
�	��� �! ��-��
����

.�� ��� �� 
�� 
	���!�	��
���

𝑦(𝑧) = 𝑣(𝑧)𝑤(𝑢(𝑧)), �������

���	� 𝑢, 𝑣 : (𝑎1, 𝑏1) → ℝ �	� ���	��	��
� !���
����� +� �� ���� ���# 
��� ����� 
� � �


����
���

−(𝑝2𝑤
′)′ + 𝑞2𝑤 = 𝜆𝑟2𝑤 �� (𝑎2, 𝑏2) ⊆ ℝ �����/�

!�	 
�� ��%���� !���
��� 𝑤 ���� 
��
 𝑦 �� � ����
��� �! ����
��� ������� �! ��� ���� �!
𝑤 �� � ����
��� �! ����
��� �����/�� ,� 
��� ����
�	 �� ���
 
� ���
���
������ �������


�� 
	���!�	��
��� ��������

��� ���� ���	�
� �
 ��

 �

��
 
������� ������� �� �����
� �� 
������� ��� �
��
 ��
 �������	��

��



������� �	 
�� ��
������ 
�����
�����
�

��� ��� ��	
����� �
����	
����	�

���������� �	
	
	 ��� (𝑎, 𝑏) ⊆ ℝ ��� 𝑣 ��� 𝑢 �� ��	 
����
	�� ������ 	� (𝑎, 𝑏) ���
���
�
�
�� ⎧⎨⎩

(𝑖) 𝑣, 𝑢 : (𝑎, 𝑏) → ℝ

(𝑖𝑖) 𝑣, 𝑢 ∈ 𝐶1(𝑎, 𝑏) ��� 𝑣′, 𝑢′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎, 𝑏)

(𝑖𝑖𝑖) 𝑣 ∕= 0 ��� 𝑢′ > 0 
� (𝑎, 𝑏).

�������

�
��� ��� �	������������ 
����
	� 𝑓 ������ 	� 𝐼 ⊇ 𝑢((𝑎, 𝑏))� �� ��� �
	��
��� �����
	��
	
 𝑓 �� ���� ��� 
����
	� 𝑔 ������ ��

𝑔(𝑥) = 𝑣(𝑥)𝑓(𝑢(𝑥)), 𝑥 ∈ (𝑎, 𝑏).

�	� ��� �
���� 
����
	� ����� ℐ 	
 �	������������ 
����
	�� ������ 	� 𝐼 ⊇ 𝑢((𝑎, 𝑏)) ��
��
�� �	 ��� �
���� ���

𝐿 : ℐ ∋ 𝑓 �→ 𝑔

�� ��� �
	��
��� �����
	����
	� ����	��
�� �	 𝑣 ��� 𝑢��

���
�� �	
	�	

�  
��� 𝑢′ > 0 	� (𝑎, 𝑏)� ����� ��
��� � ��
!�� �	��
��	�� ������
	� 	
 𝑢 ��	 ��
�� ��

���	 ��� ��
�� �� 𝑢 �
��� �� ��� 
����

� 𝑢 �
�� ��
� ������
	�� �	 𝑢 : [−∞,∞] ⊇
[𝑎, 𝑏] → [−∞,∞]� "��� 𝑢 
� � ���
���� 
������
�� �
#���
	� ������� (𝑎, 𝑏) ���

(𝑢(𝑎), 𝑢(𝑏)) �	� ������� [𝑎, 𝑏] ��� [𝑢(𝑎), 𝑢(𝑏)]� �������
����� ��� ��� �� ���	 ���
����

������
�� ��� �	��
��	���� �
$�����
���� 
������ 
����
	� 𝑢−1 : (𝑢(𝑎), 𝑢(𝑏)) →
(𝑎, 𝑏) �
�� ���
���
�� (𝑢−1)′(𝑥) = 1

𝑢′(𝑢−1(𝑥))
� %������ 	
 "��	��� &�'�' 
� 
�

(𝑢−1)′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑢(𝑎), 𝑢(𝑏))�

� (� 
� ���� �	 ��� ���� 𝐿 
� � �
#���
	� ������� ��� �	������������ 
����
	�� ������
	� (𝑢(𝑎), 𝑢(𝑏)) ��� ��	�� ������ 	� (𝑎, 𝑏)� "��	��� &�'�' ��	�� ���� 
�� 
������

𝐿−1 
� � �
	��
��� �����
	����
	� ����	��
�� �	 1
𝑣
∘ 𝑢−1 ��� 𝑢−1� �� ����� "��

���� ���	��� ��	�� ���� ��� �	��	�
�
	� 	
 ��	 �
	��
��� �����
	����
	�� 
� �

�
	��
��� �����
	����
	� �		�

�  
��� 𝑣 
� ������� �	 �� ������������ �� ���� 𝐿𝑓 = 𝐿𝑓 �

� (
 𝑣 : (𝑎, 𝑏) → ℝ� 𝑣 ∈ 𝐶1(𝑎, 𝑏)� 𝑣′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎, 𝑏)� 𝑣 ∕= 0 
� (𝑎, 𝑏)� ���� ��
���

(𝑣𝑣)′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎, 𝑏) �� "��	��� &�'�'� 𝑀𝑣𝐿� ����� 𝑀𝑣 
� ����
��
���
	� �� 𝑣� 
�
� �
	��
��� �����
	����
	� ����	��
�� �	 𝑣𝑣 ��� 𝑢�� (� ����
������ 𝑐𝐿 
� � �
	��
���

�����
	����
	� 
	� 𝑐 ∈ ℝ ∖ {0}�

��� �	 
��	 

	 ��������� 

	��	� ������� ������� 
� ��������

������� �	
	�	 ��� (𝑝1, 𝑞1, 𝑟1) �� � ����� 	
  � �	�)�
���� ������ 	� (𝑎1, 𝑏1) ⊆
ℝ ��� ���#��� �	 ������� ��� ��� 𝜏1 = 𝜏(𝑝1, 𝑞1, 𝑟1) �� ��� ���	�
����  � �
$�����
��

��



���� ��� ��	
����� �
����	
����	�

����������	 
�� 𝑣, 𝑢 : (𝑎1, 𝑏1) → ℝ �� �
� ��������� ���������� ������� ��� 𝐿 �� ���


�������� �������������� ��������� �� 1
𝑣
∘ 𝑢−1 ��� 𝑢−1� �	�	 ��� ������� �� ��� 
��������

�������������� ��������� �� 𝑣 ��� 𝑢 ���� ��������� �	�	� ��� ����� �	�	!"	

#�� 𝑎2 = 𝑢(𝑎1), 𝑏2 = 𝑢(𝑏1) ��� ����� ��� ��������� 𝑝2, 𝑞2, 𝑟2 : (𝑎2, 𝑏2) → ℝ ��

𝑝2 = (𝑣2𝑝1𝑢
′) ∘ 𝑢−1, 𝑞2 =

[ 𝑣

𝑢′ (𝑞1𝑣 − (𝑝1𝑣
′)′)
]
∘ 𝑢−1, 𝑟2 =

𝑣2𝑟1
𝑢′ ∘ 𝑢−1. �������

$���%

& (𝑝2, 𝑞2, 𝑟2) �� � ����� �� #
 ���'������ ������ �� (𝑎2, 𝑏2) ⊆ ℝ ���������� ����������

�������	

& #�� 𝜏2 = 𝜏(𝑝2, 𝑞2, 𝑟2)	 $��� 
� ���� 𝑦 ∈ 𝒟(𝜏1) �� ��� ���� �� 𝐿𝑦 ∈ 𝒟(𝜏2) ���

𝐿𝜏1𝑦 = 𝜏2𝐿𝑦, 𝑦 ∈ 𝒟(𝜏1).

& ( �������� 𝑦 �� � �������� �� −(𝑝1𝑦
′)′ + 𝑞1𝑦 = 𝜆𝑟1𝑦 �� (𝑎1, 𝑏1) �� ��� ���� �� ���

�������� 𝑤 = 𝐿𝑦 �� � �������� �� −(𝑝2𝑤
′)′ + 𝑞2𝑤 = 𝜆𝑟2𝑤 �� (𝑎2, 𝑏2)	

& $�� ��� 𝐿 �� � ������� ������� �� 𝐿2((𝑎1, 𝑏1); 𝑟1) ���� 𝐿2((𝑎2, 𝑏2); 𝑟2)	

& )� ���� 𝑦 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) �� ��� ���� �� 𝐿𝑦 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)) ���

𝐿𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)𝑦 = 𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)𝐿𝑦, 𝑦 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)),

�	�	 𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1) ��� 𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2) ��� ��������� �*�������� ���������	 $��
���� ���������� ���� ��� ��� ���������� ��������� 𝑇0(𝑝1, 𝑞1, 𝑟1) ��� 𝑇0(𝑝2, 𝑞2, 𝑟2)�
������������	

������

� 	
��
 ��� ���������
� ��
 𝑝1, 𝑞1, 𝑟1, 𝑣 �
� 𝑢� ��
 𝑝2 �
� 𝑟2 ���� �� �
 ���������

��
�����
�� �� ����
�� ������ �
� ��
 𝑞2 ���� ����������� ������� �
�� ���

�� ��������
 
��� �
� ��� ���� ���� 𝑢 ���� ������� �
��
!��� �
 (𝑎1, 𝑏1) �
��

������� �
��
!��� �
 (𝑎2, 𝑏2)�

"�
 ��� �������
# ��� 𝑦 ������  � � ��
����
 ��$
�� �
 (𝑎1, 𝑏1) �
� ��� 𝑤 = 𝐿𝑦� %� 𝑧
�� ������ ���
 � !�
�� �� �
 (𝑎1, 𝑏1)� ���
��� 𝑥 ��
���� � !�
�� �� �
 (𝑎2, 𝑏2) �
� ���

𝑧 �
� 𝑥  � 
������  � 𝑢(𝑧) = 𝑥� ��� �������
# 
������
� ����&

𝑤(𝑥) = 𝐿𝑦(𝑥) =
1

𝑣(𝑢−1(𝑥))
𝑦(𝑢−1(𝑥)),

𝑦(𝑧) = 𝐿−1𝑤(𝑧) = 𝑣(𝑧)𝑤(𝑢(𝑧)),

𝑢(𝑧) = 𝑥 �
� 𝑧 = 𝑢−1(𝑥).

� '�� 𝑦 ∈ 𝒟(𝜏1) = {𝑦 ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) : 𝑦′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1)}� %� ����
�� ����� ��

��!� 𝑤 ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎2, 𝑏2)� (�� ���������

𝑦′(𝑧) = 𝑣′(𝑧)𝑤(𝑢(𝑧)) + 𝑣(𝑧)𝑤′(𝑢(𝑧))𝑢′(𝑧),

𝑦′(𝑢−1(𝑥)) = 𝑣′(𝑢−1(𝑥))𝑤(𝑥) + 𝑣(𝑢−1(𝑥))𝑤′(𝑥)𝑢′(𝑢−1(𝑥)).

�)



������� �	 
�� ��
������ 
�����
�����
�

����������� ���	 ����� 
�����
 ������ ����� ���� 𝑤′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎2, 𝑏2)� ��	 �����

�� ���� 𝑤 ∈ 𝒟(𝜏2)� �� ����� 𝑤 ∈ 𝒟(𝜏2)� ���� �� ��������� ����
��� �����

𝑦 ∈ 𝒟(𝜏1)�

��� ���������

(𝑝1𝑦
′)′(𝑧) = (𝑝1𝑣

′(𝑤 ∘ 𝑢) + 𝑝1𝑣(𝑤
′ ∘ 𝑢)𝑢′)′(𝑧)

= (𝑝1𝑣
′)′(𝑧)𝑤(𝑢(𝑧)) + (𝑝1𝑣

′)(𝑧)𝑤′(𝑢(𝑧))𝑢′(𝑧) + (𝑝1𝑢
′)′(𝑧)𝑣(𝑧)𝑤′(𝑢(𝑧))

+ (𝑝1𝑢
′)(𝑧)𝑣′(𝑧)𝑤′(𝑢(𝑧)) + (𝑝1𝑢

′)(𝑧)𝑣(𝑧)𝑤′′(𝑢(𝑧))𝑢′(𝑧).

������

𝜏1𝑦(𝑧) =
1

𝑟1(𝑧)
(−(𝑝1𝑦

′)′ + 𝑞1𝑦)(𝑧)

=
1

𝑟1(𝑧)

[
− (𝑝1𝑣(𝑢

′)2)(𝑧)𝑤′′(𝑢(𝑧)) + (−2𝑝1𝑣
′𝑢′ − 𝑣(𝑝1𝑢

′)′)(𝑧)𝑤′(𝑢(𝑧))

+ (−(𝑝1𝑣
′)′ + 𝑞1𝑣)(𝑧)𝑤(𝑢(𝑧))

]
��	

1

𝑣(𝑢−1(𝑥))
(𝜏1𝑦)(𝑢

−1(𝑥)) =
1

𝑣𝑟1
∘ 𝑢−1(𝑥)

[
− (𝑝1𝑣(𝑢

′)2) ∘ 𝑢−1(𝑥) ⋅ 𝑤′′(𝑥)

+ (−2𝑝1𝑣
′𝑢′ − 𝑣(𝑝1𝑢

′)′) ∘ 𝑢−1(𝑥) ⋅ 𝑤′(𝑥)

+ (−(𝑝1𝑣
′)′ + 𝑞1𝑣) ∘ 𝑢−1(𝑥) ⋅ 𝑤(𝑥)

]
,

����� ��� ���������� �� ��� ���� ���	 ��	� �� !��� 𝐿𝜏1𝑦(𝑥)� "� ��� ����� ���	

��	� �� ���� � ������� �����	 ��	�� ������ 	�#�������� ����������

𝑎(𝑥)𝑤′′(𝑥) + 𝑏(𝑥)𝑤′(𝑥) + 𝑐(𝑥)𝑤(𝑥),

����� �� ���� �� ��������� �� � $% 	�#�������� �����������

$������

𝑝2 = 𝑒
∫

𝑏
𝑎
𝑑𝑥, 𝑟2 = −𝑝2

𝑎
, 𝑞2 = −𝑐𝑝2

𝑎
, �&���&�

�����
∫

𝑏
𝑎
𝑑𝑥 	������ �� ��'�����( ����	��������� �� 𝑏

𝑎
� ��� ����

𝑎(𝑥)𝑤′′(𝑥) + 𝑏(𝑥)𝑤′(𝑥) + 𝑐(𝑥)𝑤(𝑥) =
1

𝑟2(𝑥)

[− (𝑝2(𝑥)𝑤′(𝑥))′ + 𝑞2(𝑥)𝑤(𝑥)
]
.

�&���)�

���� ���� ��� ������ �&���&� �� ��������( ��� �&���)� �� ���	 ��� ��( 𝑤 ∈ 𝐿(𝒟(𝜏1))�
'�� ������

∫
𝑏
𝑎
𝑑𝑥 �� ���*�� ���( �� �� �� �		����� �������� 𝐶 ∈ ℝ� �� ���*�� ���(

�� �� � 
������������� �������� 𝑒𝐶 ∈ ℝ+  ��� ��
��+ &���, ����� ��� ����� �� ����

������
�

&-



���� ��� ��	
����� �
����	
����	�

�� ��� ���	 
	 ���	

𝑎 =
(
− 𝑝1

𝑟1
(𝑢′)2
)
∘ 𝑢−1,

𝑏 =
(
− 2𝑝1𝑣

′𝑢′

𝑣𝑟1
− (𝑝1𝑢

′)′

𝑟1

)
∘ 𝑢−1,

𝑐 =
(𝑞1

𝑟1
− (𝑝1𝑣

′)′

𝑣𝑟1

)
∘ 𝑢−1

��
 �	��	 ������∫
𝑏

𝑎
𝑑𝑥 =

∫
2𝑝1𝑣

′𝑢′ + 𝑣(𝑝1𝑢
′)′

𝑣𝑝1(𝑢′)2
∘ 𝑢−1(𝑥)𝑑𝑥 =

∣∣∣∣ 𝑥 = 𝑢(𝑧)
𝑑𝑥 = 𝑢′(𝑧)𝑑𝑧

∣∣∣∣
=

∫
2𝑝1𝑣

′𝑢′ + 𝑣(𝑝1𝑢
′)′

𝑣𝑝1𝑢′ (𝑧)𝑑𝑧 =

∫
2𝑣′

𝑣
(𝑧)𝑑𝑧 +

∫
(𝑝1𝑢

′)′

𝑝1𝑢′ (𝑧)𝑑𝑧

= ln 𝑣2(𝑧) + ln(𝑝1𝑢
′)(𝑧) = ln(𝑣2𝑝1𝑢

′)(𝑢−1(𝑥))

�� ��	 ���������� ����
	�������	 �� 𝑏
𝑎
� ���	 ���� �� �	�	 ln 𝑣2 ��
 ln 𝑝1𝑢

′ ��	 ��
		



	���
	��	
 ��
 	�	�	��� �� 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) �����
��� �� ��	��	� ������

�� �����
� ����

𝑝2 = (𝑣2𝑝1𝑢
′) ∘ 𝑢−1 = 𝑝2,

𝑞2 =
[ 𝑣

𝑢′ (𝑞1𝑣 − (𝑝1𝑣
′)′)
]
∘ 𝑢−1 = 𝑞2,

𝑟2 =
𝑣2𝑟1
𝑢′ ∘ 𝑢−1 = 𝑟2

��


𝐿𝜏1𝑦 =
1

𝑟2

[− (𝑝2𝑤
′)′ + 𝑞2𝑤

]
= 𝜏2𝐿𝑦.

� ���� �� �� ���	
���	 ����	��	��	 �� ��	 ��	����� ���	������

� �	� 𝑦 ∈ 𝐿2((𝑎1, 𝑏1); 𝑟1)� ��	�∫ 𝑏2

𝑎2

∣𝑤(𝑥)∣2𝑟2(𝑥)𝑑𝑥 =

∫ 𝑏2

𝑎2

∣∣∣ 1

𝑣(𝑢−1(𝑥))
𝑦(𝑢−1(𝑥))

∣∣∣2 ⋅ 𝑣2𝑟1
𝑢′ ∘ 𝑢−1(𝑥)𝑑𝑥

=

∣∣∣∣ 𝑧 = 𝑢−1(𝑥)
𝑑𝑧 = (𝑢−1)′(𝑥)𝑑𝑥

∣∣∣∣
=

∫ 𝑏1

𝑎1

∣𝑦(𝑧)∣2𝑟1(𝑧)𝑑𝑧

= ∥𝑦∥2𝐿2((𝑎1,𝑏1);𝑟1)
,


�	�	 
	 ���	 ��	
 ���� (𝑢−1)′(𝑥) = 1
𝑢′(𝑧) � �	��	 𝑤 ∈ 𝐿2((𝑎2, 𝑏2); 𝑟2) ��


∥𝑤∥𝐿2((𝑎2,𝑏2);𝑟2)
= ∥𝑦∥𝐿2((𝑎1,𝑏1);𝑟1)

�

�� ���	� 𝑤 ∈ 𝐿2((𝑎2, 𝑏2); 𝑟2) ��	� ��	 �����	�� ��! �	 �	�	��	
 �� ���	 𝑦 ∈
𝐿2((𝑎1, 𝑏1); 𝑟1) ��
 �	��	 𝐿 �� ������! ���� 𝐿2((𝑎1, 𝑏1); 𝑟1) ���� 𝐿2((𝑎2, 𝑏2); 𝑟2)�

"#



������� �	 
�� ��
������ 
�����
�����
�

� ��� ������	
� �
� ��� 
��	
�� 
�����
�� 	� � �
��������� 
� ��� ����	
�� �
	���

�� 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) = {𝑦 ∈ 𝐿2((𝑎1, 𝑏1); 𝑟1) : 𝑦 ∈ 𝒟(𝜏1), 𝜏1𝑦 ∈ 𝐿2((𝑎1, 𝑏1); 𝑟1)}
��� 𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)𝑦 = 𝜏1𝑦 �
� 𝑦 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) ��� ��� ��
� �����	
��
�
�� �
� ��� 
��	
�� 
�����
� ��� ��� �� �	������	�� �������	
� ���
�	���� �	��

{𝑝2, 𝑞2, 𝑟2}�
��� ������	
�� �
� ��� ���
	�	
�� 
�����
�� �
��
� ��

 ��	� �� ��� 
�������	
�

���� supp 𝑦 	� �

���� 	� (𝑎1, 𝑏1) 	� ��� 
��� 	� supp𝑤 	� �

���� 	� (𝑎2, 𝑏2)�

□

���
��
 ����� 

�	����� ��� �
��
�	�� �� �	�	
��

���������� �	
	�	 �� ��� ���� ��� �	 �
����
�

−(𝑝1𝑦
′)′ + 𝑞1𝑦 = 𝜆𝑟1𝑦 
� (𝑎1, 𝑏1) ⊆ ℝ

��� �� ������
���� ���


−(𝑝2𝑤
′)′ + 𝑞2𝑤 = 𝜆𝑟2𝑤 
� (𝑎2, 𝑏2) ⊆ ℝ

�� � 	�
������ ������
�����
� �
� �� ��� 	�
������ ������
�����
� 𝑦 = 𝑣 ⋅ (𝑤 ∘ 𝑢)� �� ���

�	 �
�������� (𝑝1, 𝑞1, 𝑟1) ��� (𝑝2, 𝑞2, 𝑟2) ��� ������� �� �� !����"# �
� �
�� ������
��
𝑣, 𝑢 : (𝑎1, 𝑏1) → ℝ ���������� !�����#� �� ���� ���� �� ����� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (𝑝2, 𝑞2, 𝑟2)�
�� ����� 𝒦 �� ��� ��� 
� ��� ������ 
� �	 �
�������� ���������� �
�����
�� !��$�"# 

𝒦 = {(𝑝, 𝑞, 𝑟) : (𝑝, 𝑞, 𝑟) �� � ����� 
� �	 �
�������� ������ 
�

�
�� �������� (𝑎, 𝑏) ⊆ ℝ ��� ���������� �
�����
�� !��$�"#},
��� �
������ ∼𝒦 �� � ������
� 
� 𝒦�

��
��� �	
	�	

! �� ��� ��

� 
� "��
��� #�$�# �� ���� ���� ���� �� ����

𝐿𝜏(𝑝1, 𝑞1, 𝑟1)𝑦 = 𝜏(𝑝2, 𝑞2, 𝑟2)𝐿𝑦

��� �����

−(𝑝1𝑦
′)′ + 𝑞1𝑦 = 𝜆𝑟1𝑦 ⇔ −(𝑝2𝑤

′)′ + 𝑞2𝑤 = 𝜆𝑟2𝑤

�𝑦 ∈ 𝒟(𝜏1) 𝑤 = 𝐿𝑦� �
� 
��� �
� ��� �	 �
�������� (𝑝2, 𝑞2, 𝑟2) ����� �� !����"# 

��� ��������� �
� ��
�� �	 �
�������� ��%����� ��
� ����� �� � �
������ �����!

��������� �
������� &
����� 
��� ��� ��
��� !����"# ����� �
 � ������� �������

𝐿 : 𝐿2((𝑎1, 𝑏1); 𝑟1) → 𝐿2((𝑎2, 𝑏2); 𝑟2)�

'
�� ���� �� (𝑝2, 𝑞2, 𝑟2) = (𝐶𝑝2, 𝐶𝑞2, 𝐶𝑟2) �
� �
�� 𝐶 ∈ ℝ+ ���� 𝜏(𝑝2, 𝑞2, 𝑟2) =
𝜏(𝑝2, 𝑞2, 𝑟2) ��� ��� ���
������ �	 �
����
��

−(𝑝2𝜔
′)′ + 𝑞2𝜔 = 𝜆𝑟2𝜔,

−(𝐶𝑝2𝜔
′)′ + 𝐶𝑞2𝜔 = 𝜆𝐶𝑟2𝜔

!����%#

�&



���� ��� ��	
����� �
����	
����	�

���

−(𝑝2𝑤
′)′ + 𝑞2𝑤 = 𝜆𝑟2𝑤 �������

����� �	 
��
������
��� ��
� 𝐶� �������� ������� ��� �� 
�������
�� ��
� �������

�	 
�� ��������� 
�������
�
��� 𝜔 = 1√
𝐶

𝑤 �� 
��
� �� �����
��� ����� ��� 
�����
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��� ��� �� 
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�
���
�� ��� ���	 �� �
 ��� �� 
�������
�� ��
� ������� �	 � ��������� 
�������
�
��� �


��� �� ��� 
� 
�� ���
 
��
 
�������
�����
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�
�
 �� 
��� ��
��#�

� $���% &�����
 '����� �
 �� ���	 
� ����# 
��
 ∼𝒦 �� ��
����	 �� �!��������� �����


��� �� 𝒦�

�	
 ��
 �	��	���� �
 

���� ��
 �	����	� 	� ��
	

� ������

����������� 	
�
�
 ��
 𝑊 1 �� 
�� (����#��� �������
�� ��
� 𝜏1 ��� 𝑊 2 �� 
��

(����#��� �������
�� ��
� 𝜏2� ������
����	� ��
 𝑦, 𝑠 ∈ 𝒟(𝜏1)� &���

𝑊 2(𝑤, 𝑡)(𝑥) = 𝑊 1(𝑦, 𝑠)(𝑢−1(𝑥)), 𝑥 ∈ (𝑎2, 𝑏2),

�� 𝑤 = 𝐿𝑦 ��� 𝑡 = 𝐿𝑠�
)� 𝑦, 𝑠 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) *��� ����� 𝑤, 𝑡 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2))+ �� ���� ����

𝑊 2(𝑤, 𝑡)(𝑎2) = 𝑊 1(𝑦, 𝑠)(𝑎1) ��� 𝑊 2(𝑤, 𝑡)(𝑏2) = 𝑊 1(𝑦, 𝑠)(𝑏1).

����

 𝑊 2(𝑤, 𝑡)(𝑥) = 𝑊 1(𝑦, 𝑠)(𝑢−1(𝑥)) �	
 𝑥 ∈ (𝑎2, 𝑏2) �� ��	�� �� � �����


���������	�� �	
 𝑦, 𝑠 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) �
 ��
� ���


𝑊 2(𝑤, 𝑡)(𝑎2) = lim
𝑥→𝑎+2

𝑊 2(𝑤, 𝑡)(𝑥) = lim
𝑥→𝑎+2

𝑊 1(𝑦, 𝑠)(𝑢−1(𝑥))

= lim
𝑧→𝑎+1

𝑊 1(𝑦, 𝑠)(𝑧) = 𝑊 1(𝑦, 𝑠)(𝑎1)

���

𝑊 2(𝑤, 𝑡)(𝑏2) = lim
𝑥→𝑏−2

𝑊 2(𝑤, 𝑡)(𝑥) = lim
𝑥→𝑏−2

𝑊 1(𝑦, 𝑠)(𝑢−1(𝑥))

= lim
𝑧→𝑏−1

𝑊 1(𝑦, 𝑠)(𝑧) = 𝑊 1(𝑦, 𝑠)(𝑏1).

□

��������� 	
�
�
 &�� �������
 𝑎1 �� ��
�
�����
 *��
�
�������+ ��� 𝜏1 �� ��� ���	 ��

𝑎2 �� ��
�
�����
 *��
�
�������+ ��� 𝜏2� ,�����������% �����
���� ���� ��� 
�� ��%�


�������
 𝑏1�

��



������� �	 
�� ��
������ 
�����
�����
�

������ �� ��� ��� ��	���	
� 
� 
�
�
�	�	
� ������ ��
� 
�
�
�	�	
� ����� ���

���
��� ����� 	� �
��
�� ���� 𝑊 1(𝑦, 𝑠)(𝑎1) = 0 �
� ��� 𝑦, 𝑠 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) 	�

���	������ �
 𝑊 2(𝑤, 𝑡)(𝑎2) = 0 �
� ��� 𝑤, 𝑡 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2))� �	��� ���� ����
	��
	� �	���� �	�	���
	�� 
� �	�	���	����� ��	� ��
�� ��� ������	
�� □

�
�
���� ����! ������ �� 	��
����� 	����	���� ��
���� 
� ��� "	
��	��� ������
����	
�#

$���
	��� ��	�� ��� �	�	���
	�� %�	�	���	����& ��� ������
���� 	��
 ����
	��� ��	��

��� �	�	���
	�� %�	�	���	����&� �
��	���	�' ��� ��(�	�	
� 
� �� ����
	�� )�	�' �	�	��

�
	�� %�	�	���	����& ��	� 	� �
� ��� ���� �����	�	�' �	��� �� *�
� ���� ��� "	
��	���

������
����	
� ���� �
���	
�� 
� 𝜏1𝑦 = 𝜆𝑦 �
 �
���	
�� 
� 𝜏2𝑤 = 𝜆𝑤 ��� ���� 	� 	� ��
	�
����	� 	�
�
���	�� )������ 𝐿2((𝑎1, 𝑏1); 𝑟1) ��� 𝐿2((𝑎2, 𝑏2); 𝑟2)�

+
������ ����� 	� 
)�	
��� �
 	����	���� 
� ����
	��� �
�����	�' ���	� ������ 
� )�	�'

(�	�� 
� 	�(�	�� ��� ��'�� ��� "	
��	��� ������
����	
� )��
�'	�' �
 𝑣 ≡ 1 ��� 𝑢(𝑧) =
tan(−𝜋

2 + 𝑧−𝑎1
𝑏1−𝑎1

𝜋) %	� ��� ���� ���� )
�� 𝑎1 ��� 𝑏1 ��� (�	��& ��
��� ��������
���

����� 	� �
 	����	���� 
� ����
	��� �
�����	�' ���	� ������ 
� )�	�' ��'���� 
� �	�'����

�� �� �	�� ��� 	� ��� �
��
�	�' �,������

���	
�� 
����� �������� 	
� ������ �
��	���

(−𝑧
1
2 𝑦′(𝑧))′ = 𝜆𝑧

1
2 𝑦(𝑧) �� (0, 1),

�
��� 𝑎1 = 0 ��� 𝑏1 = 1 ��� ��	
 ������� �������	� ����� 	
� ����	���� 1
𝑝1

: 𝑧 �→ 𝑧−
1
2

��� 𝑟1 : 𝑧 �→ 𝑧
1
2 ��� ��	������� �� [0, 1]�

�������� 	
� ��������� 	���������	��� 𝑤(𝑥) = 𝑥
1
4 𝑦(𝑥)� ���� 𝑢(𝑧) = 𝑧, 𝑣(𝑧) = 𝑧−

1
4 � ���

��	���� 	
� 	���������� �
��	���

−𝑤′′(𝑥)− 3

16
𝑥−2𝑤(𝑥) = 𝜆𝑤(𝑥) �� (0, 1),

�
��� 𝑏2 = 1 �� �	��� � ������� �������	� ��	 𝑎2 = 0 �� ��� � �������� �������	 �����

𝑞2 : 𝑥 �→ − 3
16𝑥

−2 �� ��	 ��	������� ���� 0�

��	��� 
����� ����� ����	����� ������	���� ��� ��� ������	�� 	
�	 � �������

�������	 �� 	���������� ��	� � ������� �������	� ������ 	
�	 0 < 𝐶1 < 𝑣(𝑧) < 𝐶2 <
∞, 𝑧 ∈ (𝑎1, 𝑐)� ��� (𝑝1𝑣

′)′ ∈ 𝐿1(𝑎1, 𝑐) ��� ���� 𝑐 ∈ (𝑎1, 𝑏1) ��� 𝐶1, 𝐶2 ∈ ℝ� �
�� ���

��� �
�� 	
�	� �������� 𝑎1 �� � ������� �������	 ��� 𝜏1� 	
�� 𝑎2 �� � ������� �������	
��� 𝜏2� ������������� �����	���� 
��� ��� 	
� ���
	 �������	�
�������� ��  !����� "�#�$ ��	
 �� 	
��� ������	���� ��� ��	 ��	��%���

�� �
����� ������� ��
����	�� 
� ��� "	
��	��� ������
����	
�# ��� �	�	��� 
�����
��

���
�	���� �	�� 𝜏1 ��� 𝜏2� �������	��� � ��� ��	���	� ���	������ �	� 𝐿 �

� ������-
	��

����	.��	
�� 
� 𝜏1 %�	�� ��������� )
����� �
��	�	
��& �
�����
�� �
 ������-
	�� ���

��	.��	
�� 
� 𝜏2 %�	�� ��������� )
����� �
��	�	
��& ���� ���� � �

��� ����*	�' �

���
�	���� �������� �������� �
	��	���

/0



���� ��� ��	
����� �
����	
����	�

������� ��	�	
� ��� (𝑝1, 𝑞1, 𝑟1) �� � ����� 	
 �� �	�
������ ������ 	� (𝑎1, 𝑏1) ⊆
ℝ ��� ������� �	 ������� ��� ��� 𝜏1 = 𝜏(𝑝1, 𝑞1, 𝑟1) �� ��� ���	������ �� �����������

��������	�� ��� 𝑣, 𝑢 : (𝑎1, 𝑏1) → ℝ �� ��	 
�����	�� �����
���� ������� ��� 𝐿 �� ���
��	������ �����
	�����	� ���	����� �	 1

𝑣
∘ 𝑢−1 ��� 𝑢−1� ���� ��� ������� 	
 ��� ��	������

�����
	�����	� ���	����� �	 𝑣 ��� 𝑢� ��� 𝑎2 = 𝑢(𝑎1) ��� 𝑏2 = 𝑢(𝑏1)� (𝑝2, 𝑞2, 𝑟2) ��
��� ����� 	
 �� �	�
������ ������ 	� (𝑎2, 𝑏2) ����� �� ������� ��� 𝜏2 = 𝜏(𝑝2, 𝑞2, 𝑟2)
��	�����  ��	��� !�"�!#�

 ���$

% &� ���� 𝑦 ∈ 𝒟(𝑇𝑚𝑖𝑛(𝑝1, 𝑞1, 𝑟1)) �
 ��� 	��� �
 𝐿𝑦 ∈ 𝒟(𝑇𝑚𝑖𝑛(𝑝2, 𝑞2, 𝑟2)) ��� �����
𝑇𝑚𝑖𝑛(𝑝1, 𝑞1, 𝑟1) ��� 𝑇𝑚𝑖𝑛(𝑝2, 𝑞2, 𝑟2) ��� ��������� �'�������� ��� 𝐿 �		�

% ��� 𝑆1 �� � ���
���	��� �����(���	� 	
 𝜏1�  ��� 𝐿(𝒟(𝑆1)) �� ��� �	���� 	
 �	��
���
���	��� �����(���	� 𝑆2 	
 𝜏2 ���� ���� 𝑆1 ��� 𝑆2 ��� ��������� �'�������� ��� 𝐿�
)
 𝑆1 �� � ���
���	��� �����(���	� ���� ��������� �	������ �	�����	��� ���� 𝑆2 �� �

���
���	��� �����(���	� ���� ��������� �	������ �	�����	�� �		�

% *����� ���� ��� ����	��� 𝑎1 �� �����%������ 
	� 𝜏1 ���� ����� �	 �� 𝑎2 
	� 𝜏2#� ���
𝑆1 �� � ���
���	��� �����(���	� 	
 𝜏1 ���� ��������� �	������ �	�����	�� ��� ��� 𝑆2

�� ��� ���
���	��� �����(���	� 	
 𝜏2 	
 ��� �����	�� �	���� )
 �� ����� ���� ��� ����%
������ 
���������� ������ {𝛾, 𝛿} �� ��� �	��������	� 	
 ��� �������� ������� 
	�
𝑆1 ��	����� �����	� "�+ ��� ,����- "�+�.# ��� ���� {𝐿𝛾,𝐿𝛿} �� ��� �	��������	�
	
 ��� �������� ������� 
	� 𝑆2� ���� �� 	����� ��� ����  ���������%&��� 𝑚%

�����	� ��� ����� ���	 ��� ���� �������� ������� 𝜌 
	� 𝑆1 ��� 𝑆2�

������

� 	
��

 ��
 �
������� �� ��
 ������
 ��
����� �� �
����� ����

�
� 𝑦 ∈ 𝒟(𝑇𝑚𝑖𝑛(𝑝1, 𝑞1, 𝑟1))� ��
� 𝑊 1(𝑦, 𝑓)(𝑎1) = 0 ��� 𝑊 1(𝑦, 𝑓)(𝑏1) = 0 ��� �



𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1))�
�
� 𝑤 = 𝐿𝑦� ��
� 𝑤 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)) ��������� �� ��
��
� ������ �
� ���

�
 𝑡 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)) �������� � ��
� 𝑡 = 𝐿𝑠 ��� !��
 𝑠 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1))
����� ��������� �� ��
��
� ������ "�� �
 ��#
 �!

 $����!����� ����%�

𝑊 2(𝑤, 𝑡)(𝑎2) = 𝑊 1(𝑦, 𝑠)(𝑎1) = 0 ��� 𝑊 2(𝑤, 𝑡)(𝑏2) = 𝑊 2(𝑦, 𝑠)(𝑏1) = 0

��� �
��
 𝑤 ∈ 𝒟(𝑇𝑚𝑖𝑛(𝑝2, 𝑞2, 𝑟2))� &�#
� 𝑤 = 𝐿𝑦 ∈ 𝒟(𝑇𝑚𝑖𝑛(𝑝2, 𝑞2, 𝑟2))� ��

���'�
�� �� �
 �
#
�!
� �� �
� 𝑦 ∈ 𝒟(𝑇𝑚𝑖𝑛(𝑝1, 𝑞1, 𝑟1))�

� (
 ��#
 𝑆1 = 𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)∣𝒟(𝑆1) ��� 𝐿𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)𝐿
−1 = 𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)

��� �
��


𝐿𝑆1𝐿
−1 = 𝐿𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)

∣∣
𝒟(𝑆1)

𝐿−1

= 𝐿𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)𝐿
−1
∣∣
𝐿(𝒟(𝑆1))

= 𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)
∣∣
𝐿(𝒟(𝑆1))

���

𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)
∣∣
𝐿(𝒟(𝑆1))

∗
=
(
𝐿𝑆1𝐿

−1
)∗

= 𝐿𝑆∗
1𝐿

−1

= 𝐿𝑆1𝐿
−1 = 𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)

∣∣
𝐿(𝒟(𝑆1))

�����)�

*�



������� �	 
�� ��
������ 
�����
�����
�

�� ����� �	 
����� ��
������� 
���� 
� ���� ���� �� ������� ���� 𝐿 �� � �������
�������� ��� 𝑆1 � �����
� ������� ��
	������� �������� ���� ��������  ������
!�"���  ��� ���
� ��� ���� ��������� 
��� 𝑆2 = 𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)∣𝐿(𝒟(𝑆1))�

#�
 ������ 𝑆1 �� $� � ��
	������� ���
�%����� �	 𝜏1 
��� ��������� $������� &��'
������� �� ����𝒟(𝑆1) = {𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) : 𝑊 1(𝑓, 𝑣)(𝑎1) = 0} �	 𝑎1 �� 
����'
&��&
� ��� 𝑏1 �� 
����'����� �𝒟(𝑆1) = {𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) : 𝑊 1(𝑓, 𝑢)(𝑏1) = 0}
�	 𝑎1 �� 
����'����� ��� 𝑏1 �� 
����'&��&
�� �� 𝒟(𝑆1) = {𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) :
𝑊 1(𝑓, 𝑣)(𝑎1) = 𝑊 1(𝑓, 𝑢)(𝑏1) = 0} �	 𝑎1 ��� 𝑏1 ��� $��� 
����'&��&
�� 	�� ����
𝑣, 𝑢 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) 	�
�

��(

𝑊 1(𝑣, 𝑣)(𝑎1) = 0 ��� 𝑊 1(ℎ1, 𝑣)(𝑎1) ∕= 0, �����)�

𝑊 1(𝑢, 𝑢)(𝑏1) = 0 ��� 𝑊 1(ℎ2, 𝑢)(𝑏1) ∕= 0 �����*�

	�� ���� ℎ1, ℎ2 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) ' ��&�

 +�&���� ��"� #��� ���� �&&�����( ��
,���

��� ����� ��� �������� 𝑎1�𝑏1� �� 
����'����� �	 ��� ��
� �	 𝑎2�𝑏2� �� 
����'
������

#�
� $�  ������ ����� ��� -���������� ����. 
� ����

𝐿𝑣,𝐿𝑢,𝐿ℎ1, 𝐿ℎ2 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)),

𝑊 2(𝐿𝑣,𝐿𝑣)(𝑎2) = 𝑊 2(𝐿𝑣,𝐿𝑣)(𝑎2) = 𝑊 1(𝑣, 𝑣)(𝑎1) = 0,

𝑊 2(𝐿ℎ1, 𝐿𝑣)(𝑎2) = 𝑊 2(𝐿ℎ1, 𝐿𝑣)(𝑎2) = 𝑊 1(ℎ1, 𝑣)(𝑎1) ∕= 0,
��������

𝑊 2(𝐿𝑢,𝐿𝑢)(𝑏2) = 𝑊 2(𝐿𝑢,𝐿𝑢)(𝑏2) = 𝑊 1(𝑢, 𝑢)(𝑏1) = 0,

𝑊 2(𝐿ℎ2, 𝐿𝑢)(𝑏2) = 𝑊 2(𝐿ℎ2, 𝐿𝑢)(𝑏2) = 𝑊 1(ℎ2, 𝑢)(𝑏1) ∕= 0,
��������

𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) ⇔ 𝐿𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2))

���

𝑊 1(𝑓, 𝑣)(𝑎1) = 0 ⇔ 𝑊 2(𝐿𝑓,𝐿𝑣)(𝑎2) = 0, 𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)),

𝑊 1(𝑓, 𝑢)(𝑏1) = 0 ⇔ 𝑊 2(𝐿𝑓,𝐿𝑢)(𝑏2) = 0, 𝑓 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)).

 ��� ���
� ���� 𝒟(𝑆2) = 𝐿(𝒟(𝑆1)) = {𝑔 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)) :
𝑊 2
(
𝑔, 𝐿𝑣
)
(𝑎2) = 0} �	 𝑎1 �� 
����'&��&
� ��� 𝑏1 �� 
����'����� �𝒟(𝑆2) = 𝐿(𝒟(𝑆1)) =

{𝑔 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)) : 𝑊 2
(
𝑔, 𝐿𝑢
)
(𝑏2) = 0} �	 𝑎1 �� 
����'����� ��� 𝑏1 ��


����'&��&
�� �� 𝒟(𝑆2) = 𝐿(𝒟(𝑆1)) ={𝑔 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)) : 𝑊 2
(
𝑔, 𝐿𝑣
)
(𝑎2) =

𝑊 2
(
𝑔, 𝐿𝑢
)
(𝑏2) = 0} �	 𝑎1 ��� 𝑏1 ��� $��� 
����'&��&
�� 
���� 𝐿𝑣,𝐿𝑢 ∈

𝒟(𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)) 	�
�

 �������� ��� ��������� �����&����
��

' +������ ���� 𝑎1 �� 
����'&��&
� 	�� 𝜏1 ��� 
�� 𝑆1 $� � ��
	������� ���
�%����� �	 𝜏1

��� ��������� $������� &���������� �� ��� ��� &����&����%����� �	 𝒟(𝑆1) ��
���&��$�� �� -���������� ��"��/

𝑓 ∈ 𝒟(𝑆1) ⇔ cos𝛼1 𝑊 1(𝑓, 𝛾)(𝑎1) + sin𝛼1 𝑊 1(𝑓, 𝛿)(𝑎1) = 0

"!



���� ��� ��	
����� �
����	
����	�

���� �� ��������� 𝑊 1(𝑓, 𝑢)(𝑏1) = 0� �� 𝑏1 �	 
�����
��

� ���� ��� 	��� 𝛼1 ∈ [0, 𝜋)
��� 	��� 𝑢 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) ��
�

��� �������� ����� {𝛾, 𝛿} �	 	��� ����� ���
�

��
��� ����������
 	�	��� �� (𝜏1 − 𝑧)𝑦 = 0 ���� 	��� 𝑧 ∈ ℝ� ���� 𝑊 1(𝛾, 𝛿) ≡ 1�

����
��
� �� ��� ����� �� ��� �������	 ����� ��� 
��

���	 ���� ���
����	 𝑔 ∈
𝒟(𝑆2) ��� 
����
���� �� !�

cos𝛼1 𝑊 2(𝑔, 𝐿𝛾)(𝑎2) + sin𝛼1 𝑊 2(𝑔, 𝐿𝛿)(𝑎2) = 0

���� �� ��������� 𝑊 2
(
𝑔, 𝐿𝑢
)
(𝑏2) = 0 �� 𝑏1 �	 
�����
��

�� "��� ���� ������ �#���

���� ����� ��� $����	����� ����%� {𝐿𝛾,𝐿𝛿} �	 � ���
���
��� ����������
 	�	���

�� (𝜏2 − 𝑧)𝑤 = 0 ���� 𝑊 2(𝐿𝛾,𝐿𝛿) ≡ 1�

"�� 
�� 𝜃1(⋅, 𝜆) ��� 𝜙1(⋅, 𝜆) !� ��� !�	�
 	�
�����	 ��� 𝑆1 ��
�

��� �&������

−(𝑝1𝑦
′)′ + 𝑞1𝑦 = 𝜆𝑟1𝑦

�������� ����

𝑊 1(𝜃1(⋅, 𝜆), 𝛾)(𝑎1) = cos𝛼1, 𝑊 1(𝜃1(⋅, 𝜆), 𝛿)(𝑎1) = sin𝛼1

𝑊 1(𝜙1(⋅, 𝜆), 𝛾)(𝑎1) = − sin𝛼1, 𝑊 1(𝜙1(⋅, 𝜆), 𝛿)(𝑎1) = cos𝛼1.

'�� 𝑚1 : ℂ∖ℝ → ℂ !� ��� #��
����	��(��
 𝑚����
���� ��� 𝑆1� ���� 𝑚1(𝜆) �	 ���

���&�� 
���
�� ���!�� 	�
� ���� ��� (��
 	�
�����

𝜓1(⋅, 𝜆) = 𝜃1(⋅, 𝜆) + 𝑚1(𝜆)𝜙1(⋅, 𝜆)

	���	��	 𝜓1(⋅, 𝜆) ∈ 𝐿2((𝑎1, 𝑏1); 𝑟1) ���� �� 𝑏1 �	 
�����
��

�� 𝑊 1(𝜓1(⋅, 𝜆), 𝑢)(𝑏1) = 0
��� �

 𝜆 ∈ ℂ∖ℝ�

)��� #������ ����� �� ��

��	 ���� 𝐿𝜃1(⋅, 𝜆) ��� 𝐿𝜙1(⋅, 𝜆) ��� 	�
�����	 ��

−(𝑝2𝑤
′)′ + 𝑞2𝑤 = 𝜆𝑟2𝑤.

)��� $����	����� ����% �� ��

��	 ����

𝑊 2(𝐿𝜃1(⋅, 𝜆), 𝐿𝛾)(𝑎2) = cos𝛼1, 𝑊 2(𝐿𝜃1(⋅, 𝜆), 𝐿𝛿)(𝑎2) = sin𝛼1

𝑊 2(𝐿𝜙1(⋅, 𝜆), 𝐿𝛾)(𝑎2) = − sin𝛼1, 𝑊 2(𝐿𝜙1(⋅, 𝜆), 𝐿𝛿)(𝑎2) = cos𝛼1,

��� ���
� 𝐿𝜃1(⋅, 𝜆) ��� 𝐿𝜙1(⋅, 𝜆) ��� ��� !�	�
 	�
�����	 ��� 𝑆2�

)���

�� !� ��� 
�������� �� 𝐿 ��� !� #������ ����� �� ����

𝐿𝜃1(⋅, 𝜆) + 𝑚1(𝜆)𝐿𝜙1(⋅, 𝜆) = 𝐿𝜓1(⋅, 𝜆) ∈ 𝐿2((𝑎2, 𝑏2); 𝑟2),

���� �� 𝑏1 �	 
�����
��

�� �

������ �� $����	����� ����% �� ��
�	 ����

𝑊 2
(
𝐿𝜓1(⋅, 𝜆), 𝐿𝑢

)
(𝑏2) = 0� 𝜆 ∈ ℂ∖ℝ� #��	 	���	 ���� 𝐿𝜓1(⋅, 𝜆) �	 ��� (��


	�
����� ��� 𝑚1 �	 ��� #��
����	��(��
 𝑚����
���� ��� 𝑆2�

□

*�



������� �	 
�� ��
������ 
�����
�����
�

������ ��	�		� ��� �������	
 �	
���
�
� ��� 
�
�
�� 	�����	�� �	��� ���� ���	

���
 ��	��� �� ���
�

𝑇𝑚𝑖𝑛(𝑝1, 𝑞1, 𝑟1) = 𝑇0(𝑝1, 𝑞1, 𝑟1)

= 𝐿−1𝑇0(𝑝2, 𝑞2, 𝑟2)𝐿

= 𝐿−1𝑇0(𝑝2, 𝑞2, 𝑟2)𝐿 = 𝐿−1𝑇𝑚𝑖𝑛(𝑝2, 𝑞2, 𝑟2)𝐿

�
 ���
� 	� ��
��� ������	
��

��� �� ����	
� ��
�
�

�� ���� �����	� 
� 
��� �	 �
	�� ��� �	���
�� 	� ���	
�� ������� �� ��	
 ����� ��
�
	 �������	��� 
��������	�� 
��� ����
���� �	����
� �	�����	�� 	� �	�� � ��!�
������
�"�
����	�� 𝜏1 ��� 𝜏2 ���� ��� ���� �����
�� �����
�� ���
� �� �  �	������ �
����	
����	�
�
����	
���# 𝜏1 ���	 𝜏2� $���
 ����
�� ��!�
��� ���	������ ���� 
����� �� %�	
� �
	�
��� ����
���
�� &	
 ��� ���� 	� '���� ��� 
�#���
 ���� ����	���� ��� 𝑟 ≡ 1 �� ��� �� �	���
�� ()����* 	
 �	
 ��� ����+��'���� ���� �� ())��,* 	
 (-�%�.*� ��� ���	 (-�%*� 
���� ��
��� �	�
�� ��� ����� �
������� ��
� �
� ������ ��%�� �
	� /��
�� �	�� �
	� ()����*0�
��� �� �����	��� ��	�� ���� ����
 	��� ����� 
��� ��� ���� 𝑝 = 𝑟 ≡ 1 ��� �����
��� �	����� 	� �  �	������ �
����	
����	� 
������ �	 � ������ ����� 	� ��� ����
����#
����
����

�� ���� �����	� ��� 𝜏1 = 𝜏(𝑝1, 𝑞1, 𝑟1)� 𝜏2 = 𝜏(𝑝2, 𝑞2, 𝑟2) �� �
	 � ��!�
������ �"�
����	��
	� ����
���� (𝑎1, 𝑏1) 
����������� (𝑎2, 𝑏2) ���� ���� 𝑎1 �� �����+��
��� �	
 𝜏1 ��� 𝑎2 �� �����+
��
��� �	
 𝜏2 ��� ��� 𝑆1, 𝑆2 �� �
	 ���	������ ����+���	��� 
��������	�� 
��� ����
����
�	����
� �	�����	��� �� �
	���� ���
� ���	������ 1������� ��� 	����� 	� 2�����
 �
��� 2�����
 . 
��� � �����
��� 	
 ����
��
��� �	 �������� ��� �3�����	�� ��#� �� 𝜌1 
�
���	�� � �����
�� �����
� �	���
����� �� �� �����	� ��4 ���	������ 
��� 𝑆1� 
��
��� 𝜌2
���	��� ��� �����
�� �����
� ���	������ 
��� 𝑆2�


������ ��
�	� ��� (𝑝1, 𝑞1, 𝑟1) �
� (𝑝2, 𝑞2, 𝑟2) �� ��	 ������ 	� �� �	�����
�� ���
��

	
 (𝑎1, 𝑏1) ������������ (𝑎2, 𝑏2) �
� �	�� ������� �	 /����.0� ��� 𝜏1 = 𝜏(𝑝1, 𝑞1, 𝑟1) �
�

𝜏2 = 𝜏(𝑝2, 𝑞2, 𝑟2) �� ��� ���	������ �� ������
���� ��������	
� �
� ����
� ���� 𝑎1 ��

��
��������� �	� 𝜏1 �
� ���� 𝑎2 �� ��
��������� �	� 𝜏2� ��� 𝑆1 �
� 𝑆2 �� ��	 ��������	�
�

����� ���	
� 	� 𝜏1 ������������ 𝜏2 ���� ��������� �	�
���� �	
����	
� �
� ��� 𝜌1 �
� 𝜌2
�� �������� 
������� �	
�������� �� �
 �����	
 !�" ���	������ ���� 𝑆1 ������������ 𝑆2�

����	�� ���� 𝜌1 = 𝜌2� ���
 ����� ������ � ��	������ ���
��	�
���	
 𝐿 ���� ���� 𝑆1 �
�

𝑆2 ��� �
������� �#������
� ��� 𝐿$ ���� 𝑆2 = 𝐿𝑆1𝐿
−1� ��� ��	������ ���
��	�
���	
 𝐿 ��

��� �
����� 	� � ��	������ ���
��	�
���	
 ���	
��
� �	 ��
���	
� 𝑣 �
� 𝑢$ ����� 𝑣 �
�
𝑢 �������� ������� /�����0� %������
	��$ ��� �� �	�����
�� (𝑝1, 𝑞1, 𝑟1) �
� (𝑝2, 𝑞2, 𝑟2)
��� ������� �� �
 /����.0 �
� ��
�� �� ���
 ���� 𝐿𝜏1𝑦 = 𝜏2𝐿𝑦 �	� ��� 𝑦 ∈ 𝒟(𝜏1)
&�	
���� ���	��
 '�!�'(� )
 ����������$ ��� �� �#����	
 ���	������ ���� (𝑝1, 𝑞1, 𝑟1) ��


�� ���
��	�
�� �
�	 ��� 	
� ���	������ ���� (𝑝2, 𝑞2, 𝑟2) �� � ��	������ ���
��	�
���	
�

�� ����� ��� '
�� ��
� 	� ��� �
		� �� � ����
��� ������
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���� �� ����	
� ��
�
�

����� ������ ��� ��� ���������� �	 
������ 
���� ����� 
��� ����� ������ � 	�������

𝑢 ������� (𝑎1, 𝑏1) ����������� ���� (𝑎2, 𝑏2) ���� ���� ��� �� ������� ������ ��������

������� � ���������� !��� 𝑆1 ��� 𝑆2" ������������" �����	� 𝐵1(𝑥1) = 𝐵2(𝑢(𝑥1))" 𝑥1 ∈
(𝑎1, 𝑏1)� #� ���� 𝑢 ∈ 𝐶1(𝑎1, 𝑏1)" 𝑢′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) ��� 𝑢′ > 0 �� (𝑎1, 𝑏1)�

�	

�� �� ����� �	�� 
�� ���	 𝑥1 ∈ (𝑎1, 𝑏1) �
� ���	 𝑥2 ∈ (𝑎2, 𝑏2) �	� ������
�
�
 �	� �� ���
��� 
�
����
� 𝐸1

𝑥1
�
� 𝐸2

𝑥2
�� �
 ���
��� ���� �
 ℂ+� �������
� ��

����������
 ������� 
�� ���	 𝑥1 ∈ (𝑎1, 𝑏1) �	� 
�
����
� 𝜑1(𝑥1, ⋅) �
� (𝑝𝜑′
1)(𝑥1, ⋅) ����
�

�� �	� ���� ���	� ����� 𝒞 �
� �� ����

𝐸1
𝑥1

= 𝜑1(𝑥1, ⋅) + i(𝑝𝜑′
1)(𝑥1, ⋅).

!	� ���� 	���� 
�� �	� �� ���
��� 
�
����
 𝐸2
𝑥2
� 𝑥2 ∈ (𝑎2, 𝑏2)� �� � �	����� �
 "���


#��� $%�&'�(� )�����
 ����� !	����� � �� $�)*�(� !	����� �+ �	� ����� 𝒞 ��
����� �

��� �
���� 
�
����
� 𝑓 
��  	��	 �	� 
�
����
 ln+ ∣𝑓 ∣ 	�� #������&�+ 	����
�� ��,���
��
�
 ���	 �	� ����� �
� �	� �� �� ������- 	��
.���
�� ℂ+ �
� ℂ−� !	��� 
�
����
�� �

���
� ��� ��������� �	� �
���� 
�
����
�  	��	 ��� �
 ���
��� ���� �
 ℂ+ �
� ℂ− #����
����� $���*/(� )�����
 0��+� ��������� �	�� ����&���
�� �� �
��
 ���� 
�� �
 �����
���&�
��1
����
 �
 ���
� �
 ���
��� ����� 2� �&���  � ��� �	�� 𝐸1

𝑥1
�
� 𝐸2

𝑥2
��� �
 ���
���

���� �
 ℂ+ 
�� ���	 𝑥1 ∈ (𝑎1, 𝑏1) �
� ���	 𝑥2 ∈ (𝑎2, 𝑏2) �
� �� �� �	��� ������
� 𝐸1
𝑥1

/𝐸2
𝑥2

������� 𝐸2
𝑥2
���� 
�� 	�&� �
� 3���� �
 ℂ+�

4� 1- ���� ��������� 𝑥1 ∈ (𝑎1, 𝑏1)� �� ��������� 5���0� 
�� ���	 𝑥2 ∈ (𝑎2, 𝑏2)� ���	
𝐵1(𝑥1) �
� 𝐵2(𝑥2) ��� ������������� �������� �
 𝐿2(ℝ; 𝜌) (𝜌 := 𝜌1 = 𝜌2)� �
�  �
�

�� 
��� !	����� ��5�� �	�� 𝐵1(𝑥1) �� ��
���
�� �
 𝐵2(𝑥2) �� 𝐵2(𝑥2) �� ��
���
�� �

𝐵1(𝑥1)� 4��� �	�� 𝐸1

𝑥1
/𝐸2

𝑥2
	�� �
���� 
� ���� 3���� �� ��
���������� ��
�� 𝐸1

𝑥1
�
� 𝐸2

𝑥2

�� 
�� 	�&� ���� 3�����

)�� #�� �	� ����
� 𝑥1 �� ����� 1-��+

𝑢(𝑥1) = inf{𝑥2 ∈ (𝑎2, 𝑏2) : 𝐵1(𝑥1) ⊆ 𝐵2(𝑥2)}.

6����� 
��� �	�� �	� ��� �
 �	� ���	�.	�
� ���� �� 
�� ����� ������� ��	�� ���  � 	��
𝐵2(𝑥2) ⊊ 𝐵1(𝑥1) 
�� ��� 𝑥2 ∈ (𝑎2, 𝑏2)� �� ��������� 5���0 �	��  ���� ���
 �	�� 𝐵1(𝑥1) ��
��
�� �
 𝐿2(ℝ; 𝜌)� ��
��������
� ��������� 5���/� 2�
���  � �� ��� 	�&� 𝑢(𝑥1) ∈ [𝑎2, 𝑏2)�
2� �&��� 𝑢(𝑥1) = 𝑎2 �
 �
� �
�� �
 𝐵1(𝑥1) ⊆ 𝐵2(𝑥2) 
�� ��� 𝑥2 ∈ (𝑎2, 𝑏2)� !	��  ����
����� �	�� 
�� �&��� 
�
����
 ℎ ∈ 𝐵1(𝑥1) �
� 𝜁 ∈ ℂ  � 	��

∣ℎ(𝜁)∣ = ∣⟨ℎ,𝐾2
𝑥2

(𝜁, ⋅)⟩𝐵2(𝑥2)∣ ≤ ∥ℎ∥𝐵2(𝑥2)⟨𝐾2
𝑥2

(𝜁, ⋅),𝐾2
𝑥2

(𝜁, ⋅)⟩
1
2

𝐵2(𝑥2)

= ∥ℎ∥𝐵1(𝑥1)𝐾
2
𝑥2

(𝜁, 𝜁)
1
2


�� ���	 𝑥2 ∈ (𝑎2, 𝑏2)� )�
�� 𝐾2
𝑥2

(𝜁, 𝜁)
𝑥2→𝑎2−−−−→ 0 �� #5���/+�  � �	�
 	�� 𝐵1(𝑥1) = {0}�

��
��������
� !	����� 5���5� )�  � 	�&� 𝑢(𝑥1) ∈ (𝑎2, 𝑏2)�

4� � 
��� #5���7+  � �

�� �	��

𝐵2(𝑢(𝑥1)) =
∪

𝑥2<𝑢(𝑥1)

𝐵2(𝑥2) ⊆ 𝐵1(𝑥1) ⊆
∩

𝑢(𝑥1)<𝑥2

𝐵2(𝑥2) = 𝐵2(𝑢(𝑥1))

/�



������� �	 
�� ��
������ 
�����
�����
�

��� ����� ����

𝐵1(𝑥1) = 𝐵2(𝑢(𝑥1)), �	
�
�


��������� ��� ����� �������


��� �� ��� ���� ���� 𝑥1 ��� �������� 𝑢 �� � �������� 𝑢 : (𝑎1, 𝑏1) → (𝑎2, 𝑏2) : 𝑥1 �→
𝑢(𝑥1)
 ���� ���� 𝑢 �� �������� ������ �� �	
�
�

 �� ������� �� ���� ���� 𝑢 ��� ���
������� ����������
  � !�������� �
�
" �� �� ����� ���� 𝑢 �� �������� ����������
 #��������$
�� ���� ���� 𝑢 �� ���������� ��� 𝑥, 𝑥𝑛 ∈ (𝑎1, 𝑏1)$ 𝑛 ∈ ℕ$ ��� 𝑥𝑛 ↑ 𝑥
  � !�������� �
�
"
�� ����

𝐵1(𝑥) =
∪
𝑛∈ℕ

𝐵1(𝑥𝑛) =
∪
𝑛∈ℕ

𝐵2(𝑢(𝑥𝑛)) = 𝐵2

(
sup
𝑛∈ℕ

𝑢(𝑥𝑛)

)
= 𝐵2

(
lim
𝑛∈ℕ

𝑢(𝑥𝑛)

)
��� ����� 𝑢(𝑥) = lim𝑛∈ℕ 𝑢(𝑥𝑛)
 %��������$ �� 𝑥𝑛 ↓ 𝑥$ �� ������

𝐵1(𝑥) =
∩
𝑛∈ℕ

𝐵1(𝑥𝑛) =
∩
𝑛∈ℕ

𝐵2(𝑢(𝑥𝑛)) = 𝐵2

(
inf
𝑛∈ℕ

𝑢(𝑥𝑛)

)
= 𝐵2

(
lim
𝑛∈ℕ

𝑢(𝑥𝑛)

)
,

������� ���� 𝑢(𝑥) = lim𝑛∈ℕ 𝑢(𝑥𝑛)


#� ���� ���� 𝑢 �� �������� � ��&������ �� �� ��'����� �� ���� ���� 𝑢(𝑥1) → 𝑎2 �� 𝑥1 ↓ 𝑎1
��� ���� 𝑢(𝑥1) → 𝑏2 �� 𝑥1 ↑ 𝑏1
 (������$ ��� ���� ����� ������� ���� �������� ��
�
"



𝐾2
𝑢(𝑥1)

(𝜁, 𝜁) = 𝐾1
𝑥1

(𝜁, 𝜁)
𝑥1→𝑎1−−−−→ 0, 𝜁 ∈ ℂ,

��� ������ ��� �� ����� � ������ ����������� �� ��
�
)
 ��� ��
�
*

 ������$ ������

���� 𝑢(𝑥1) ↛ 𝑏2 �� 𝑥1 ↑ 𝑏1
 #��� �� ��� sup𝑥1∈(𝑎1,𝑏1) 𝑢(𝑥1) = 𝑐 < 𝑏2 ���

𝐿2(ℝ; 𝜌) =
∪

𝑥1∈(𝑎1,𝑏1)
𝐵1(𝑥1) =

∪
𝑥1∈(𝑎1,𝑏1)

𝐵2(𝑢(𝑥1)) = 𝐵2(𝑐) ⊊ 𝐿2(ℝ; 𝜌).

���$ ������� �� 𝐾2
𝑢(𝑥1)

(𝑧, 𝑧) = 𝐾1
𝑥1

(𝑧, 𝑧)$ 𝑧 ∈ ℂ$ ��� ����� ��
�
"
 �� ���∫ 𝑢(𝑥1)

𝑎2

∣𝜑2(⋅, 𝑧)∣2𝑟2(⋅)𝑑𝑥 =

∫ 𝑥1

𝑎1

∣𝜑1(⋅, 𝑧)∣2𝑟1(⋅)𝑑𝑥, 𝑥1 ∈ (𝑎1, 𝑏1).

(�����$ ��� �� ��� ���������� �	
+
�
$ ���� ���������� ��� ����������
 �� 𝑧 ∈ ℂ∖ℝ$ ����
����������$ �� ���������� ��� ���� ���$ �� ��� ������ ��� ����� ��� �������� ��������

������� ������ ���� 𝑢 �� ������������ ��,���������� ��� ����

∣𝜑2(𝑢(𝑥1), 𝑧)∣2𝑟2(𝑢(𝑥1)) ⋅ 𝑢′(𝑥1) = ∣𝜑1(𝑥1, 𝑧)∣2𝑟1(𝑥1), 𝑥1 ∈ (𝑎1, 𝑏1). �	
�
�


���� ���� ���� ����� ��� ��� 𝑧 ∈ ℂ
 (������$ ��� 𝑧 ∈ ℂ ∖ ℝ �� ����

𝑢′(𝑥1) =
∣𝜑1(𝑥1, 𝑧)∣2𝑟1(𝑥1)

∣𝜑2(𝑢(𝑥1), 𝑧)∣2𝑟2(𝑢(𝑥1))
> 0, 𝑥1 ∈ (𝑎1, 𝑏1), �	
�
	


��� #������ -
�
� ����� ���� 𝑢′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1)
 □

")



���� �� ����	
� ��
�
�

��� ��� ����� �� 	�����
 ��
�� �� ���� ������� ��

��

����� ������ ������� 𝐻 �� � �	�
��� 
�� �	 � �����
�� 𝐿2������ 𝐿2((𝑎, 𝑏); 𝑟) ��
�


�� ������
� 
��


sup(supp𝐻𝑦) = sup(supp 𝑦), 𝑦 ∈ 𝐿2((𝑎, 𝑏); 𝑟). ���
���

���	 𝐻 �� 
��
������
��	 �� � ��	�
��	 ℎ ∈ 𝐿∞(𝑎, 𝑏) �� ������
� ����� 1 ��
��
 ������

������

�	

�� �������� �� 
�� ����
� 𝑟 ≡ 1� ���������� �������� ��� 
�� 𝑇𝐻𝑇−1 �����

𝑇 : 𝐿2((𝑎, 𝑏); 𝑟) → 𝐿2(𝑎, 𝑏) : 𝑦 �→ 𝑟
1
2 𝑦.

� !������� 𝑇 �� ������� ��� ������!�� �������� ��� ����� 𝑇𝐻𝑇−1 : 𝐿2(𝑎, 𝑏) → 𝐿2(𝑎, 𝑏)
�� ������� ��� ��� ��� ����
�� ��������� "� ���� 𝑇𝐻𝑇−1 = 𝑀ℎ �� 
�������������  � ℎ�
�� �� 𝐻 = 𝑇−1𝑀ℎ𝑇 = 𝑀ℎ�

#�� 𝐻 : 𝐿2(𝑎, 𝑏) → 𝐿2(𝑎, 𝑏)  � ������� ��� ������� ���
���� $������� 𝐻−1 ��� ��� ��
�

�������� �� 𝐻 ��� ���� 𝐻(𝐿2(𝑎, 𝑐)) = 𝐿2(𝑎, 𝑐) ��� �!��� 𝑐 ∈ (𝑎, 𝑏)� %����� �� 𝑦 = 0
�� (𝑎, 𝑐) ����� ���� �� �� ��� �
��� ����� �� �� ���������� �� 𝐿2(𝑎, 𝑐)� ��� 𝐻 ��������

������!�� ���!�& ����� �� ���������

#�� (𝑐, 𝑑) ⊆ (𝑎, 𝑏)  � �� �� ������ ���� �� �����!�� �� (𝑎, 𝑏)� ��� 𝑦 ∈ 𝐿2(𝑎, 𝑏) �� ��!�

𝑦 = �(𝑎,𝑐)𝑦 + �(𝑐,𝑑)𝑦 + �(𝑑,𝑏)𝑦 ����

���

�(𝑎,𝑐)𝐻𝑦 + �(𝑐,𝑑)𝐻𝑦 + �(𝑑,𝑏)𝐻𝑦 = 𝐻𝑦 = 𝐻�(𝑎,𝑐)𝑦 + 𝐻�(𝑐,𝑑)𝑦 + 𝐻�(𝑑,𝑏)𝑦 ����.

'������ �� ��� ���!���� � ���!����� �� �������� ����

𝐻�(𝑐,𝑑)𝑦 = �(𝑐,𝑑)𝐻𝑦, ���
�(�

��� ����� �� ��!�∫ 𝑑

𝑐

∣𝐻𝑦∣2𝑑𝑥 =

∫ 𝑑

𝑐

∣𝑦∣2𝑑𝑥, 𝑎 ≤ 𝑐 < 𝑑 ≤ 𝑏, 𝑦 ∈ 𝐿2(𝑎, 𝑏). ���
�)�

*�� ���
(
(𝑐𝑛, 𝑑𝑛)

)
𝑛∈ℕ  � �� ���������� ��+����� �� �� �����!��� �� (𝑎, 𝑏) ���� ���� �!���

(𝑐𝑛, 𝑑𝑛) �� ,���� ��� ∪
𝑛∈ℕ

(𝑐𝑛, 𝑑𝑛) = (𝑎, 𝑏).

�� ���� 
�� ��,�� � �������� ℎ ∈ 𝐿∞(𝑎, 𝑏)  � ��,���� �� �� �!��� (𝑐𝑛, 𝑑𝑛) �� �������-
#�� 𝑦𝑛 = �(𝑐𝑛,𝑑𝑛)� .���� (𝑐𝑛, 𝑑𝑛) �� ,����� �� ��!� 𝑦𝑛 ∈ 𝐿2(𝑎, 𝑏) ��� �� ��� ��� ℎ = 𝐻𝑦𝑛
�� (𝑐𝑛, 𝑑𝑛)� '������ �� ���
�)� �� � ���� ���
 ��� #� ����� ��/����������� 	�����


���� ℎ ��� � ������ !���� 1 ���� �� (𝑐𝑛, 𝑑𝑛)� ��� ���
�(� ����� ���� ℎ �� ������ ����0

��,��� �� ��� �� (𝑎, 𝑏)� �� �!�� ��!� �(𝑐,𝑑)ℎ = 𝐻�(𝑐,𝑑) ��� �!��� ,���� �� �����!��

�1



������� �	 
�� ��
������ 
�����
�����
�

(𝑐, 𝑑)� �������� ��	
 ��
� 
���
 𝑀ℎ�(𝑐,𝑑) = 𝐻�(𝑐,𝑑)� ����� 𝑀ℎ �� �	
���
�
����� �� ℎ�
�� 
�������� �� ��

��� ���� 𝑀ℎ𝑦 = 𝐻𝑦 ��� ����� ��������
� ���� �	�
���� 𝑦� ���
� ���

��� �� ��������
� ���� �	�
����� �� ����� �� 𝐿2(𝑎, 𝑏) ��� ���� 𝑀ℎ ��� 𝐻 ��� 
�����	�	�
�� 𝐿2(𝑎, 𝑏)� �� 
��

	�� ���� 𝑀ℎ = 𝐻�

□

����� �� ������� 	
�
�
 ��� 𝑢 �� ��� �	�
���� ���� ����� ������ �����

𝑣 : (𝑎1, 𝑏1) → ℝ ��

𝑣(𝑥) =

√
𝑢′(𝑥)

𝑟2(𝑢(𝑥))

𝑟1(𝑥)
, 𝑥 ∈ (𝑎1, 𝑏1). ����� !

"��� ���� 𝑣(𝑥) > 0� 𝑥 ∈ (𝑎1, 𝑏1)� �� ������! �� ����� ��� 𝜆 ∈ ℂ ∖ ℝ�

𝑣(𝑥) =

√
∣𝜑1(𝑥, 𝜆)∣2

∣𝜑2(𝑢(𝑥), 𝜆)∣2 =
∣𝜑1(𝑥, 𝜆)∣

∣𝜑2(𝑢(𝑥), 𝜆)∣ , 𝑥 ∈ (𝑎1, 𝑏1). �����#!

���
� ��� ����
��� �� 
�����	�	�
� ��$��������
� ���� ����
	��
� 
�����	�	� ����������

��� %������ &�'�'! ��� ������� ���� (��� ��� �

 𝑥 ∈ (𝑎1, 𝑏1)� �� ��� ���� 𝑣 ∈ 𝐶1(𝑎1, 𝑏1)
���� 𝑣′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) ��� %������ &�'�'!�

�� ��� �	�
����� 𝑣 ��� 𝑢 ������ ������� ���'�'! ��� ���
� ���� ���� �� � ���	��

� �����)

��������� ����� ������� �� ���� �� ������ �� 𝐿� ���� 𝐿 �� ��� ���	��

� ��������������

��
������ �� 1
𝑣
∘ 𝑢−1 ��� 𝑢−1� *��� ����� ! �� ������ ��� ��
�����

𝑟2 =
𝑣2𝑟1
𝑢′ ∘ 𝑢−1, �����+!

��� ���
� 	���� %������ ��'�� �� ��� ���� 𝐿 �� � 	������ ������� �� 𝐿2((𝑎1, 𝑏1); 𝑟1)
���� 𝐿2((𝑎2, 𝑏2); 𝑟2)�

"�� 
������� ��� ������
�(�� *�	���� ���������� 𝑈1 ��� 𝑈2 ��
������ �� 𝑆1 ��� 𝑆2�

�����
����
�� %�� ���	������ 𝜌1 = 𝜌2 ��� ��� ��

����� �� ����� 𝜌 = 𝜌1 = 𝜌2! ���
���

���� 𝑈1 ��� 𝑈2 ���� ��� ���� ������ ���
�� �� �� ��� 
������� ��� 
���������� 𝑉 =
𝑈−1
2 𝑈1 ��� ������ � 	������ ��� 𝑉 : 𝐿2((𝑎1, 𝑏1); 𝑟1) → 𝐿2((𝑎2, 𝑏2); 𝑟2)�

𝑉

𝐿2(ℝ; 𝜌)

𝑈1

𝐿2((𝑎1, 𝑏1); 𝑟1)

𝑈−1
2

𝐿2((𝑎2, 𝑏2); 𝑟2)

-� ��

 ���� ���� 𝑉 = ±𝐿� ���
�

𝑆1 = 𝑈−1
1 𝑀id𝑈1, 𝑆2 = 𝑈−1

2 𝑀id𝑈2

.#



���� �� ����	
� ��
�
�

���������� 𝑀id �� �	
���
�
����� ���� id : 𝑡 �→ 𝑡 �� 𝐿2(ℝ; 𝜌)�� �� ����

𝑆2 = 𝑈−1
2 𝑈1𝑆1𝑈

−1
1 𝑈2 = 𝑉 𝑆1𝑉

−1 = 𝐿𝑆1𝐿
−1.

��� ���� ���� �� ������� 𝑉 = ±𝐿 �� �� ���� ���� 𝑉 ���� 𝐿2((𝑎1, 𝑥1); 𝑟1) ����

𝐿2((𝑎2, 𝑢(𝑥1); 𝑟2) ��� ��
� 𝑥 ∈ (𝑎1, 𝑏1)� �������� ���� ��

��� ���� ���� ��� �������

��
�� ��� 
������ ���� ��� ����� �� ����

��� ������

𝑈1(𝐿
2((𝑎1, 𝑥1); 𝑟1)) = 𝜚(𝐵1(𝑥1)) = 𝜚(𝐵2(𝑢(𝑥1)) = 𝑈2(𝐿

2((𝑎2, 𝑢(𝑥1)); 𝑟2)). ������ �

𝜚 𝜚

𝑈1
𝑥1

𝑈2
𝑢(𝑥1)𝑈1 𝑈2

𝐿2(ℝ; 𝜌)

𝐵1(𝑥1) 𝐵2(𝑢(𝑥1))

𝐿2((𝑎1, 𝑥1); 𝑟1) 𝐿2((𝑎2, 𝑢(𝑥1)); 𝑟2)

=

#� �����
	
��� ������ � ���
��� �����

sup(supp𝑉 𝑓) = 𝑢(sup(supp 𝑓)), 𝑓 ∈ 𝐿2((𝑎1, 𝑏1); 𝑟1).

�������� ��� $��	��

� �������������� 𝐿−1 : 𝐿2((𝑎2, 𝑏2); 𝑟2) → 𝐿2((𝑎1, 𝑏1); 𝑟1) : 𝑓 �→
𝑣 ⋅ (𝑓 ∘ 𝑢)� "��
� 𝑣 ∕= 0 �� (𝑎1, 𝑏1) ��� 𝑢 : (𝑎1, 𝑏1) → (𝑎2, 𝑏2) �� � ��%����������� ��

����

supp𝐿−1𝑓 = 𝑢−1(supp 𝑓), 𝑓 ∈ 𝐿2((𝑎2, 𝑏2); 𝑟2).

#� ���������
� ��

��� ���� ��� 	������ ��� 𝐿−1𝑉 : 𝐿2((𝑎1, 𝑏1); 𝑟1) → 𝐿2((𝑎1, 𝑏1); 𝑟1)
�����&�� ��� ���	������ �� $���� ������ ����

sup(supp𝐿−1𝑉 𝑓) = sup(supp 𝑓), 𝑓 ∈ 𝐿2((𝑎1, 𝑏1); 𝑟1),

��� �� ����� ���� 𝐿−1𝑉 = 𝑀ℎ �� �	
���
�
����� �� � �	�
���� ℎ ∈ 𝐿∞(𝑎1, 𝑏1) �� ����
	��
��
	� 1 �
���� �����������

'��� �� ���(�)� ��� !���������� ��(�* �� �� 

��� ���� 𝑈1 ���� ���
+��
	�� �	�
�����

𝑓 ∈ 𝐿2((𝑎1, 𝑏1); 𝑟1) ���� 
����
� �	����� �� ���
+��
	�� �	�
����� �� 𝐿2(ℝ; 𝜌)� "��
�

��� ��� �� ���
+��
	�� �	�
����� �� 𝐿2(ℝ; 𝜌) �� � 

���� �	����
� �� 𝐿2(ℝ; 𝜌) ��� 𝑈1𝑓 =
lim𝑛→∞ 𝑈1𝑓𝑛 ��� ����� 𝑓 ∈ 𝐿2((𝑎1, 𝑏1); 𝑟1)� ����� (𝑓𝑛)𝑛∈ℕ �� � ��,	��
� �� �	�
����� ��

𝐿2((𝑎1, 𝑏1); 𝑟1) ���� 
����
� �	����� 
��������� �� 𝑓 � �� ��� ���� 𝑈1 ���� ���
+��
	��

�	�
����� �� ���
+��
	�� �	�
������ ��� ���� ��
�� ��� 𝑈2 ��� �� �� ���� ��� 𝑉 ��� ����

��� 𝐿−1𝑉 ���
� 𝐿−1 �����	�
� ���� ���
+��
	�� �	�
����� �� ���
+��
	�� �	�
������ -�

����� ���� ℎ �	�� �� ���
+��
	�� ��� ���
� ℎ = ±1 �
���� �����������

��� sup(supp 𝑓) = 𝑏1� ���� �	
����
 ��� �� �� 

�������� �
 ����� �� ������ ������

*)



������� �	 
�� ��
������ 
�����
�����
�

���� ����� �	
	�� �
 ������� 
��
 𝑉 𝜓1(⋅, 𝜆) = 𝜓2(⋅, 𝜆)� 𝜆 ∈ ℂ ∖ℝ� ��� ����� 
��

𝐿−1𝜓2(⋅, 𝜆) = ℎ ⋅ 𝜓1(⋅, 𝜆).

�� ���� 
�� ����
��� �� 
�� ���
����� ���� �� ������
��� ���
������ ��� �� �� 
�� ����
���
�� 
�� ����
����� ����	 ������� 𝜓1(𝑥, 𝜆) ∕= 0� 𝑥 ∈ (𝑎1, 𝑏1)� 𝜆 ∈ ℂ ∖ ℝ� ℎ �����
 ����
��� ����
� �� ������
����
�� ������� ℎ ≡ 1 �� ℎ ≡ −1 �	�	� 
��� 𝐿−1𝑉 = ± Id ���
𝑉 = ±𝐿 ������	

 � ���� 
� ���� 
��
 (𝑝1, 𝑞1, 𝑟1) ��� (𝑝2, 𝑞2, 𝑟2) ��� ����
�� �� �� !�	�	"#	 ��� 𝑟1 ��� 𝑟2

��� �� !�	"	$#	 �� ����� 
� ���� 
�� ����� ��� 𝑝1 ��� 𝑝2� �� ��� %�������� �	
	�
	 ��
!�	
	��# �� ����

lim
𝑡→∞

√
2

𝑡
ln

∣∣∣∣𝜑1(𝑥̃, i𝑡)

𝜑1(𝑥̂, i𝑡)

∣∣∣∣ = ∫ 𝑥̃

𝑥̂

√
𝑟1
𝑝1

𝑑𝑥, 𝑥̃, 𝑥 ∈ (𝑎1, 𝑏1),

lim
𝑡→∞

√
2

𝑡
ln

∣∣∣∣𝜑2(𝑦, i𝑡)

𝜑2(𝑦, i𝑡)

∣∣∣∣ = ∫ 𝑦

𝑦

√
𝑟2
𝑝2

𝑑𝑦, 𝑦, 𝑦 ∈ (𝑎2, 𝑏2).

!�	"	��#

���� !�	"	"# ��� !�	"	&# �
 ������� 
��
 �� ����

∣𝜑1(𝑥1, 𝜆)∣2 = 𝑣(𝑥1)
2∣𝜑2(𝑢(𝑥1), 𝜆)∣2, 𝑥1 ∈ (𝑎1, 𝑏1), 𝜆 ∈ ℂ, !�	"	�"#

��� �����

∣𝜑1(𝑥̃, i𝑡)∣
∣𝜑1(𝑥̂, i𝑡)∣ =

𝑣(𝑥̃)

𝑣(𝑥̂)

∣𝜑2(𝑢(𝑥̃), i𝑡)∣
∣𝜑2(𝑢(𝑥̂), i𝑡)∣ , 𝑥̃, 𝑥̂ ∈ (𝑎1, 𝑏1), 𝑡 > 0.

���� !�	"	��# �� ����� 
��
∫ 𝑥

𝑥̂

√
𝑟1
𝑝1

𝑑𝑥 =

∫ 𝑢(𝑥̃)

𝑢(𝑥̂)

√
𝑟2
𝑝2

𝑑𝑦, 𝑥̃, 𝑥 ∈ (𝑎1, 𝑏1).

'�(����
��
��� ��
� ������
 
� 𝑥̃ ������√
𝑟1
𝑝1

(𝑥̃) =

√
𝑟2
𝑝2

∘ 𝑢(𝑥̃) ⋅ 𝑢′(𝑥̃), 𝑥̃ ∈ (𝑎1, 𝑏1),

��� ����� !�	"	$# �� )����� ��
 ��
�� � ������ �������
���

𝑝2 = (𝑣2𝑝1𝑢
′) ∘ 𝑢−1. !�	"	��#

�
 ������� 
� ���� 
��
 𝑞1 ��� 𝑞2 ��� ����
�� �� �� !�	�	"#	

�� !�	"	�"# �� ����

𝜑1(𝑥1, 𝜆)2 = (𝑣(𝑥1)𝜑2(𝑢(𝑥1), 𝜆))2, 𝑥1 ∈ (𝑎1, 𝑏1), 𝜆 ∈ ℝ.

*���� 
�� +���� �� ����� ���
������ ����
��� �� � *� �,��
��� ��
� ���� ����
��� ������
��
��� �����
�� �� 
�� ��
����� �� 
�� ���������� ��
������ ������� -������ "	.	� �� /0�
1
2�
�� ��� 
�3� ������
���� ������
���� ��� ��
���

𝜑′
1(𝑥1, 𝜆)

𝜑1(𝑥1, 𝜆)
=

(𝑣(𝑥1)𝜑2(𝑢(𝑥1), 𝜆))′

𝑣(𝑥1)𝜑2(𝑢(𝑥1), 𝜆)
��� �����
 ��� 𝑥1 ∈ (𝑎1, 𝑏1), 𝜆 ∈ ℝ, !�	"	�4#


1



���� �� ����	
� ��
�
�

��� �����

𝑝1(𝑥1)𝜑
′
1(𝑥1, 𝜆)

𝜑1(𝑥1, 𝜆)
=

𝑝1(𝑥1)𝑣
′(𝑥1)𝜑2(𝑢(𝑥1), 𝜆)

𝑣(𝑥1)𝜑2(𝑢(𝑥1), 𝜆)
+

𝑝1(𝑥1)𝑣(𝑥1)𝜑
′
2(𝑢(𝑥1), 𝜆)𝑢′(𝑥1)

𝑣(𝑥1)𝜑2(𝑢(𝑥1), 𝜆)

=
𝑝1(𝑥1)𝑣

′(𝑥1)

𝑣(𝑥1)
+

𝑝2(𝑢(𝑥1))𝜑
′
2(𝑢(𝑥1), 𝜆)

𝑣2(𝑥1)𝜑2(𝑢(𝑥1), 𝜆)
����, 𝜆 ∈ ℝ,

���	� 
�� ������ �
����
� �� ��� 
� ���������

����	��
��
��� ��� ����� 
��


−(𝑝1𝜑1(⋅, 𝜆)′)′ + 𝑞1𝜑1(⋅, 𝜆) = 𝜆𝑟1𝜑1(⋅, 𝜆) ���� �� (𝑎1, 𝑏1),

−(𝑝2𝜑2(⋅, 𝜆)′)′ + 𝑞2𝜑2(⋅, 𝜆) = 𝜆𝑟2𝜑2(⋅, 𝜆) ���� �� (𝑎2, 𝑏2),

�� ��
���

𝑞1(𝑥1) − 𝜆𝑟1(𝑥1) − 𝑝1(𝑥1)

(
𝜑′
1(𝑥1, 𝜆)

𝜑1(𝑥1, 𝜆)

)2

=
(𝑝1𝑣

′)′(𝑥1)

𝑣(𝑥1)
− 𝑝1(𝑥1)

(
𝑣′(𝑥1)

𝑣(𝑥1)

)2

+
𝑢′(𝑥1)

𝑣(𝑥1)2
𝑞2(𝑢(𝑥1)) − 𝜆

𝑢′(𝑥1)𝑟2(𝑢(𝑥1))

𝑣(𝑥1)2
− 2

𝑝2(𝑢(𝑥1))𝑣
′(𝑥1)

𝑣(𝑥1)3
𝜑′
2(𝑢(𝑥1), 𝜆)

𝜑2(𝑢(𝑥1), 𝜆)

−𝑝2(𝑢(𝑥1))𝑢
′(𝑥1)

𝑣(𝑥1)2

(
𝜑′
2(𝑢(𝑥1), 𝜆)

𝜑2(𝑢(𝑥1), 𝜆)

)2

��������

��	 �����
 ��� 𝑥1 ∈ (𝑎1, 𝑏1) ��� ��� 𝜆 ∈ ℝ�

�� ������� �� �� �! ��	 𝜆 ∈ ℂ!

−𝜆𝑟1(𝑥1) = −𝜆
𝑢′(𝑥1)𝑟2(𝑢(𝑥1))

𝑣(𝑥1)2
, 𝑥1 ∈ (𝑎1, 𝑏1),

��� ����� �������� �
 �� ���� 
�  �	��� 
��


−𝑝1(𝑥1)

(
𝑣′(𝑥1)

𝑣(𝑥1)

)2

− 2
𝑝2(𝑢(𝑥1))𝑣

′(𝑥1)

𝑣(𝑥1)3
𝜑′
2(𝑢(𝑥1), 𝜆)

𝜑2(𝑢(𝑥1), 𝜆)

−𝑝2(𝑢(𝑥1))𝑢
′(𝑥1)

𝑣(𝑥1)2

(
𝜑′
2(𝑢(𝑥1), 𝜆)

𝜑2(𝑢(𝑥1), 𝜆)

)2

= −𝑝1(𝑥1)

(
(𝑣(𝑥1)𝜑2(𝑢(𝑥1), 𝜆))′

𝑣(𝑥1)𝜑2(𝑢(𝑥1), 𝜆)

)2

��	 �����
 ��� 𝑥1 ∈ (𝑎1, 𝑏1)�

"����! ����� ������#�! �� ��
��� �	�� ��������

𝑞1(𝑥1) =
(𝑝1𝑣

′)′(𝑥1)

𝑣(𝑥1)
+

𝑢′(𝑥1)

𝑣(𝑥1)2
𝑞2(𝑢(𝑥1)) ���� �� (𝑎1, 𝑏1),

����� �� �
�� ����
 
�

𝑞2 =
[ 𝑣

𝑢′ (𝑞1𝑣 − (𝑝1𝑣
′)′)
]
∘ 𝑢−1 ���� �� (𝑎1, 𝑏1),

�� 
��
 
�� $	��� �� ���$��
�� □

��





������� �

	��
��
���
� ��������
������ ������

� �� �

��
������ 	��
��
�����



������ �� ��� 	��
����
����
 �� ��� ��������� ��
�
����
���� 
� ��� ��������� �� ��
����

� �

 ��� ��
�
����
����

𝑦(𝑧) = 𝑣(𝑧)𝑤(𝑢(𝑧))

��

−(𝑝1𝑦
′)′ + 𝑞1𝑦 = 𝜆𝑟1𝑦 �� (𝑎1, 𝑏1) ⊆ ℝ, �������

��
���� �� ��� �� � �
����

−(𝑝2𝑤
′)′ + 𝑞2𝑤 = 𝜆𝑟2𝑤 �� (𝑎2, 𝑏2) ⊆ ℝ, �����!�

����� ��� �� 	��"	����
 (𝑝1, 𝑞1, 𝑟1) 
�� (𝑝2, 𝑞2, 𝑟2) 
�� ���
��� 

 �� �����!��

������� � �
���� ������� �
 ���� � ���
���� �� 
������ � �
���� �����!�# 
�� ���	� ���

�
$ ����� �� 	���
� 𝑢 
�� 𝑣 �� 
�	� 
 �
$ ��
� ��� ��
�
������ � �
���� �����!� �

�

��� �� ��
� ���� ��
� ��� ������
� � �
���� �������� %�� �&
����# �� �� 	���� 	���
�

𝑢 
�� 𝑣 
�	� ��
� (𝑝2, 𝑞2, 𝑟2) �
 
 ����� �� 	��
�
�� �� 	��"	����
# �����!� �
 
��
$


�&���	�� 
���
��� 
�� ���	� 
� �
 ��������

%����������# ����� 
�� 
����
� 
��	�
� ����
 �� ��� �����
� �� � �
���� ���'�# ����# ���

�������
� ����# 
�� ��� ��������� 
�	�����# 
�� 
��� 


������
 �� �����(��������� )��(

��$ �
$ ���$ ��� 
� ��

� �

���� �� 
���� ��� � �
����
 �� ��� ��� 
���� �� ���
� 
��	�
�

����
� *
��� 
� 
�������
�� ��������� ��
�
����
���� �
�� �
���� ��� '�������� �� ���

�������
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���� 
���� ���# ��� 	
� ��$ �� ��
�
��� 
�	� 
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� �� 


�����
� �� � �
�����

+� ��� ��������� �� ��
	���� ��
�
����
�����$ �$ ��� � ���
���	� ���
���� ∼𝒦 �� ���


�� �� �� 	��"	����
 𝒦 

 �������	�� �� ,�-������ ������ .� ���
��� 
��� 
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�
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 �� �� � �
����
 
�� ��
� ���� ���  ��
���� ������� 
 �����
� �� � �
���� 	
�

�� ��
�
������ ���� ����� 
�� ( �� 
� ( ��� ���
 	
� �� ����� .� ����� �� �������$
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����	
� �����
���
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$
���
0 �
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�$ 
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	���� 	��������
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 �� � �
���� �� ����� �� 	
� �� ��
�
������ ���� 
� � �
���� ����

	��
�
�� 	��"	����
� %��
��$# �� 
��� �� ��	���� ��! ��
� ��� 
 ��
���	��� 	�


 �� ��

	��"	����
 ��� � ���
���	� ���
���� ∼𝒦 	����
����
 �� 
� � ���
���	� ���
���� �� ���
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 �	
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��������
 �����
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������� �	 
����
������ ��������������� ��������� �� � ��������� 
����
��������

��� �����	
 ��
�� �� ���
��������

� ���	�����

�� ���� �����	� 
� ������� �	
� ������� �	�
� 	� �� ������	�� ��� ���� 
��� ��� �����

��	� 
������ � ������� �� ������	� ��� �� ������	�
�� ���	 ���
� �	 ���� ��� ����

(𝑝1, 𝑞1, 𝑟1) ∈ 𝒦 ������� 	� (𝑎1, 𝑏1)� ��
��� �� � ����� 	� ������� �� �	�������� �����

���������� 	��� �	�����	�� � �!�"�� � �	
�#��$ �	
���
�� ������	��� �������
���� 
��� ��

���������� %� ��� �	����	� (𝑝, 𝑞, 1) ��� �� ������� �� ��� ��&� ��������	�� 
� 
��� �

����� (𝑝, 𝑞, 𝑟) ∈ 𝒦 
���� 𝑟 ≡ 1 � ��� 
������ 	� ��
���� �	����	�� ��	��� �� ����� �����

����� (𝑝, 𝑞, 1)�����

�� 	���� �	 	����� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (𝑝, 𝑞, 1) �	� �	
� 𝑝 ��� 𝑞$ 
� ��#� �	 �	�#�

1 =
𝑣2𝑟1
𝑢′ ∘ 𝑢−1

	� ����#�������

1 =
𝑣2𝑟1
𝑢′ .

���� ��� ��
��� �� �	��$ ����$ �� ��		���� 𝑣 ≡ 1 	� (𝑎1, 𝑏1) ���

𝑢(𝑥) =

{∫ 𝑥
𝑐

𝑟1(𝑡)𝑑𝑡 + 𝑑, 𝑐 ≤ 𝑥 < 𝑏1,

− ∫ 𝑐
𝑥

𝑟1(𝑡)𝑑𝑡 + 𝑑, 𝑎1 < 𝑥 < 𝑐,

�	� �	
� 𝑐 ∈ (𝑎1, 𝑏1) ��� 𝑑 ∈ ℝ� ����� 𝑟1 ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) ��� 𝑟1 > 0 	� (𝑎1, 𝑏1)$ 
�
������ ��#� 𝑢 ∈ 𝐶1(𝑎1, 𝑏1), 𝑢

′ = 𝑟1 ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) ��� 𝑢′ > 0 	� (𝑎1, 𝑏1)�

'����$ 
� ���� ��#� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (𝑝1𝑟1 ∘ 𝑢−1, 𝑞1
𝑟1

∘ 𝑢−1, 1)�

'	
�#��$ �� 𝑟1 �� �	� 	��� 	�� 	� 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) ��� ������� 𝑟1 ∈ 𝐶1(𝑎1, 𝑏1) 
��� 𝑟′1 ∈
𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1)$ 
� ���	 ��� ��		�� 𝑢 �	 �� ��� �������� 	� (𝑎1, 𝑏1)$ 𝑢 = id(𝑎1,𝑏1)$ ���

𝑣 =
√

1
𝑟1
� (� ���� ��#� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (𝑝, 𝑞, 1) 
���

𝑝 =
𝑝1
𝑟1

��� 𝑞 =
𝑞1
𝑟1

+
1

2

√
1

𝑟1

(
𝑝1𝑟

− 3
2

1 𝑟′1

)′
.

)������$ �� �� ���� �	 ����* ���� (1, 1, 1) ∼𝒦 (𝑥 �→ 4𝑥, 𝑥 �→ 1 +
√
2
4 𝑥− 3

4 , 1)$ 
���� �	��

������ ��� ������ 	� (0, 1) �𝑣(𝑧) =
√

2𝑧$ 𝑢(𝑧) = 𝑧2�$ ��� �	 
� ��� ���� ����� ��� ������

(𝑝1, 𝑞1, 1) ��� (𝑝2, 𝑞2, 1) �	�� ������ 	� ��� ��
� �����#�� 
��� (𝑝1, 𝑞1, 1) ∼𝒦 (𝑝2, 𝑞2, 1)
��� (𝑝1, 𝑞1) ∕= (𝑝2, 𝑞2)�

���� ��� �����	
�� 
� 

 �

���
�� �� ������ ����
�
�� ����� ��� ��� 
����� 
��� �� ������ ������

+,



���� �����	
 ��
�� �� ���
��������

� ���	�����

����� (1, 𝑞, 𝑟)����	

��������� �	 �
	�� 
� ��� ���� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (1, 𝑞, 𝑟) �	� �	�� 𝑞 ��� 𝑟 �� 
� ��		��

𝑣 ≡ 1 	� (𝑎1, 𝑏1) ���

𝑢(𝑥) =

{∫ 𝑥
𝑐

1
𝑝1

(𝑡)𝑑𝑡 + 𝑑, 𝑐 ≤ 𝑥 < 𝑏1,

− ∫ 𝑐
𝑥

1
𝑝1

(𝑡)𝑑𝑡 + 𝑑, 𝑎1 < 𝑥 < 𝑐,

�	� �	�� 𝑐 ∈ (𝑎1, 𝑏1) ��� 𝑑 ∈ ℝ ��� ���� 
� ���� ���� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (1, 𝑞1𝑝1∘𝑢−1, 𝑟1𝑝1∘
𝑢−1)�

���� �
	��� �� 𝑝1 �� �	� 	��� 	�� 	� 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) 
�� ������� 𝑝1 ∈ 𝐶1(𝑎1, 𝑏1) 
���

𝑝′1 ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1)� 
� ��� ��		�� 𝑢 �	 
� ��� �������� 	� (𝑎1, 𝑏1)� 𝑢 = id(𝑎1,𝑏1)� ���

𝑣 =
√

1
𝑝1

� �� ���� ���� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (1, 𝑞, 𝑟) 
���

𝑞 =
𝑞1
𝑝1

+
1√
𝑝1

(
√

𝑝1)
′′ ��� 𝑟 =

𝑟1
𝑝1

.

������ 	�� ��� ������ ��� �� ������� 	� ������ (1, 𝑞1, 𝑟1) ��� (1, 𝑞2, 𝑟2) 
	�� ������

	� ��� ���� ������ �������� 
��� (1, 𝑞1, 𝑟1) ∼𝒦 (1, 𝑞2, 𝑟2) 
�� (𝑞1, 𝑟1) ∕= (𝑞2, 𝑟2)�

����
 ���
����� ���	

� �� �!����	� 	� ��� �	��

−𝑦′′ + 𝑞𝑦 = 𝜆𝑦,

���� 𝑝 ≡ 𝑟 ≡ 1� �� ������� ������ � �	������� �!����	� 	� � �� �!����	� �� �	������� �	��

	� ����"������ �	�� 
��� �	������� 𝑞 # ��� �	 ��� ���������	� �� ��������

$� 	���� �	 	
���� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (1, 𝑞, 1) �	� �	�� 𝑞� 
� ���� �	 �	���

1 = 𝑣2𝑝1𝑢
′,

1 =
𝑣2𝑟1
𝑢′ .

�%�&�& 

'	� 𝑢 ��� 𝑣 �	 �	��� �%�&�& �� �� ��������� ���� 𝑢′ =
√

𝑟1
𝑝1

��� ���� 𝑣 = ±(𝑝1𝑟1)
− 1

4 �

(	
����� �� 	���� �	 ���� 𝑣 ∈ 𝐶1(𝑎1, 𝑏1) 
��� 𝑣′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1)� ���� �� ������� ��!�����

𝑝1, 𝑟1 ∈ 𝐶1(𝑎1, 𝑏1) 
��� 𝑝′1, 𝑟
′
1 ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1)� $� ���� �� ��� ����� 
� ��� ��		��

𝑣 = (𝑝1𝑟1)
− 1

4 �%�&�) 

���

𝑢(𝑥) =

⎧⎨⎩
∫ 𝑥
𝑐

√
𝑟1
𝑝1

(𝑡)𝑑𝑡 + 𝑑, 𝑐 ≤ 𝑥 < 𝑏1,

− ∫ 𝑐
𝑥

√
𝑟1
𝑝1

(𝑡)𝑑𝑡 + 𝑑, 𝑎1 < 𝑥 < 𝑐,
�%�&�* 

++



������� �	 
����
������ ��������������� ��������� �� � ��������� 
����
��������

��� ���� 𝑐 ∈ (𝑎1, 𝑏1) ��	 𝑑 ∈ ℝ


�� �
�� 
��� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (1, 𝑞, 1) ���


𝑞 =

(
𝑞1
𝑟1

+
1

4
4

√
𝑝1
𝑟31

(
4

√
1

𝑝1𝑟51
(𝑝1𝑟1)

′
)′)

∘ 𝑢−1. ��
�
��

���� ������ �� ���� �� ����� ��� �
�� �
�� ���� ����� ��� � ���������	 ����� �� ������
�� �� ��� ������ (𝑝1, 𝑞1, 𝑟1) ∈ 𝒦� ������ �
��� ���������� 𝑝1, 𝑟1 ∈ 𝐶1(𝑎1, 𝑏1) ���

𝑝′1, 𝑟

′
1 ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) ��� ����� �� �� ��������� ��	 �� ����� �
�� (𝑝1𝑟1) ∈ 𝐶1(𝑎1, 𝑏1)

���
 (𝑝1𝑟1)
′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1)�


!
� ��������� �������������� "�������� �� 𝑣 ��	 𝑢 ���� ��
�
#� ��	 ��
�
$�� �������������
�� ���
�� ��� ������� �� �
� ��� ���������� �������	 "� ��������� ��	 ����� �������	 �� ��
��� ��������� ��������������� ��	 �� �
�� �����%� � ��������� �&������ �� ���� �����	
�� �&������ �� ��������� ������ ����
 '� �
� ���������� 	������ ���
 ��� ���������
�������������� ��� (�	� ���
�� 	�)����� ����������� �� �
� ��	������ 𝑎1, 𝑏1 ��	 �
�
�� ��� ������ (𝑝1, 𝑞1, 𝑟1)
 ���� ���
��� ������ 𝑎1 ��	 𝑏1 �� "� (����� 𝑞1 ∈ 𝐶0[𝑎1, 𝑏1]�
𝑝1, 𝑟1 ∈ 𝐶2[𝑎1, 𝑏1] ��	 𝑝1, 𝑟1 > 0 �� [𝑎1, 𝑏1] ��
�
 *!���	+� ,��"��� -
�$. ���������
*�
�/-+� �� 𝑎1, 𝑏1 �� "� (����� 𝑞1, 𝑟1 ∈ 𝐶0[𝑎1, 𝑏1]� 𝑝1 ∈ 𝐶1[𝑎1, 𝑏1] ���
 (𝑝1𝑟1) ∈ 𝐶2[𝑎1, 𝑏1]
��	 𝑝1, 𝑟1 > 0 �� [𝑎1, 𝑏1] ��
�
 *0��1/+�
 2�	�� �
��� ����������� 𝑎2, 𝑏2 ������� ��� (����
��� ��	� �����	��� �� 3����� $
�
4� ��� ��������� �������������� ���������� �������
��	������ ���� ������� ��	������
 5���
������� ���� �
�� ��	�� �
��� ����������� ���
��� �
���� 𝑐 = 𝑎1 �� ��
�
$�� �
��
 �� ������� 	��� �
��
 '� �������� �
������ 𝑐 = 𝑎1 ��
��
�
$� ����� �
������

√
𝑟1/𝑝1 �� �������"�� ���� 𝑎1 6 ��������� ��� 𝑏1


'� *78�91+ �
� ���
���: ����������� ��� 𝑎1, 𝑏1 "���� (����� 𝑞1 ∈ 𝐶0[𝑎1, 𝑏1] ��	 𝑝1, 𝑟1 ∈
𝐶2[𝑎1, 𝑏1] ���
 𝑝1, 𝑟1 > 0 �� (𝑎1, 𝑏1) ��	 �
� ����
� 	�)������ �� �������� 𝑝1, 𝑟1 > 0
���� �� (𝑎1, 𝑏1) ��������	 �� 𝑝1, 𝑟1 > 0 �� [𝑎1, 𝑏1]� "����� �
�� �
� ���������� �����	
�� �
� ��������
 �"��� 	� ��� 
��	 �������
 '� *;��<#+ �
� ����������� �� �
�
��	������ 𝑎1, 𝑏1 ��	 �
� �� ��� ������ (𝑝1, 𝑞1, 𝑟1) ��� �
� ���� �� ����� �
�
 ��"������
𝑎1, 𝑏1 ∈ ℝ∪{−∞,∞} ��� ������ 𝑎1 < 𝑏1�� (𝑝1, 𝑞1, 𝑟1) ���������� �$
/
#� ��	 �		���������
𝑝1, 𝑟1 ∈ 𝐶1(𝑎1, 𝑏1) ���
 𝑝′1, 𝑟

′
1 ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1)


5������� ��� (1, 𝑞1, 1) ∼𝒦 (1, 𝑞2, 1)
 !
�� �� ����	������ ������� ���� ��
�
�� �
�� 𝑣2 ≡ 1
��	 𝑢′ ≡ 1� ��	 �� ����� �
�� 𝑢 �� � �
��� ������� (𝑎1, 𝑏1) ���� (𝑎2, 𝑏2)


����� �����	 
���

=� �&������ �� �
� ����

−𝑦′′ = 𝜆𝑟𝑦, ��
�
-�

�
�
 𝑝 ≡ 1 ��	 𝑞 ≡ 0� �� ������� �����	 � ������ �&������ �� � �� �&������ �� ������ �����
��	 �
� ����
� �������� 𝑟 �� �
�� �����	 �
� 	������ �������� �� ��
�
-�


!
� &������� �� �
��
�� � ������� �� �&������ ��� "� ����������	 ���� �� �&������ ��
������ ���� �� � "�� ���� ��"��� �� 	��� ���
 �
�� �� �
� �������� �����
 '� ��	�� ��

-1



���� �����	
 ��
�� �� ���
��������

� ���	�����

������ (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (1, 0, 𝑟) ��� 	�
� (1, 0, 𝑟) ∈ 𝒦� 
� ���� �� ��� ��������	 𝑣 ��� 𝑢
	���	����� ������� ��� 	������

1 = 𝑣2𝑝1𝑢
′,

0 =
𝑣

𝑢′ (𝑞1𝑣 − (𝑝1𝑣
′)′),

�������

��� ���� 
� ��� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (1, 0, 𝑣2𝑟1
𝑢′ ∘ 𝑢−1) ��� �	��� ��� ��	� �������� �� ��������

(𝑝1, 𝑞1, 𝑟1) ∼𝒦 (1, 0, 𝑣4𝑝1𝑟1 ∘ 𝑢−1)� ����� 𝑣 ��	 �� 	���	�� 𝑣 ∕= 0 �� (𝑎1, 𝑏1)� ��� 	�����
�������� �� ������� �	 ���������� �� 0 = 𝑞1𝑣 − (𝑝1𝑣

′)′�

 � 
��� �� ���� �
� �����	! "������ �� �##��#����� 𝑣 �������	 ������ � ����$�������
%��� ���� 	������� �� ��� ����� �& �������� 
��� 	#������ #���
���� 𝜆 = 0 $ �� ���$
����� �� ����� ���	 �	 ��� �'#������� ���	����� (����� ����� �� �##��#����� 𝑣� ������ ��
�##��#����� 𝑢 �	 �� ������� ��)����� $ ��� ��� ���� �� ���� ��	 ��� ����	�

𝑢(𝑥) =

{∫ 𝑥
𝑐

1
𝑣2𝑝1

(𝑡)𝑑𝑡 + 𝑑, 𝑐 ≤ 𝑥 < 𝑏1,

− ∫ 𝑐
𝑥

1
𝑣2𝑝1

(𝑡)𝑑𝑡 + 𝑑, 𝑎1 < 𝑥 < 𝑐,

��� 	�
� 𝑐 ∈ (𝑎1, 𝑏1) ��� 𝑑 ∈ ℝ�

(�
����� 
� ��� ���� �� 	���� � 	�)����� ��������� ��� ������ (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (1, 0, 𝑟)
��� 	�
� (1, 0, 𝑟) ∈ 𝒦�

������� ��	�	� ������ ���� 𝑞1 ≥ 0 �	�	 
� (𝑎1, 𝑏1)	 ���� 
� ���� (𝑝1, 𝑞1, 𝑟1) ∼𝒦
(1, 0, 𝑟) �
� �
�� (1, 0, 𝑟) ∈ 𝒦	


����� ����� 
� ��
��	 ���� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (1, 𝑞1𝑝1 ∘ 𝑢−1, 𝑟1𝑝1 ∘ 𝑢−1) ���
#���
���	������ ����*�� 
���� 𝑞1 ≥ 0 ���� �� ��� ���� �� 𝑞1𝑝1 ∘ 𝑢−1 ≥ 0 ����� 
� 
�� �		�
�
���� 𝑝1 ≡ 1� +�
� �	 
� ���� 	��� ������ ��� 
� ���� �� 	��
 �	 ���� ����� �	 �
����$������� %��� ���� 	������� ��

−𝑣′′ + 𝑞1𝑣 = 0 �� (𝑎1, 𝑏1). �����,�

-� ���	 ��� ��� 𝜐 �� ��� 	������� �� ��� ������� ����� #�����


−𝑣′′ + 𝑞1𝑣 = 0, 𝑣(𝑐) = 1, 𝑣′(𝑐) = 0

��� 	�
� 𝑐 ∈ (𝑎1, 𝑏1)� -��	 	������� �������� �'�	�	 ��� �	 ����$������� ��
#��� .����$
���� ����*� ��##�	� ���� 𝜐(𝑧) = 0 ��� 	�
� 𝑧 ∈ (𝑎1, 𝑏1)� .������� ���� ����� �	 𝑧0 ∈ (𝑐, 𝑏1)
	��� ���� 𝜐(𝑧0) = 0 ��� 𝜐(𝑧) > 0 ��� 𝑧 ∈ [𝑐, 𝑧0) �� 𝑧0 ∈ (𝑎1, 𝑐) 	��� ���� 𝜐(𝑧0) = 0 ���
𝜐(𝑧) > 0 ��� 𝑧 ∈ (𝑧0, 𝑐] ��� ����	�� ���� ����� �� ���� $ ��� ��/����� 𝑧0��  � 	�##�	�
𝑧0 > 𝑐� ��� ����� ��	� ��� �� ������� �� � 	�
���� 
��� -��� 
� ����

𝜐′(𝑧) = 𝜐′(𝑐)︸︷︷︸
=0

+

∫ 𝑧

𝑐

𝜐′′(𝑡)𝑑𝑡 =

∫ 𝑧

𝑐

𝑞1𝜐︸︷︷︸
≥0

𝑑𝑡 ≥ 0, 𝑧 ∈ [𝑐, 𝑧0],

𝜐(𝑧) = 𝜐(𝑐)︸︷︷︸
=1

+

∫ 𝑧

𝑐

𝜐′(𝑡)︸︷︷︸
≥0

𝑑𝑡 > 0, 𝑧 ∈ [𝑐, 𝑧0],

0,



������� �	 
����
������ ��������������� ��������� �� � ��������� 
����
��������

������������	� 𝜐(𝑧0) = 0
 □

�� �� 
�����
 ������
� ��
 ����
 (1, 𝑞, 1) �
��
� �� (𝑎, 𝑏) ��
�
 𝑞 ≡ 𝑐 ��� ���
 𝑐 < 0

�� ���� ���
 ��
 �
�������
� ��������� �� ��
�
�� ��
 ��
���
�� ��
 ���������

𝑣(𝑧) = 𝑑1 cos(
√

∣𝑐∣ 𝑧) + 𝑑2 sin(
√

∣𝑐∣ 𝑧), 𝑑1, 𝑑2 ∈ ℝ. ��
�
 �

!��" ��
√

∣𝑐∣𝑏 −
√

∣𝑐∣𝑎 > 𝜋 �� 
#�����
���� 𝑐 < − 𝜋2

(𝑏−𝑎)2
" �
 ���


∪
𝑧∈(𝑎,𝑏)

span

((
cos(
√

∣𝑐∣ 𝑧)

sin(
√

∣𝑐∣ 𝑧)

))
= ℝ2,

��� �
��
 ��� ��� 𝑑1, 𝑑2 ∈ ℝ ��
�
 �� ���
 𝑧 ∈ (𝑎, 𝑏) ���� ����〈(
𝑑1
𝑑2

)
,

(
cos(
√

∣𝑐∣ 𝑧)

sin(
√

∣𝑐∣ 𝑧)

)〉
ℝ2

= 𝑑1 cos(
√

∣𝑐∣ 𝑧) + 𝑑2 sin(
√

∣𝑐∣ 𝑧) = 0,

�
����	 ���� ��
�
 �� ��� ��� �
�������
�" $
�� ��

 �������� �� ��
�
��
 %��� � ���
�����


#������ ���� �������� ���
����� 𝑞 ≡ 𝑐 ������ &
 ���������
� ���� � �����	 
#������ ��

𝑐 < − 𝜋2

(𝑏−𝑎)2



'���
��
��" �
� 0 > 𝑐 ≥ − 𝜋2

(𝑏−𝑎)2

 %�
�" ����


sin𝑥 sin 𝑦 =
1

2
(cos(𝑥 − 𝑦)− cos(𝑥 + 𝑦)),

cos 𝑥 cos 𝑦 =
1

2
(cos(𝑥 − 𝑦) + cos(𝑥 + 𝑦)), 𝑥, 𝑦 ∈ ℝ,

�
 ���
" ��� 𝑧 ∈ (𝑎, 𝑏)"

cos

(√
∣𝑐∣ 𝑎 + 𝑏

2

)
cos(
√

∣𝑐∣ 𝑧) + sin

(√
∣𝑐∣ 𝑎 + 𝑏

2

)
sin(
√

∣𝑐∣ 𝑧) =

cos
(√

∣𝑐∣︸︷︷︸
≤ 𝜋

𝑏−𝑎

( 𝑎 + 𝑏

2
− 𝑧︸ ︷︷ ︸

∣⋅∣< 𝑏−𝑎
2

))
∕= 0,

�
����	 ���� ��
�
 �� � �
�������
�" $
�� ��

 �������� �� ��
�
��
 '���
#�
����" �

���
����� 
#������ ���� �������� ���
����� 𝑞 ≡ 𝑐" 0 > 𝑐 ≥ − 𝜋2

(𝑏−𝑎)2
" ��� &
 ���������
�

���� � �����	 
#������
 (
����
 �� %�
��
� �
�
� ���� ���� ����� ��� 𝑐 ≥ 0


�� ����������" ��
 
�����
 �� � ���
����� 
#������ ���� �������� ���
����� ����� ���

���
�
����	 ����	� ����� �
 ���� �� ����
 �� � �
���)


������ ��	�
�

� ��� �����	
��
 �� ������� ����� 
��
 𝑞1 ≥ 0 ���� �
 (𝑎1, 𝑏1) �� 
�
 
�������� �


����� 
� ���� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (1, 0, 𝑟) ��� ���� (1, 0, 𝑟) ∈ 𝒦�

��� ����� ��	 
		
 ���� 𝜐 �
 ���
	� �� (𝑎1, 𝑏1) ���� ������ ������� �� 𝑧 = 𝑐�

* 



���� �����	
 ��
�� �� ���
��������

� ���	�����

� ����� ��� �� �	
���
�� ����� ����
� �� ������
���� ���
 � ������ �	
���
��

�� ���� ����� 	
� �� ����	�

 ���� �� 
����	
 �� ���	
� (1, 0, 𝑟1) ��
 (1, 0, 𝑟2) ����



��

 �� ��
 ���
 ���
���	 ���� (1, 0, 𝑟1) ∼𝒦 (1, 0, 𝑟2) ��� 𝑟1 ∕= 𝑟2� �
� (𝑎1, 𝑏1) =
(𝑎2, 𝑏2) = (1, 2)� 𝑟1 ≡ 1 ��
 𝑟2(𝑥) = 4𝑥−4� ��
� �� �� 
��� �� ��
�� ���� (1, 0, 𝑟1) ∼𝒦
(1, 0, 𝑟2) �𝑣(𝑧) = 1√

2
𝑧 − 3√

2
��
 𝑢(𝑧) = −(12𝑧 − 3

2 )
−1��

����� ����	
��� 
���

� �� 
 ������ ��������

 ���� ��
!��
��� �� ��
 ���� (𝑝, 0, 𝑝)� ��
 𝑝 = 𝑟� �� ��		

 ��


 ������ �� ���

���
 �����

"
 �	��� ���� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (𝑝, 0, 𝑝) ��� ���
 𝑝 �� ��
 ��	� �� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (1, 0, 𝑟)
��� ���
 𝑟� ��
� � �� 
 ������ ��� �
 ���������

 ���� ���

���
 ���� �� ��
 ��	� ��
�� ��� �
 ���������

 ���� �����# ���� ��

 ����
����� $�%�$�� �� ���� 
�
 �� ��!�
�

�� ���� ���� 
��� ���	
 (1, 0, 𝑟1) ∈ 𝒦 ������
� (1, 0, 𝑟1) ∼𝒦 (𝑝, 0, 𝑝) ��� ���
 𝑝 ��
 &

����
��
	� & 
��� ���	
 (𝑝1, 0, 𝑝1) ∈ 𝒦 ������
� (𝑝1, 0, 𝑝1) ∼𝒦 (1, 0, 𝑟) ��� ���
 𝑟�

�
� (1, 0, 𝑟1) ∈ 𝒦� '������# 𝑣 ≡ 1 �� (𝑎1, 𝑏1) ��


𝑢(𝑥) =

{∫ 𝑥
𝑐

√
𝑟1(𝑡)𝑑𝑡 + 𝑑, 𝑐 ≤ 𝑥 < 𝑏1,

− ∫ 𝑐
𝑥

√
𝑟1(𝑡)𝑑𝑡 + 𝑑, 𝑎1 < 𝑥 < 𝑐,

��� ���
 𝑐 ∈ (𝑎1, 𝑏1) ��
 𝑑 ∈ ℝ� ��
 �

� ���� (1, 0, 𝑟1) ∼𝒦 (
√

𝑟1 ∘ 𝑢−1, 0,
√

𝑟1 ∘ 𝑢−1)� (�
(𝑝1, 0, 𝑝1) ∈ 𝒦� �������# 𝑣 ≡ 1 �� (𝑎1, 𝑏1) ��


𝑢(𝑥) =

{∫ 𝑥
𝑐

1
𝑝1

(𝑡)𝑑𝑡 + 𝑑, 𝑐 ≤ 𝑥 < 𝑏1,

− ∫ 𝑐
𝑥

1
𝑝1

(𝑡)𝑑𝑡 + 𝑑, 𝑎1 < 𝑥 < 𝑐,

��� ���
 𝑐 ∈ (𝑎1, 𝑏1) ��
 𝑑 ∈ ℝ 	
�
� �� (𝑝1, 0, 𝑝1) ∼𝒦 (1, 0, 𝑝21 ∘ 𝑢−1)�

(� ��

� �� �

 ���� ��
�
 ��
 ���	
� (𝑝1, 0, 𝑝1) ��
 (𝑝2, 0, 𝑝2) ���� 

��

 �� ��
 ���


���
���	 ���� (𝑝1, 0, 𝑝1) ∼𝒦 (𝑝2, 0, 𝑝2) ��� 𝑝1 ∕= 𝑝2� �����

�� 
�#�� 𝑝1(𝑧) = 𝑧2 ��
 𝑝2 ≡ 1
�� (1, 2) �𝑣(𝑧) = 1

𝑧
��
 𝑢 = id(1,2)��

����� �
�����
� ���������
���� ������� 
�	 ���
����� ���� �����
��
����������

)�� ��
 ��		����# �� �� 
��
����	 �� �����
 ���� 
��� ����� 𝑢(𝑧) = 𝑧 + 𝑑� 𝑑 ∈ ℝ� #��
� ���


�� � ������		
 �������������� �
	��#��# �� 𝑣 ≡ 1 ��
 𝑢� �����������#

−(𝑝1𝑦
′)′ + 𝑞1𝑦 = 𝜆𝑟1𝑦

���

𝑦(𝑧) = 𝑤(𝑢(𝑧))

*+



������� �	 
����
������ ��������������� ��������� �� � ��������� 
����
��������

����

−((𝑝1 ∘ 𝑢−1)𝑤′)′ + (𝑞1 ∘ 𝑢−1)𝑤 = 𝜆(𝑟1 ∘ 𝑢−1)𝑤,

���� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (𝑝1 ∘ 𝑢−1, 𝑞1 ∘ 𝑢−1, 𝑟1 ∘ 𝑢−1)�

���������� �	
	�	 ��� (𝑝1, 𝑞1, 𝑟1), (𝑝2, 𝑞2, 𝑟2) ∈ 𝒦� �� ��� �	�� (𝑝1, 𝑞1, 𝑟1) �
�
(𝑝2, 𝑞2, 𝑟2) ��� �
��� �� �� ���� �	��� �� (𝑝2, 𝑞2, 𝑟2) = (𝑝1 ∘ 𝑢−1, 𝑞1 ∘ 𝑢−1, 𝑟1 ∘ 𝑢−1) ���
���� �	��� 𝑢�

��
��� �	
	�	 �������� �� (𝑝1, 𝑞1, 𝑟1) �� ���
�� �
 (𝑎1, 𝑏1)� (𝑝2, 𝑞2, 𝑟2) �� ���
�� �

(𝑎2, 𝑏2)� �	��� 𝑎1 = 𝑎2 �� �
��� �
� (𝑝1, 𝑞1, 𝑟1) �
� (𝑝2, 𝑞2, 𝑟2) ��� �
��� �� �� ����
�	���� �	�
 (𝑝1, 𝑞1, 𝑟1) = (𝑝2, 𝑞2, 𝑟2)� ���� �	�� �
 ��
���� �	�� ���� 
�� 	��� ���� ��
𝑎1 = 𝑎2 = −∞�

���������� �	
	�	 ��� 𝒜 ⊆ ℬ ⊆ 𝒦� �� ��� �	�� 𝒜 �� � ��
�
���� �������
������

������ �������� ��� �	� ������ �� �� ��� ���
�� �
 ℬ ��
 �	���� 𝒜 �� � ������ ��� ℬ� ��
��� ���	 𝑡ℬ ∈ ℬ �������� 𝑡ℬ ∼𝒦 𝑡𝒜 ��� �� ����� �
� 𝑡𝒜 ∈ 𝒜
�
�

���� �� 𝑡𝒜 ∼𝒦 𝑡𝒜 ��� 𝑡𝒜, 𝑡𝒜 ∈ 𝒜� �	�
 𝑡𝒜 �
� 𝑡𝒜 ��� �
��� �� �� ���� �	����

���
��� �	
	�	 ��� 𝒜 = {(1, 𝑞, 1) ∈ 𝒦}� ℬ = {(𝑝, 𝑞, 𝑟) ∈ 𝒦 : 𝑝, 𝑟 ∈ 𝐶1 ���	 𝑝′, 𝑟′ ∈
𝐴𝐶𝑙𝑜𝑐}� !	�
 �	� ��
���������
� �"��� ���"������
 #�$�%� �	�� �	�� 𝒜 �� � ������ ��� ℬ�
&������� "� ���
� '����( #�$�#� �� ��� �	�� 
�
� �� �	� ��	�� ������"�� ������� �����

����� ���� �� � ��
�
���� �������
������ �������

���
��� �	
	�	 ��� (𝑝1, 𝑞1, 𝑟1) "� � ����� �� ��
���
� �� ��� ���
�� �
 (𝑎1, 𝑏1) ⊆ ℝ�

�������� �	�
 𝑝1, 𝑟1 ∈ 𝐶1(𝑎1, 𝑏1) ���	 𝑝′, 𝑟′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) �
� 	�
�� (𝑝1, 𝑞1, 𝑟1) ∼𝒦
(1, 𝑞, 1) ��� ���� (1, 𝑞, 1) ∈ 𝒦� )� ���	��
 𝑞 �� ��
���
�� ��
��
��
���� 𝒜 = {(1, 𝑞, 1) ∈
𝒦 : 𝑞 ≡ 𝑐 ��� ���� 𝑐 ∈ ℝ} �� � �� �� �� ��� ℬ = {(𝑝, 𝑞, 𝑟) ∈ 𝒦 : (𝑝, 𝑞, 𝑟) �� � ����� ��
��
���
� �� ��� ���
��}�

���
 ���
��� ��	�� �� ����� ���� � �� �������� ���� ���������� (𝑝1, 𝑞1, 𝑟1) ∈ 𝒦
������ �� (𝑎1, 𝑏1) ���  � ��������
�� ���� � �� �������� ���� �������� ���������� � !


���� �� � ����"���� ��������
�����
 �� ��� ���! �� �� ���  � ��������
�� ���� ����"����

���
�� ���
 ���� �������� ���������� #��� �� ����"����� �� (𝑝1𝑟1) ∈ 𝐶1(𝑎1, 𝑏1) ����

(𝑝1𝑟1)
′ ∈ 𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1) ��� ���� ���	��



𝑞1
𝑟1

+
1

4
4

√
𝑝1
𝑟31

(
4

√
1

𝑝1𝑟51
(𝑝1𝑟1)

′
)′

≡ 𝑐

��� ��
� 𝑐 ∈ ℝ� $� ����������% �"��! �� �������� ���� ���������� (𝑝1, 𝑞1, 𝑟1) ∈ 𝒦 �����

𝑝1𝑟1 ≡ 𝑐1 ��� ��
� 𝑐1 ∈ ℝ+ ��� 𝑞1/𝑟1 ≡ 𝑐2 ��� ��
� 𝑐2 ∈ ℝ ���  � ��������
�� ����

�� �������� ���� �������� �����������

&'



���� �����	
��
� ��
	���� �� ��� ��� �� �	���	
 ����	����

������� �	
	�	 �������� 	
� ���

������� ����	���

𝑧2𝑦′′(𝑧) + 𝑧𝑦′(𝑧) + 𝜆𝑦(𝑧) = 0 �� (0, 𝑏1) �������

�� � ���������	�� � �� �� ����

−(𝑧𝑦′(𝑧))′ = 𝜆
1

𝑧
𝑦(𝑧) �� (0, 𝑏1). ��������

�� 
��� 𝑞1 ≡ 0 ��� 𝑝1𝑟1 ≡ 1 �𝑝1 : 𝑧 �→ 𝑧� 𝑟1 : 𝑧 �→ 1
𝑧
� ��� ����� 	
�	 ������� �� ���������

�����
	������ 
�� �� 	���������� ��	� � �� ����	��� ��	
 
���	��	 
���
���	� !������

�������" 	
� ��������� 	���������	��� 𝑤(𝑥) = 𝑦(e𝑥)� � � 𝑢(𝑧) = ln 𝑧, 𝑣 ≡ 1� ������ 	
�

	���������� ����	���

−𝑤′′(𝑥) = 𝜆𝑤(𝑥) �� (−∞, ln 𝑏1).

��� �����	
��
� ��
	���� �� ��� ��� �� �	���	
 ����	����

�	 
�� 
�����	� ��	 �	� 𝒯 �� ��� 
���
�� ��	������ ����
���	� ���� �� 
�	�
�	���

(𝑝, 𝑞, 𝑟) ∈ 𝒦�

𝒯 = {𝑇𝑚𝑎𝑥(𝑝, 𝑞, 𝑟) : (𝑝, 𝑞, 𝑟) ∈ 𝒦},

��� �	
���	 �� 	� �!��	�
	 �	������ ∼𝒯 �� 𝒯 "�

𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1) ∼𝒯 𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2) ⇔ ∃ ��� !���	 ��������
����� 𝐿 � 
� ����

𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1) ��� 𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)

��	  �������� 	� �!��	�� !�� 𝐿.

�	 ���� �� 
�#	 � 
���	
���� "	��		� ��	 �	������ ∼𝒦 �� ��	 �	� �� �� 
�	�
�	���

��� ��	 �	������ ∼𝒯 �� ��	 �	� �� ����
���	� 
���
�� ��	������� $�� � �	����
�	� 
����

𝒦𝑟 �� �� 
�	�
�	��� ���� �� �����"�	%

�	� 𝒦𝑟 "	 ��	 � "�	� �� 𝒦 ���
� 
������� �� ��� � ��	� �� �� 
�	�
�	��� ���������& ���

���� 
��������� �'���(� " � ������������ 𝑝′, 𝑞 ∈ 𝐿2
𝑙𝑜𝑐(𝑎, 𝑏)�

𝒦𝑟 = {(𝑝, 𝑞, 𝑟) ∈ 𝒦 : (𝑝, 𝑞, 𝑟) �� �	)�	� �� (𝑎, 𝑏) ⊆ ℝ ��� 𝑝′, 𝑞 ∈ 𝐿2
𝑙𝑜𝑐(𝑎, 𝑏)}.

*�	 ���������� ��� 
������ �� ��	 �� 
�	�
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���� � �
�����

���� 
�
��
� � ����� ��	 �� ��	 ��
��� �� ����
���	� 
���
�� ��	������ ��� ��
�� ��


� ��	� 	!	� �� ��	 ��
��� �� ����
���	� ��	
���
�� ��	�������% �	� (𝑝, 𝑞, 𝑟) ∈ 𝒦𝑟 "	

�	)�	� �� (𝑎, 𝑏) ��� 𝑦 ∈ 𝐶∞
0 ((𝑎, 𝑏);ℂ) ���� supp 𝑦 = [𝑐, 𝑑] ⊆ (𝑎, 𝑏)� +�	����� 𝑦 ��� 𝑦′

,�



������� �	 
����
������ ��������������� ��������� �� � ��������� 
����
��������

��� �� 𝐴𝐶𝑙𝑜𝑐(𝑎, 𝑏) ��� ����� 𝑦 ∈ 𝒟(𝜏(𝑝, 𝑞, 𝑟))	 ��� 𝑦 ∈ 𝐿2((𝑎, 𝑏); 𝑟)
 ���
�������	∫ 𝑏

𝑎

∣𝜏(𝑝, 𝑞, 𝑟)𝑦∣2𝑟𝑑𝑥 =

∫ 𝑏

𝑎

∣∣∣1
𝑟

[− (𝑝𝑦′)′ + 𝑞𝑦
]∣∣∣2𝑟𝑑𝑥 =

∫ 𝑑

𝑐

1

𝑟

∣∣−𝑝𝑦′′ − 𝑝′𝑦′ + 𝑞𝑦
∣∣2 𝑑𝑥

≤ 3 max
𝑥∈[𝑐,𝑑]

1

𝑟(𝑥)

(∫ 𝑑

𝑐

∣∣𝑝∣∣2∣∣𝑦′′∣∣2𝑑𝑥 +

∫ 𝑑

𝑐

∣∣𝑝′∣∣2∣∣𝑦′∣∣2𝑑𝑥 +

∫ 𝑑

𝑐

∣𝑞∣2∣𝑦∣2𝑑𝑥

)
≤ 3 max

𝑥∈[𝑐,𝑑]
1

𝑟(𝑥)
max
𝑥∈[𝑐,𝑑]

(∣∣𝑦(𝑥)
∣∣2 +
∣∣𝑦′(𝑥)

∣∣2 +
∣∣𝑦′′(𝑥)

∣∣2)(
(𝑑 − 𝑐) max

𝑥∈[𝑐,𝑑]
∣𝑝(𝑥)∣2 +

∫ 𝑑

𝑐

∣∣𝑝′∣∣2𝑑𝑥 +

∫ 𝑑

𝑐

∣𝑞∣2𝑑𝑥

)
< ∞.

���� ������
�	 �
�
 𝐶∞
0 ((𝑎, 𝑏);ℂ) ⊆ 𝒟(𝑇𝑚𝑎𝑥(𝑝, 𝑞, 𝑟))	 �� ������� ��� 
�� ����� �� �������

�
�
�


��
� 
��
 �
��� 
��� 𝒦 
�� ��
 𝒦𝑟 �� ��
 ������ ����� �������� � ��������� 
��������

��
���	 ������� 
��
 �� �� �
��
 ��
� (𝑝1, 𝑞1, 𝑟1) ∈ 𝒦𝑟 ��� ����� (𝑝2, 𝑞2, 𝑟2)  � !"
�
�#

��� 𝑣 ��� 𝑢 ��
������� !"
�
�#	 
��� �� ������� (𝑝2, 𝑞2, 𝑟2) /∈ 𝒦𝑟
 �� 
��� ��� ��� ��� 
�

������ 
��
 𝑣′′, 𝑢′′ ∈ 𝐿2
𝑙𝑜𝑐(𝑎, 𝑏)


������� ��	�
� ��� (𝑝1, 𝑞1, 𝑟1), (𝑝2, 𝑞2, 𝑟2) ∈ 𝒦𝑟� ����

(𝑝1, 𝑞1, 𝑟1) ∼𝒦 (𝑝2, 𝑞2, 𝑟2) ⇔ 𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1) ∼𝒯 𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2).

�	�
������
�� �� ����

𝒦𝑟/∼𝒦
=̂ 𝒯𝑟/∼𝒯

,

����� 𝒯𝑟 ⊆ 𝒯 �
 ��� 
�� 	� ������
 	�����	�
 �

	������ ���� �� �	�������
 (𝑝, 𝑞, 𝑟) ∈
𝒦𝑟�

𝒯𝑟 = {𝑇𝑚𝑎𝑥(𝑝, 𝑞, 𝑟) : (𝑝, 𝑞, 𝑟) ∈ 𝒦𝑟}.

������ $� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (𝑝2, 𝑞2, 𝑟2)	 �
 ������� ���� ������� "
�
" 
��


𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1) ∼𝒯 𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)
 ���� ���� ����� �� (𝑝1, 𝑞1, 𝑟1), (𝑝2, 𝑞2, 𝑟2) ∈ 𝒦 ���
�
��� �� (𝑝1, 𝑞1, 𝑟1), (𝑝2, 𝑞2, 𝑟2) ∈ 𝒦𝑟


%���������	 ������ 
��
 𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1) ∼𝒯 𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)
 &����� 
��
 (𝑝1, 𝑞1, 𝑟1)
�� ������ �� (𝑎1, 𝑏1) ��� (𝑝2, 𝑞2, 𝑟2) �� ������ �� (𝑎2, 𝑏2) ��� ��
 𝐿  � � ��������� 
�����

�����
��� ! �������� 
� ���� 𝜂 ��� 𝜉# ���� 
��
 𝐿 : 𝐿2((𝑎1, 𝑏1); 𝑟1) → 𝐿2((𝑎2, 𝑏2); 𝑟2)
�� ���
���	 𝐿 : 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) → 𝒟(𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)) ��  �'��
��� ���

𝐿𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)𝑦 = 𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)𝐿𝑦, 𝑦 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)).

(� ���
� 𝜂 = 1
𝑣
∘ 𝑢−1 ��� 𝜉 = 𝑢−1 !��
� 𝑢 = 𝜉−1 ��� 𝑣 = 1

𝜂
∘ 𝑢#
 )���� 𝐿 :

𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) → 𝒟(𝑇𝑚𝑎𝑥(𝑝2, 𝑞2, 𝑟2)) ��  �'��
���	 �
 �� ����� 
��
 𝑢 ����  �'���


����� (𝑎1, 𝑏1) ��
� (𝑎2, 𝑏2)
 %����*���
��	 𝑣 �� ������ �� (𝑎1, 𝑏1)
 +� �����
��� ��

� ��������� 
���������
��� !,����
��� "
�
�# 𝑢 ��� 𝑣 ��
���� 𝑢, 𝑣 ∈ 𝐶1(𝑎1, 𝑏1), 𝑢
′, 𝑣′ ∈

𝐴𝐶𝑙𝑜𝑐(𝑎1, 𝑏1), 𝑢
′ > 0 ��� 𝑣 ∕= 0 �� (𝑎1, 𝑏1)


-�



���� �����	
��
� ��
	���� �� ��� ��� �� �	���	
 ����	����

�� ��� ���� 𝐿 : 𝐿2((𝑎1, 𝑏1); 𝑟1) → 𝐿2((𝑎2, 𝑏2); 𝑟2) �� �	���
�� 
	 ��� �	� ��	� �� ����

∥𝑓∥2𝐿2((𝑎1,𝑏1);𝑟1)
=

∫ 𝑏1

𝑎1

∣𝑓(𝑧)∣2𝑟1(𝑧)𝑑𝑧 =

∣∣∣∣ 𝑧 = 𝑢−1(𝑥)
𝑑𝑧 = (𝑢−1)′(𝑥)𝑑𝑥

∣∣∣∣
=

∫ 𝑏2

𝑎2

∣𝑓(𝑢−1(𝑥))∣2𝑟1(𝑢−1(𝑥))
1

𝑢′(𝑢−1(𝑥))
𝑑𝑥,

�	 ��� ����
 ��	� �� ����

𝐿𝑓 =
1

𝑣 ∘ 𝑢−1
⋅ (𝑓 ∘ 𝑢−1), ∥𝐿𝑓∥2𝐿2((𝑎2,𝑏2);𝑟2)

=

∫ 𝑏2

𝑎2

1

𝑣2(𝑢−1(𝑥))
∣𝑓(𝑢−1(𝑥))∣2𝑟2(𝑥)𝑑𝑥

�	� ���
���
�∫ 𝑏2

𝑎2

∣𝑓(𝑢−1(𝑥))∣2𝑟1(𝑢−1(𝑥))
1

𝑢′(𝑢−1(𝑥))
𝑑𝑥 =

∫ 𝑏2

𝑎2

1

𝑣2(𝑢−1(𝑥))
∣𝑓(𝑢−1(𝑥))∣2𝑟2(𝑥)𝑑𝑥

��
 𝑓 ∈ 𝐿2((𝑎1, 𝑏1); 𝑟1)�

�	 ��
������
� ��
 𝑓 = �(𝑢−1(𝑐),𝑢−1(𝑑))� 𝑎2 < 𝑐 < 𝑑 < 𝑏2� ���� ������∫ 𝑑

𝑐

𝑟1(𝑢
−1(𝑥))

1

𝑢′(𝑢−1(𝑥))
𝑑𝑥 =

∫ 𝑑

𝑐

1

𝑣2(𝑢−1(𝑥))
𝑟2(𝑥)𝑑𝑥, 𝑎2 < 𝑐 < 𝑑 < 𝑏2,

�	� ��	�� �� �	��
 �
�� ��� �������� ����
�	������	 ����
�� ����

𝑟1(𝑢
−1(𝑥))

1

𝑢′(𝑢−1(𝑥))
=

1

𝑣2(𝑢−1(𝑥))
𝑟2(𝑥) ��
 ������ ��� 𝑥 ∈ (𝑎2, 𝑏2).

��	�� �	 ��
� ���� ����� ��	��	������ ����	� �	 𝑥� �� ���	 ����

𝑟1
𝑢′ ∘ 𝑢−1 =

1

𝑣2
∘ 𝑢−1 ⋅ 𝑟2

�
 ��������	���

𝑟2 =
𝑣2𝑟1
𝑢′ ∘ 𝑢−1. � �!�"#

$�
 ��� �������	� ��� 𝜒(𝑐,𝑑)� 𝑎1 < 𝑐 < 𝑑 < 𝑏1� �� � ��	����	 ���� ���� 𝜒(𝑐,𝑑) ∈ 𝐶∞
0 (𝑎1, 𝑏1)�

0 ≤ 𝜒(𝑐,𝑑) ≤ 1 �	 (𝑎1, 𝑏1) �	� 𝜒(𝑐,𝑑)(𝑧) = 1 ��
 𝑧 ∈ [𝑐, 𝑑] ��� �� ������ %	��	 ���� ����
� ��	����	 �&����� ���� ����� '(��)*+� ������	 !�",#�

$�
 𝑦 ∈ 𝒟(𝜏(𝑝1, 𝑞1, 𝑟1)) ���� ���� 𝜒(𝑐,𝑑)𝑦 ∈ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) �� ���	 ����

𝐿𝜏(𝑝1, 𝑞1, 𝑟1)𝜒(𝑐,𝑑)𝑦 = 𝜏(𝑝2, 𝑞2, 𝑟2)𝐿𝜒(𝑐,𝑑)𝑦

�	� ���� (
𝐿𝜏(𝑝1, 𝑞1, 𝑟1)𝜒(𝑐,𝑑)𝑦

) ∣∣
(𝑢(𝑐),𝑢(𝑑))

=
(
𝜏(𝑝2, 𝑞2, 𝑟2)𝐿𝜒(𝑐,𝑑)𝑦

) ∣∣
(𝑢(𝑐),𝑢(𝑑))

.

*-



������� �	 
����
������ ��������������� ��������� �� � ��������� 
����
��������

�������� �	
� 
� ��

������ ��

𝐿
∣∣
(𝑢(𝑐),𝑢(𝑑))

𝜏(𝑝1, 𝑞1, 𝑟1)
∣∣
(𝑐,𝑑)

𝑦
∣∣
(𝑐,𝑑)

= 𝜏(𝑝2, 𝑞2, 𝑟2)
∣∣
(𝑢(𝑐),𝑢(𝑑))

𝐿
∣∣
(𝑢(𝑐),𝑢(𝑑))

𝑦
∣∣
(𝑐,𝑑)

, �������

�	��� �� 𝐿∣(𝑢(𝑐),𝑢(𝑑)) �� ���� 𝐿 �����
���� �� (𝑢(𝑐), 𝑢(𝑑))� 
��� �	� �
�
�
��� ���������

���
�� ������
�� �� 1
𝑣
∘ 𝑢−1∣(𝑢(𝑐),𝑢(𝑑)) ��� 𝑢−1∣(𝑢(𝑐),𝑢(𝑑))�

�� 𝑦 
� �	� �
���
�� �	
�	 
� �������� �� 1� 
��� 𝑦 ≡ 1 �� (𝑎1, 𝑏1)� �	�� 𝜒(𝑐,𝑑)𝑦 ∈
𝐶∞
0 (𝑎, 𝑏) ⊆ 𝐶∞

0 ((𝑎, 𝑏);ℂ) ⊆ 𝒟(𝑇𝑚𝑎𝑥(𝑝1, 𝑞1, 𝑟1)) ��� �� ����
�

𝐿
∣∣
(𝑢(𝑐),𝑢(𝑑))

𝑞1
𝑟1

∣∣∣∣
(𝑐,𝑑)

= 𝜏(𝑝2, 𝑞2, 𝑟2)
∣∣
(𝑢(𝑐),𝑢(𝑑))

(
1

𝑣
∘ 𝑢−1

) ∣∣∣∣
(𝑢(𝑐),𝑢(𝑑))

��� 	����

1

𝑣(𝑢−1(𝑥))

𝑞(𝑢−1(𝑥))

𝑟(𝑢−1(𝑥))
=

1

𝑟2(𝑥)

[
−
(

𝑝2

(
1

𝑣
∘ 𝑢−1

)′)′
(𝑥) + 𝑞2(𝑥)

1

𝑣(𝑢−1(𝑥))

]
=

1

𝑟2(𝑥)

[(
𝑝2 ⋅ 𝑣′

𝑣2𝑢′ ∘ 𝑢−1

)′
(𝑥) + 𝑞2(𝑥)

1

𝑣(𝑢−1(𝑥))

] ����� �

��� ������ ��� 𝑥 ∈ (𝑢(𝑐), 𝑢(𝑑))� !
��� 𝑐, 𝑑 (𝑎1 < 𝑐 < 𝑑 < 𝑏1) ���� ���
������ ����� � ����

	���� ��� ������ ��� 𝑥 ∈ (𝑎2, 𝑏2)�

!
�
������ ��� 𝑦 = id(𝑎1,𝑏1) �� ����
� ���� �������

𝐿
∣∣
(𝑢(𝑐),𝑢(𝑑))

(
1

𝑟1

[− 𝑝′1 + 𝑞1 id(𝑎1,𝑏1)

]) ∣∣∣∣
(𝑐,𝑑)

=

𝜏(𝑝2, 𝑞2, 𝑟2)
∣∣
(𝑢(𝑐),𝑢(𝑑))

(
1

𝑣 ∘ 𝑢−1
⋅ 𝑢−1

) ∣∣∣∣
(𝑢(𝑐),𝑢(𝑑))

,

����
�� ��

1

𝑣(𝑢−1(𝑥))

1

𝑟1(𝑢−1(𝑥))

[− 𝑝′1(𝑢
−1(𝑥)) + 𝑞1(𝑢

−1(𝑥))𝑢−1(𝑥)
]
=

1

𝑟2(𝑥)

[(
𝑝2𝑢

−1 ⋅ 𝑣′

𝑣2𝑢′ ∘ 𝑢−1 − 𝑝2 ⋅ 1

𝑣𝑢′ ∘ 𝑢−1

)′
(𝑥) + 𝑞2(𝑥)

1

𝑣(𝑢−1(𝑥))
𝑢−1(𝑥)

]
��� ������ ��� 𝑥 ∈ (𝑎2, 𝑏2)�

"���� � �����	� ����
���
�� 
�
�� �����#� ��� ����� � �� ����
� ���� �	
�(
𝑝2 ⋅ 1

𝑣2𝑢′ ∘ 𝑢−1

)′
= (𝑝1 ∘ 𝑢−1)′ ���� 
� (𝑎1, 𝑏1)

��� 	����

𝑝2 ⋅ 1

𝑣2𝑢′ ∘ 𝑢−1 = 𝑝1 ∘ 𝑢−1 + 𝑐

��� ���� 𝑐 ∈ ℝ�

$�



���� �����	
��
� ��
	���� �� ��� ��� �� �	���	
 ����	����

�������� �	 
� �
	 ���	 �� ��� 𝑦 ≡ 1 ��
 𝑦 = id(𝑎1,𝑏1) ��� 𝑦 ���
 𝑦(𝑧) = 𝑧2 ��	�
���

������ ���	� � �	���
� ������������ �
�� 𝑐 = 0� ��	�

𝑝2 = (𝑣2𝑝1𝑢
′) ∘ 𝑢−1. �������

������� ������� ��
 ������� ���� ������� �
	� ��	�
�

𝑞2 =
[ 𝑣

𝑢′ (𝑞1𝑣 − (𝑝1𝑣
′)′)
]
∘ 𝑢−1,

��
 ���	�
	� ���
 ������� ��
 ������� �
�� �
��� (𝑝1, 𝑞1, 𝑟1) ∼𝒦 (𝑝2, 𝑞2, 𝑟2)� □

��





�������� �

��� ������	
�� ��
	�
���� ��
�	��
�

��� �������	
 ������
 �� ����	���� �����
���� ������� � �	� ������� ��

������� ��	�	� ��� 𝑓, 𝑔 ∈ 𝐴𝐶[𝑎, 𝑏] ��� 𝜆 ∈ ℂ� �	�� 𝜆𝑓, 𝑓, ∣𝑓 ∣, 𝑓+𝑔, 𝑓 ⋅𝑔 ∈ 𝐴𝐶[𝑎, 𝑏]�

���	��
���� �� 𝑔 ∕= 0 �� [𝑎, 𝑏]� �	�� 𝑓/𝑔 ∈ 𝐴𝐶[𝑎, 𝑏]�
��� 𝑓 ∈ 𝐴𝐶[𝑎, 𝑏] �� ����������� ��� ℎ ∈ 𝐿𝑖𝑝[𝑐, 𝑑] �� 𝑓 ∈ 𝐴𝐶[𝑎, 𝑏] �� ����������� ���


������� ��� ℎ ∈ 𝐴𝐶[𝑐, 𝑑] ���	 �	�� 𝑓([𝑎, 𝑏]) ⊆ [𝑐, 𝑑]� �	�� ℎ ∘ 𝑓 ∈ 𝐴𝐶[𝑎, 𝑏]�


����� �������� 𝜆𝑓 �	� 𝑓 ��� ���������� ��	��	����� ��� ��	����	 ∣𝑓 ∣ ���	
 �����
������ ��	��	���� ��	 �� ������ ���	 �� ���	
 ��� 𝜀�𝛿����	����	 �� �������� ��	��	����
�	� ��� ������� ����	
�� �	��������� �	 ��� ���� �� ����������� ��	����	� 𝑓, 𝑔 �	� ℎ� ���
��
��	�	
 ��������	� ��	 �� ���	�� ��
�� �	  !��"#$ %������
 ��&' �	� ������
 ��&()
��  *�
"+$ %,�

� -���&� ��������� -���� �	� ./������ -�(�-#)� 0������� ��� ��
���/�
������ ��	����	� 𝑓, 𝑔 �	� ℎ ��� ��������	� ������ ���
 ����� ��	�� � ��
���/�������
��	����	 �� ���������� ��	��	���� %,�������1 ��	��	����) �� �	� �	�� �� ��� ���� ���� �	�
��� �
�
�	��� ���� ��� ���������� ��	��	���� %,�������1 ��	��	����)� □

��� ����
�	 ����
� �� �
	��
 ��
�	��
�

2� ��	� �� ����3� ������� ��� ��	���� �� �� *��	
��� ������ �	� ����� ��
� 
��	
������� �� ��� �� �� 	��� ���
 �	 ������� & �	� 4�����	 ��&� 2� ����� �� �� *��	
��5
���6  �*7($ ��� � �������� ����������	�

2� ��� � ��	����	 𝑓 ����� �� �	������ �	 ��� ����� ��
���/ ��������	� �� �� ���	���
���� �	 ℂ+ ��

𝑓(𝑧) =
𝑝(𝑧)

𝑞(𝑧)
, 𝑧 ∈ ℂ+,

����� 𝑝 �	� 𝑞 ��� ���� ���	��� �	� �	������ �	 ��� ����� ��
���/ ��������	� �	� 𝑞 ��
	�� ���	������� 1����� �������� �� 𝜆 ∈ ℂ �	� 𝑓, 𝑔 ��� �� ���	��� ����� �� ��� 𝜆𝑓, 𝑓+𝑔, 𝑓 ⋅𝑔
�	� %�� 𝑓/𝑔 �� �	������ �	 ℂ+) 𝑓/𝑔�

�� 𝑓 �� � ��	����	 �� ���	��� ���� �	 ℂ+ �	� 𝑓 ���� 	�� ��	��� ���	�������� ��� ���	����

lim sup
𝑦→∞

ln ∣𝑓(i𝑦)∣
𝑦

∈ [−∞,∞]

������ �� �	
���� �� ���	
�
 �������
����	� �� 
 
�		��������� ���
���� ��	 ����	 ������ 
����
��� 
������ ���
����

7+



�������� ��

�� �������� �� 	� �
� ��	� �
�� �� 𝑓 � �� �	� �� �
��� �
	� �
�� ������ �� �	�� �� �����
	�� �
� ��	� �
�� �� 𝑓 ≡ 0 �� �
�� �	��� �� �� −∞�
� �� ��	���� �������� �� 	� ������ �������� 𝐸 �
��
 �	������ �
� �����	���


∣𝐸(𝑧)∣ > ∣𝐸(𝑧)∣, 𝑧 ∈ ℂ+.

��������
� 	 �� ��	���� �������� ���� ��� 
	�� 	�
 ����� �� ℂ+�  ���� ���
 	 ��������
𝐸� �
� 	�����	��� �� ��	���� ��	�� 𝐵 �� �
� ������ ��	�� �� 	�� ������ ��������� ℎ ���

�
	� ∫

ℝ

∣ℎ(𝑡)∣2
∣𝐸(𝑡)∣2 𝑑𝑡 < ∞

	�� ���
 �
	� ���
 ℎ/𝐸 	�� ℎ#/𝐸 	�� �� ������� �
�� �� ℂ+ 	�� �� ���!��������
��	� �
��� �
��� ℎ# �� �
� ������ �������� ����� �


ℎ#(𝑧) = ℎ(𝑧), 𝑧 ∈ ℂ.

�� ����� ������� �� ������ �� 𝐵 �


⟨ℎ, 𝑔⟩𝐵 =
1

𝜋

∫
ℝ

ℎ(𝑡)𝑔(𝑡)

∣𝐸(𝑡)∣2 𝑑𝑡, ℎ, 𝑔 ∈ 𝐵,

	�� �������� ���
 �
�� ����� ������� �
� �� ��	���� ��	�� 𝐵 �	� �� ������ �� �� 	
"������ ��	�� #��� $��%&'� (
����� )*� ��� ���� �
	� �
� ��	�� �	���� 𝜋−1 �� �������
�
���+�

,�� �	�
 𝜁 ∈ ℂ ����� ��	��	���� �� 𝜁 �� 	 ���������� ����	� ��������	� �� 𝐵� 
���� 𝐵 ��
	 ����������� ������ "������ ��	�� 	�� ����� ��	��	���� �� 𝜁 �	� �� ������� 	�

ℎ(𝜁) = ⟨ℎ,𝐾(𝜁, ⋅ )⟩𝐵 , ℎ ∈ 𝐵.

(
� ����������� ������ 𝐾 �� ����� �
� ����	�� $��%&' #(
����� *-+�

𝐾(𝜁, 𝑧) =
𝐸(𝑧)𝐸#(𝜁) − 𝐸(𝜁)𝐸#(𝑧)

2i(𝜁 − 𝑧)
, 𝜁, 𝑧 ∈ ℂ. #��)�*+

.��� �
	� �
���
 �
��� �� 	 ��������� �� �� ��	���� ��������� ������ ���� �� �
� �	��
�� ��	���� ��	�� #��������� �
� ����� �������+� ���� 𝜆𝐸 ��� ∣𝜆∣ = 1� �
� �����������
������ 𝐾 �� �� ������ ����������� �� �
� 	���	� �� ��	���� ���������

�� /������ 0�) �� ���� �
� ��������� �����	�� �������� �
������

������� ��	�
 #$��%&'� (
����� 01+� ��� 𝐸1, 𝐸2 �� ��� �� �	
���
 ��������
 
��
𝐵1, 𝐵2 �� ��� 


���
��� �� �	
���
 
�
��
� �����
� 𝐵1� 𝐵2 
	� �
����	��
��� ��������

�� 𝐿2(ℝ, 𝜇) ��	 
��� ��	�� ��

�	� 𝜇 �� ℝ� �� 𝐸1/𝐸2 �
 �� ������� ���� �� ℂ+ 
��

�

 �� 	�
� ��	�
 �	 
�����
	����
� ���� 𝐵1 ����
��
 𝐵2 �	 𝐵2 ����
��
 𝐵1 ����������

��� ����	 �	�������

,���
������� �� ���� �
� ��������� �������� ��	�������

%&



���� �����	
 ��
��� �� ��
�	� ����
����

����� ������ ��� 𝐸1, 𝐸2 �� ��� �� �	
���
 ��������
 
�� 𝐵1, 𝐵2 �� ��� 


���
���
�� �	
���
 
�
��
� �� 𝐵1 ∩𝐵2 ∕= {0} ������ �
 
�	��� ��� �

� �� 𝐵1 ����
��
 𝐵2 �	 𝐵2

����
��
 𝐵1 
���� 
�� �� �	
���
 
�
�� ����
��
 �����	� �������
� ����
	� ������� ��
 !"� ���� 𝐸1/𝐸2 �
 �� ������� ���� �� ℂ+�

�	

�� ��� ���� ℎ ∈ 𝐵1 ∩ 𝐵2 ∖ {0} ��� 	
������
 ℎ/𝐸2 ��� ℎ/𝐸1 ��� �	 ��
����

���� �� ��������� ��� ����� 
� �
 ����� �
������� ����� ��
��
 𝐸1/𝐸2 ���� �
 ������

�������� �� ℂ+ 
���� 𝐸2 ���
 ��� ���� ��� ����
 ������� □

��
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